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1. IfA:B=2:3andB:C=3:7,thenA
+B:B+C:C+ Ais.
afA:B=2:38RB:C=3:7WA+B
:B+C:C+AFNEM?

SSC CGL Mains 2015

3. If50% ofx=30% of ythenx:yis:
afg x H150% =y &1 30% &, W x:y =0
qm?

S8C CGL Mains 2014

B):(B+C)SFaURg?
SSC CGL Mains 2014

(A)9: 10 (B)6: 15
€})s5:8 (D) 15: 16
Solukion = ,.
AB=% 5
B
gic-% %
A'3:C
3:2
3:5
G:6'1o

(b:8):(@+c) >15:16

(A)5:3 B)3:5
(A)4109 (B]5109 [0)23 [D]32
(C})s5:8:9 DPy4:8:9 ’uﬁ

. on>>
Selabns .o 203 2
0% =Y BT Fo/
Bc=a:F HFN Bo'lo =
AIBIC = QB! F 2 St
Now N 56
A+ R : B+c : CHA __._.3\§ = _%_.
243 . at¥ : Ft2
5 10 9
11 11 4. If the income of A is 10% more than of

2. IfA:B=5:3,B:C=g:3,then(A B and the income of B is 20% less than

+B): (B + C) is equal to : that of C, then the incomes of A, B, C
' are in the ratio.
aAIB=3:2,B:C-t:>tm(A+| AcAT oTaB I 10% o ¥ ol B = o

CH20% wR &M A, B ,C & T H 500
1 I ? _
(A)11:10:8

(B)10:9:7
(C)22:18:25  (D)22:20:25
Soltdt'\on':?

A ° 1]
A o /.,F——Io
TN .

A'B: C
a(n 10)

(4 B5)5
22 Qo 1 25
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HAis3/4 partof B, Bis 1/2 part of C
and C is 4/5part of D then find value
of A: B:C:D?

A A, BF 3/49MH, B, CH 1/2 W
TN C, D% 4/5S aFTF s e, WA: B: C:
D fress steK g ?

A)y3:5:7:10 B)2:3:7:9
C)3:4:8:10 D)3:5:6:9
Solukjons
Bs_.l_,c "4'-"--5-—
A-2 2575
A:R!C:D
34
| 2
4 5
12 016 3% Yo
2:'4y:8:1lo

Ratio and Proportion

7. Asum of3 817 is divided amongst A, B
and C so that A gets 25% more than B
and B gets 25% less than C. find the
share of each.
T8I7HA, B, CAguTsR e ¥ R ASI B
| 25% wAftss W g € a1 B @ C W 25% $W
I B4 § | T9 WH B AT 16 HIfa—
(A) A-285, B-228, C-304
(B) A-228, B-304, C-285
(C) A-304, B-285, C-285

(D) None of these/ $78 | &¥ wel
Sl Qil?ﬂ?‘
C

A: 8 —%’:252“_‘15:
4y Tt
Is 12 16
A > 285 Noww 425 8(F
B > 228 =13
C—> 3v4

If2A=3B=4C,thenA:B:C=7?
GWE2A=3B=4C,T0A :B:C FTGR T -
(A)2:4:3

8. Divide 37,800 amongst A, B, C and D
so that A and B receives three times of
the part of C and D both and B gets 4

B}6:4:3 times the share of C and C gets
(C)5:2:10 1% times of D's part, then the share of
(D) None of these Als.
Sojubion > 317,800 1 A, B,C, D ® 39 WK ATed ff ATHIB
= fhemet C 7= D & @ s fan i BT ©
2A=38=4C IS AR M cHM D AT A A AT
o1 fmar B—
A: B:C (A) 1170 (B} 780
(C) 800 (D} 1200
3x4 . 2XY: X3 Seludyons
6+ 4:3 At _ 3=Is  AIBICI D
c+D 1->5 3:2:%: 2
8 _ y—-iz
T 13 00
> 8% x
£ o14=3 A 25"
D A = liFo F
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The sum of three numbers is 252. If
the first namber is thrice the second
and third number is two third of the
first, then the second number is ;

Tt wemed @ A 252 ¥ )1 5fs usell de, gEdh
we ¥ far ? ot dadt g, weeft 9em =5
q-foemi & @ got dew Fm Enh 2

Ratio and Proportion

11. ¥ 10,500 is divided among A, B and C
such that share of A is 2/5 part of B and
C together and share of B is 1/2 part of

A and C together then find the share of
each?

T 10,500 =T A, B 920 C & 59 wohR afer a1 & 3%
AT BiRCH et w1 2/5 ym ¥ e B =1
AR CF R T 1/2 widid w&@F 5

(3) 41 ®) 21 P et
(€42 (D} 84 (A) T 3000,% 3500, 4000
Seluban=> (B) T 2000,% 3000,24000
(C) T 3000, 4000,T 5000
A3 ,LC -2 (D) % 3500,24000,3 3000
B N R 3 olufion
- jo,500
A B ' C
B .23 -6 ,
2 :1 2 8tc 573 18 AIB:C
B _ix*-= €.%:8
B= R5Z x[=42 At 23 QU= 10,506
A > 3000 20
B > BS06 1= 5
C —> 4000
10. The sum of three numbers is 2, the | 12. T 7500 is divided among A, B and C such
l1st number is 1/2 times the 2nd num- that share of A is 3/7 part of B and C
ber andthe 3rd number is 1/4 tiﬂ?es together and share of B is 2/3 part of A
the 2nd 'number. The 2nd number is and C together. Then find the share of
i wemst w1 H 2 ¥ | e e gt gem st each?
1/2 7on @ iR died e @Rl wem W 1/4 X 7500 =i A, B qo1 C # 50 TR wier @ ¥ T A
T[on % | ST gL e w4 B e B IR CHF R w1 3/7 wm¥aen B =1
SSC CGL Mains 2016 forar A R C F e w1 2/3 9m &, o v =
(A) 7/6 (B) 8/7 ferem T Ffe |
(C}9/8 (D) 10/9 (4) T 2000, T 3000, T 2500
Sol utions (B) T 3000, ¥ 2500, T 2250
= (C) T 2250, ¥ 3000, T 2250
ArR+C=2 1.2 (D) ¥ 2250, T 3500, ¥ 1750
A - 2 a1 Qojukion & o
a2 4 22D=2==I=F  F F5H00
ArB:C .1 A .3 lo-> Fso0
B -2z -4
A+C 3 2 & A-—> 2250
™ No- > -%¥+=-§=,: AL B:C 393““
3:4:3 ~> AAbe
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Mother's Arithmetic +

13. A certain money is divided among P, Q
and R in the ratio 2 : 7 : 9. The total
share of P and Q is equal to that of R.
Find the difference betweenn P’'s and Q’s
share? ’

I URIN2 : 7 : 9 F U H P, Q iR R A 55
AR I P SR Q & w19 R ¥ 9 ¥ e Y |

P AR Q & il w1 ofax o & 2
(A} T 5,000 (B} T 7, 500
(C) T 9,000

(D) Data insufficeint/ 37iH3 amaia

Solukions

PIQ.R

2:F9
P+Qq=R
pP-Q="7

con't be detoumme

Ratio and Proportion

15. The monthly salary of A, B and C is in
the ratio of 2 : 3 : 5. If C’ salary is T
12000 more than that of A, find annual
salary of B?
A BINICFMEF I 2 : 3 : 5F e qua & ¥4
afg C =1 AFF 907 A & wifaes aaq 9 3 12,000
A &), W B &1 anfier e 8 -
(a) T 1,20,000 (B} T 1,44,000
(C) ¥ 1,80,000 (D) T 2,40,000

Soludions>
A'GIC
2:3:'5
—
S

C-R-> |2000 ¢

3 —>1A000X 12
= |HYy,000

14, T3400 is divided among A, B, C and D in
such a way that the ratio of A’s and B’s
share, B's and C’s share and C’s and D’s
share are 2 : 3, 4 : 3 and 2 : 3 respec-
tively. Pind the total share of B and D?
3400 =i A, B, C, D # 7w woR fawifam fe=n
el & o A IR B & o, B 3R C ¥ urif, C e D

Fumi FwTen 2: 3,4 : 3992 1 3 F IIE E,

B ARD F ari FwET R
(A) T2040 {B) 1680
(C) 22000 (D) ¥1720

Selutjon s T 3 Yoo

ArB!ICHD

233 = Nowd

443 3 pra=Mxs
THECHEES: =2040

16. The sum of 1/5 of the number and 25%
of another number is equal to 40% of the
first number. What is the ratic of the
first number and the second number ?

TS W F 1/5 9 SR TR SE F 25% & Em
wEE WA % 40% F 90 F | gl e @ uEe
AT § AT 1B ?
(A) 4 : 3
(C)4:5

Solution -
A 2)

(B)5:2
D)6:5
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Mother's Arithmetic +

17. The sum of two number is equal to 20
and their difference is -25. The ratio of
the two numbers is:

T el 1 AM 20 ¥ SR ST oTRR -25 ®1
HeETeHi o ST9TE FId S 2
(A) 1:-9
(C)3:5

Soludion s

HAY =20

H=Y = 25

2= -5

_512

S -5-Y=-25
y=2as-5,=493

5\ = ‘—§= H?\é = ~1:9 =1

(B) -7: 9
D}2:7

Ratio and Proportion
19, Rs 11,550 has to be divided between X,

4
Y & Z such that X gets T of what Y gets

2
and Y gets gof what Z gets. How much

more does Z get over X (in Rs)?
T1L,550 %X, YRZAsmmE o fE XY

mr%aftﬂ'aﬁz-em %WﬁﬁlZﬁﬁXﬁ?ﬁ*ﬂ
AR v (%, /) fadm ?

(A) 7200 (B} 1800

(C) 1320 (D) 2450
Soludins g1y,550

= N -2
§-5°273

%y P E nsse

y 5 5 @z 3z T

2 A 3 = 24bo

B o 15

18. If6A=4B =9C; WhatisA:B: C? 20. According to the will, the wealth of Rs
AE6A=-4B=9C; MA:B: CHIg? 11,50,000 was to be divided between the son
A)6:4:9 2 5
B)9:4:6 and the daughter in the ratio E:Z.Howmuch
(C)4:9:6 share did the son get (in Rs lakhs)?

(D) 6‘: 9:4 T & TR 11,50,000 5. 5 Gart w1 Sear O
6D|Lkhm? SR oot ¥ o -g-:% F orgar B 2 | T i T
QH=4—B=SC’ foemr frrm ? (e 5. H)
(A)5 (B) &
Q7 (D) 4
' [ .
AL BT _Solukions-
a¢ @ B4 A% S 3
\ 2 5
A ' S . L1 2 4
& 15
23> 11,50,000
| —5 Sboeovo
8 —> 4,00,000
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Mother's Arithmetic +

21. A sum of 3 17,500 is divided among A, B,

CanstuchthatéE% 3 then the

C

4
share of each is

17,500 A : B C: D ¥ g9 yar fawe faan

Ratio and Proportion

23. The ratio of milk and water in a pot is
2: 5 If 14 [ water is added, then the
ratio become 1 : 3. Find the initial
quantity of miik.
T i H gy SR Ul 1 sIgum 2 : 5 ¥ 187 14

W%%‘;gg Z-a??rABCDg?aeaan e 9t SR sTe oo W s1gura 12 3§ T, /@
STT-3TE 97T 0 Hifa— WREH B g4 St | fEhat ot ?
(A} A-2700; B-3600; C-4800; D-6400 (A} 14 litre (B) 20 litre
(B) A-3600; B-4800; C-6400; D-2700 ) .
(C) A-3600; B-4800; C-2700; D-6400 (C) 28 litre (D) 24 litre
(D) None of these/ 378 & =i¢ &l Soluhion >
Soluxion®  F jFHoo Mo A
A . B =3 2:5
B ¢ D% g #Boe | HU Lt WSTT
’ VGt o0 '3
R B:C :Er and <o Mtk =A%
34 % 7 A= 2Fo0 2% .1 .
3 34 M B—> 3660 5t 3 au=28 Lt
2 33 c-> 4Boo =53+
23.36 4864 D &Yoo =1y
22, If (2x-y)*+(3y-z)?°=0, thenx :y:zis 24. The ratio of milk and water in a pot is
A& 2x- Y+ (By—2*=0Wx: y: z¥— 1: 3. If we added 18! milk and 18! wa-
(A}1:2:6 B)2:1:3 ter then the ratio becomes 2 : 3. How
(€)2:3:1 (Dy1:2:3 much quantity of total mixture was
P present initially?
Solution> e = B gy ol w1 Sgaa 1 3 ¥ TR 18
2 2 wiet gy 31T 18 weX T s fea @t ot g
- -~ =0
LQ\'Z( 3) +L2’3 Z) 2 : 3 B T, W URE A o fagr e e ?
(A} 6 litre (B) 24 litre
2A-Y=0 (C) 25 litre (D) 15 litre
AN=Y Sofutions>
33_1=_D Q) M WA k) MW
y== ge.t + B L 3)x|
' AEZ © 3 o 2
Y Lz B (2 3)x2
| 2 e =& '
Ity 3
I3 = G L ' 6)3_7'8
% 6 e
Yx=2Y Yy—>24

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic +

25. The ratio of milk and water in a pot is
2 : 3. If & l water is subtract, then the
ratio become 5 : 7. Find the initial
quantity of milk.

TETHA AU SR I F S ua 2 : 381809 6
e ol e fear A egua 5 : 7 ST, A

Ratio and Proportion

26. The ratio of milk and water in a pot is
3 : 5. If we subtract 271 milk and 271
water then the ratio becomes 12 : 23.
How much quantity of total mixture was
present initially?

T WO H gy R I R ST 3 2 5 ¥ 1 §E 27

URET H g4 T 9E0 TRt oft ? T ¥ 33N 27 WX U fesret famn | a19 o
(A) 14 litre (B) 20 litre 12 : 23 B T4, F 9XFA H T Thgon fapemy e ?
(C) 60 litre (D} 24 litre (A) 206 litre (B) 210 litre
R (C) 256 litre (D) 264 litre
Salukion & cdutions
0 M. W v M W
2 5 3 5
-6 L IAaderC -axbt. @ -aFut
5 Py 23
M X 5 M_ . 3%X-2% _ 12
W 3x-¢ F N Sa-aF 23
= o~
YR = 16 K-30 £ 9x - 621 = 66X - 324
H=30 _
ax= €O L gu= 2973
. Y= 33
YA I be same .
Witk W So gx= 8x33-2¢4 Likn
before 2 after So
W
MW Wm ™MW
:I__ > ID IL‘ —R:l- _Q\q'
5 ' 1o, ¢ 23
1—%.;- 6 Lt -Fo'r ch_qe_ d‘l‘ﬂp. Same
lo —> 6o Lit B:sxi #(R123)X2
33:55 g%
3 (9\4 t 6 | >3
88— 264 Lk
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic +

27. The ratic of milk and wateris 6 : 5 in a
vessel. If 220 liter of mixture is replaced
by 12 liter of water then ratio of mix-
ture become 3 : 4, then find the quan-
tity of mixture initially?
T w9 H gy iR U w1 et 6 - S B I ARTEE A
220 ©itex fhgo Ferm w2 9SS 12 SR 9
e T = d firsor =61 o799 3 : 4 §) 9 ], @

IRE 3 T =t A 9| <61 |

(A) 264 L/ (B) 290 L/==
(C) 260 L/ (D) 296 L/<ftex
Soludkion =

M:IN —6"'5E X
_g20 Ut Mux-Huote]

+ 12 ut. Wadert
MUN—> 3 4

("

Nowo

M 6x-l20 3B

W Bx-loo+2. 4
EX-1ae o
Ex-88 4

JX= 2] = K=2Y
. —> Yxil =2y
Lek
- | = :‘ W
+H2

2(8+ 4)
£ '8

Z—7 2
| - Y

N — gy

A0

M WK

¢' 5

-

Ratio and Proportion
28, The ratio of milk and water in a vessel
is 3 : 1. 27 liter of mixture is replaced
by & liter of water and ratio become 3 :
5, then find quantity of mixture ini-
tially?
U wEE W g9 9 W o fagw ®, Tawse orgma 3 -
T TER 27 witex fhgor Feemert 8 <ie 9 foem
T 2R ST 3 : 5 g W € o aRfie fager &t
EH 96 |
(A) 35 liter/ ==
(C} 65 liter/ =ftex

Sduhon >

(B) 60 liter/ ==
(D) 70 liter/ whex

264 Lk

Q) M — 3| .
- Lty MIXHOXE

48 Lty INakest
M'W— 3.5
ax- AFxs
- %,3:;(11-8

3
=)

AW -0 AS
w+ 1S
1A% = |5

w= 8§ F5 ,

Ve

_—

32
5

0,

)
e [
+8 )y =8 Lit-
a8:5”7 |—r ut.
y — 8Lt
A7 e
3s uh. |

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic

29, The ratio of milk and water in a vessel
is 5 : 3. How much part of a mixture is
replaced by 1/10 of its part by water

so that the ratio of new mixiure be-
come 1: 17

e oI § g4 9 I T SIS : 3 B 1 39 famw
a1 w1 FeRTerRE ST 1710 W 9 e fam s

TR =g fasror =p1 SUR 1 : 1 T =)

(a) =

® 5 (©

Soludions

U

7

MH—5'3
- %Lt f"lllX'l'lUte-
4—]‘% Ut Wakest

+ Ratio and Proportion
30. The ratio of milk and water in a vessel
is 5 : 3. How much part of a mixture is
replaced by 14%% part of water so that
the ratio of new mixture beocme 3 : 52!
e A gy SR I = ST 5 ¢ 3 81T g g
%1 fra v frpeea S9St 7e 14%% W 9L
et fezy = aife =2 s 1 o199 3 : 5 81 9|

A B O O
Splubion >
MW
5:3__
+ KX“LZ-F'/, W atext
35

M W M
5! 3 5'3
3' 5
'IN
3)‘(5!3):|S-'3 )'61,’0(_]_
5x(3:8)= 1529 +

w =112
Total= 1A+ 1519 = 136

aemove = N2 _ 1Y
X4 4

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic + Ratio and Proportion

31. A jar contained a mixture of two lig-
uids A and B in the ratio 4 : 1. When
10 litres of the mixture was taken out
and 10 litres of liquid B was poured
into the jar, this ratio became 2 : 3.
The quantity of liquid A contained in
the jar intially was :
THFIRAATTASIRB F: 4: 1 F AT H
T 1o/ fagm H | 10 X 54 Tt 10 <t
T9 B ¥ W 99 9% SO 2 ¢ 3 B S ¥
s g H fygo o ga A wY fee o of 2

(A) 4 litres (B) 8 litres
(C) 16 litres (D) 40 litres
ne I
SRR P
o
S>>0
23 J1 2,
Yy:6" 5—=>10
A+B—> Qo
Aa—>1b

33. The ratio of milk and water is 7 : 3.
How much amount of the mixture
should be replaced with water so that
the amount of milk and water becomes
equal in the vessel?

T oA H g T Ut T st 7 3 ) faaw
fererT T Tt Saam € O faemen I arfes s=is
T gy U1 I T qeR 6 S 2

2
(a) 3 (B)

(D)

~| '~J|N

© 3

Soludiens

32. A can contains a mixture of two liquids
A and B in the ratio 7 : 5. When 9 litres
of mixture is taken out and same
amount of the Can is filled with B, the
ratio of A and B , becomes 7 : 9. How
many litres of liquid A was contained
by the Can intially ?
THAAH Y TAA TN B HAN: 7 : 5 % IO o
fafya %1 o= fasor ¥ 9 9 wfiex AT Frepes
Fat @ AEn A & B fhan fean s €, Mg A
TAMB R ATIM7 : QB A T WA H I H
TS A i TR0 fopat oft ?
(A} 10 litres/ =X
(C) 21 litres/ wi==

Solation 2

9
RT B

+ S

(B) 20 litres/ #ixR
(D) 25 litres/ #i=

A+8—=>34
A-=>2) Lk

(2> X12=2F

M N

13 —> MY
~<~— YW add

bl
-
S e
3-Xx34x |
F - - 2-BA 4K
jo le

_a% 419X

y=Fx_ =

1o 1o

= Ay

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic +

34. In the mixture of salt and water, salt is
5%. If 20 liter of water get evaporated
then salt become 15% then find initial
quantity of mixture?

F9% 5 WA % THE § 5% 0w § 1 9 20 wited uHt
i B ST 8, THE 15% 1 oIl § O SRS

Trgrot =1 AT ST
() 40 L/ (B) 30 L/
(C) 65 L/ (D) 70 L/
soluhoﬂ >
) Mixfuee
Watere +8aldk W. s.
5y -2oLi4 1S
Nowd
A g W.: 8.
945%.: 5% &8Y.: 157
19 l 13 - 3
satk will st
2elt<~ Yo (5? 3 6o
6o —> Zo Lt

WS

S S
XX-S_. = Q“R‘DE 3
Teo Aol

W= 3 —~Lo
= 30 LH'“

Ratio and Proportion

35. In a 12 litre mixture of acid and water,
acid is 30%, Then how much water is
taken out so that acid become 40% ?
aTFe 9 R % 12 witeR fieon F o7 30% 19 e
T 3o Frenre fomn Se =1 o7 40% BT ST

(4) 3 L/ (B) 5 L/di=
(C) 7 L/e= (D) 9 L/
S0l ekjon s
Q) A I A N
36% =W 4%
A i A W
ac, Fofe Yo¥o Lo
A W
8 F+ —>¢ M

2 vz —>6 3

AtA-> s HY = |14

| — 12
20

—_ 12 = gLit.
5 2 x5 sLit

Actd—(engt-.
Ye,

oo

M A W

Hax3e

oo
12-%=3
n=23 L'|‘|'b".

= {12-%)X

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jhotwarg ¢ Mansarovar «

Jaipur » Gopalpura » Lalkothi »

Ambabari + Jodhpur * Bikaner * Udagipur




Mother's Arithmetic +

36. The fresh watermelon has 90% water.
After some time only 12% water is left.
Now its weight become 50 Kg., then
find its weight initially?

TS TS H 90% TF! § 1 T 98T 1 389 12% AT
T W 31 IS 316 39! a9 50 R g, @ g9
FIRTETF 91 91d FL |

Ratio and Proportion

37. 20 Kg. of fresh watermelon has 36%
water after some time water become
95% then find, new weight of water-
melon?

20 e, a1 o= # 36% o ], B v = T
95% B T | i &Tel TREST Sl ST AAISH |
(A) 256 kg/f&m. (B) 150 kg/fem.

(A} 125 kg/Tem. (B) 250 kg/fFm. (C) 170 kg/%sm. (D) 200 kg /fem.
(C) ?75 kg /T, (D) 440 kg/fwm. \Sblt&‘lon?
Solukion > . :
. FPrah frudk Dy Toulk
preahfiuchk P W p W P N|
070 & o
. 9e7 oyt a¢r. 5% 9
vy fudk P W | 1.9
14 N
A%
y pulp tonsheot-
5o kg g s
P W P W 16 : 304 —=320
|0, o'l 88k 1R
I3 R 3 QE —> Qo
} =42
P N Puip-Cnst 25
1 9 23 |48 320 —> 2° v a2,
22 9 2Kn B AS
2s > seky = 256 kg
(aa+198) = 20 XR—> oKy W P W
\ X 6 l'f = :x'X_E._
w r MW A XFE' oo
P P
W= 256
o Sox38_ AS Ka
jo? | ob
x= 440 kg
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic + Ratio and Proportion

38. In 50 gm alloy of gold and silver, the
gold is 80% by weight. How much gold
should be mixed to this alloy so that
the weight of gold would become 95%?
T iR =7t % 50 7T g H 80% W ¥ 1 39 fhsgeng
H dr =t faret wen o framn SR @ifE = 9s% 2
R ?

39. Two equal containers are filled with =
mixture of water and alcohol. One o
them contains three times as much al-
cohol as in the other. The mixtures ir
the two containers are then mixed anc
it is found that the ratio of water tc
alcohol is 3 : 2. Find the ratio of wate
to alcohol in each of the original con-

(A) 200 gm/7mH (B) 150 gm/7m _
(C) 50 gm/T™ (D) 10 gm /7™ tainers.
X 2 M T 9 oIk Towiee % g @ M R
\So]u;ljob’] > ST § T T R U ger 3 T e T
SR T B B TEl § el @ firemew T
(2 5o 9m Targror SR T T O oI Teehiee W STOR
/\ 3: 2 B0 w9 e A uredt ol uewRe %
RIS
O S © S A)2:1,3:4 B)1:3,1:2
8070 9\0*‘/“% 4-'. i C)2:3,4:1 Dj1:3,2:1
4 s Solukion
o, 5% 5 19 I I ‘ I
957 p'd L 9w L
W A W
55— So9m
®-3Yy 34 w0-Y 3
| = o §M
K-3Y+ %Y
So H - 2
|50 9. =
|S~—> A 9+ 2
U w s RX-YY B o 2u-4y =y
Box2e - Ax5_ 13 R
NEE) loe X .5
A 5o
‘}L: 0o r
-5o A A W * A
|so ™. ®-3y 3y Yy
2 : 3 ¢ ¢
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic +

40. Wine is 5 litres more than water, in a
55 litre mixture of water and wine. 5
litre water more is added to this mix-
ture. What is the ratio of water and
wine in the mixture now?

T SR Wel % 55 T fagor ¥ e wt 3T9e I 5
T atforr € 1398 5 o 5 Toreman s €1 fagor &

e 3T IR Y ST ST FAE 2

{A)1:5 B)1:2
) 2:1 D} 1:1
Splukions
55+ -5=50
{50
N nine
25 25
5
5 BHo
5
S 30 30

1 4

Ratio and Proportion

41. The ratio between two numbers is 3 :
4. If 6 is added in each, the new num-
bers are in the ratio 4:5. find the given
numbers.

< el ¥ o 3 : 4 @ ¥ Ul v e H
6 s & S T 319N 4 @ 5 B ST ) e e
Hifse—

(A) 24, 30
(C) 30, 40
(D) None of these/ T98 | =¥ &t

Solation s

(B) 25, 30

A EB 3u4e Ly
3 M Gttt 5
:S _— 1S%+30 = |6 X+HRY
=6
ox—> 8
YR —-2Y

42. The ratio of the number of students of
three class is 2 : 3 : 5. If 20 students
are added in each class then the ratio
becomes 4 : 5 : 7. Find the number of
student in each class before adding.
T Haretl ® B H1 I 2 3 - 5 ¥, I o
FHH 20 BTG RA TN SI@S:5: 7 |
SIRTT &, T H gget T o 94—

(A) 200 (B) 80
(C) 100 (D} 150
Lol eclion 3
A 8 G _3uze S
2. 3!5 c~  B5xo
$20 120 120 AnH{p=aSEee
=4Jo
w=10
lox =[o°
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic +

43. The ratio of the number of students of
three class is 2 : 3 ;: 4. If 12 students
are increased in each class then the
ratio of becomes 8 : 11 : 14. Find the
total students of all the three sections
before adding 12 students in each
class.

dH el A foemREi st dem 2 : 3:4F
79 H ¥ afE v wen H 12 famneff wg -, &
I 3T & : 11 : 14 H gafia &1 5 & | e
o i el W ot o faenfEal = den
oft—

(A) 162
(C) 200

Selution s

Q)

(B) 172
(D) 81

B C

3:94

+Ha  HA

vy

9xH2 _ 8

yxHa M

28%+168 = 32%+36
U =+
g1=18X3 =1¢Q

A

S
+12

8

O

Lt A, B

27 83 Y

He, +l=z HL
8 'y
3

Same

212
6 9 12 - 4

g Y RF =162

Ratio and Proportion

44, In a college union, there are 48 stu-
dents. The ratio of the number of boys
to the number of girls is 5:3. The num-
ber of girls to be added in the union,
so that the number of boys to girls in
6:5 is
T Hierst g 3§ Taenfeal =t s a8 ¥, Aghi
iR wigfr df &t W& &1 SUh 5 : 3 B3N
gJfem # fraet orefr A9 =t dem sie - &
e S Tefral =1 o U 6 ¢ 5 71 W

SSC CGL Mains 2016
(B)7
(D) 17

(A) 6
(C) 12

edion >
Tofal students = 44
RNy
5:3

6 5
New wakio

B"JS axe. SAmME]

B U

30 13’)_4_
30 ! RS

Q{) ygs—>5:3
30! |8

R1a) = 6
184, 5

¢ — R0
= —= A5

jg+X = 25
*="
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Mother's Arithmetic + Ratio and Proportion

45. Among 132 examines of a certain | 46.
school, the ratio of successful and un-
successful students is 9 : 2. Had 4 more
students passed, then the ratio of suc-
cessful to unsuccessful students will
be :
el T & 132 Wi # @ w5 2w
TR BET B STAERA BEI A TG 9 ¢ 2 ¥
g 4 3R B I B T T THEA BE Y =4

In a regiment the ratio between the
number of officers to soldiers was 3 :
31 before battle. In a battle 6 officers
and 22 soldiers were Kkilled and the ra-
tio become 1 : 13, the number of offic-
ers in the regiment before battle was

et Wommez § 935 & 78S STEERI 1 SEHl o
3TUM 3 : 31 A1 gS H 6 TR 31 22 SaH AR
T iR T% SR 1 : 13 T TS W e e

ST €T 2 H AL H TR & T F o ?
(A) 14 : 3 (B) 14:5 (A) 31 (B) 38
(C)28:3 (D) 28 : 5 (€) 21 (D) 18
Solukions- Sol ubion >
Teral. =132 OFFI ! Seldiesd
V¥ 3 3
P £ -6 - A%
108 A4 )
+
| SL-6 4
IR b 3 K- 22 13
a8 5
39 -F8 = 3I-22.
8% = 5¢€

A=F

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
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Mother's Arithmetic

47. What number should be subtracted
from both the terms of the ratio 11 :
13 soastomakeitas2:3?

11 : 15 S99 ! ERd § Ry W' Sl uer
S i 374 2 : 3 B S 2

(A) 2 (B) 3
{C) 4 (D) 5
&[g!ﬁ'o@%
oS
-y~
2 ¢+ 3
i) "_x -._-.-2'-- K="
O -5 #%2
WY e 1S = 11 IS
W )3
|
'3 F 8 (R
L

+ Ratio and Proportion

48. What must be added to each term of]|
the ratio 2 : S so that it may equal to 5
167
2 : 5% UM F W T& T Fm Frer A
qitom™ 5 : 6 & TR 31 G|

(A) 12 (B) 13
(C) 65 (D) 78
Splukions>
25
. X
5! 6
DX -5 = w=13
S e
W @:s)xl , 2 Sy4g
(5:9x3  15:1®

49, The ratio of weight of Mr. Gupta and

Mrs. Gupta is 7 : 8 and their total
weight is 120 kg. After taking the diet-
ing course, The weight of Mr Gupta is
reduced by & kg and now the new ra-
tio of their weight became 5 : 6. By what
amount Mrs. Gupta’s weight got re-
duced?

ot T R AR T aS 7 : 8 F AT A §
iR 7 ot awr 120 T ¥ smfen i
¥ =re o T 0 S 6 fFuL W E wma § ofR
I 9 1 S S5 ;6 B T S e s
o W= 7

A) 2 kg B)4kg (C)3keg (D)Ske

sSoludioN 2 Todal Weyghd-Fo
Fo>F:18 % 5¢: &Y

| —G _K

| 50 64-X
S L .S
Co-} G

%4

50, In a club, the ratio of the number of
males and females is 5 : 6. If 22 ladies
leave the club then ratio interchanges.
Find the number of males.

Ush oie ¥ GEUI ST Wigensdl w6t §& w1 IR 5
: 6 ¥ Tfg 22 ofgeid o a T IS T A T
3w E T T | o W Yo Y 6 8 —

(A) 40 (B) 50
(C) 55 (D) 60
Solution$
M. F
5 6
-2
6: 5
5x _ &
' =
e TR
W= 60 Male.
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Mother's Arithmetic +

S1. The ratio of two numbers 13:25. If 15
is added in both numbers, the ratio be-

comes%:Z% , find the larger number.

L 1,2 .
WSS o S 1522 AR T G AE
= 15 Fgt Tean s @ g SIm 1§:2% g,
ST & | 37 T W dem i —

Ratio and Proportion

52. In a group of boys and girls, 15 girls
left the group, the ratio of boys and
girls become 2 : 1. If after, 45 boys left
the group, the ratio become 1 : 5. Ini-
tially, how many girls were there in the
group?

TS SR wSfeRal & UF 9 H 9 15 et &
T BIEH I T P S TSI H T H

(A) 27 (B) 36 weferdl 1 T & SFUE 2 : 1 o S B, wig o
(C) 48 (D) 64 T 45 T i T SISHL 9 9K |, A A- ST
S0 Ukll'm? %%ﬂ%ﬁfﬁgﬁw%l@ﬁmﬁaﬁ
Radie of +io Numbex s fﬁl) 20 ™ 20
1 .02 seludion 2
Iz 2% )
. B =% >p-20-30
g g o= 6'6 01_'5- [ -,...@
New ko > B-45 _ 1
= b
-5
ZL% ! ’A-& G
5 .5 » k'3 at-30-45
2. -
> 7 Taas S
A+ B lobi- 335 = OIS
g It = Ik _
H5  F IS )s It = 3to
Q! 3 ;‘:>lt{‘ 21 O = 40
o
1
B — 1S
| —> 3
large Nam bet > 1€X3
- 48
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Mother's Arithmetic +

53. In a library the ratio of story books and

other books in 7 : 2 and there are 1512
story bocks. Due to collection of some
more story books the said ratio be-
comes 15 : 4. The number of story
books collected is :
U QRO 5 heT 141 ot Eaeh] S 3171 T&iehi
T ST 7 : 2 ¥ W =T 1512 FHE=ai 1 e
1T IR FEfel ) ol @ e e e g
I STIM 15 : 4 T S T FEH H R
et g=aen! =1 WhE fomen I ?

SSC CGL Mains 2014
(B) 97
(D) 205

(A) 100
(C) 108

Spluhions
3+ ¢ 2

Y

432

J

1St
+X
s !

Z'_

News

|s A+ ¥
43

% = |0d

- IS”

(0 151249 432
~ N
15 +
|15 —> 15X (08 =(6R0
No e

|—>108

HRe=BI12+%
x=108

Ratio and Proportion

54. In a school there were 1554 students
and the ratio of the number of the boys
and girls was 4:3. After few days, 30
girls joined the school but few boys left
as a result the ratic of the boys and
girls became 7:6. The number of boys
who left the school is.

U Toremera 3 1554 Tommedt & s7R Tre®i oIk sl
T TEAT T STAK 4:3 o911 HS 71 9715 30 Asinal
= 59 faemera # warw & famn, 372 aew) 1 frneg
e fam, wRomreersy de@l S arsi @ o

7:6 €1 T | foeneE Sien 9| weml B HeAn
faraii &2 SSC CGL (M) 2015
(A) 74 (B) 76
(C) 84 (D) 86
Solahons-
|Iss
/\li 1539 29
T
B Gy
4- 3
383 666
- +306
B8~ 63¢
888-% _ F
63cC c
y= TG
‘I’l)
k c—» €36
I —= 1§

N}
Ne F > e xF=8l2

888 - % = 312
3t=FE
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Mother's Arithmetic + Ratio and Proportion

55. The total number of students in a

school was 660. The ratio of number of
boys and girls was 13 : 9. After some
days, 30 girls joined the school and
some boys left. The new ratio of num-
ber of boys and girls became 6 : 5. Find
the number of boys who left the school.
foremera A o Toenfiiai =t w660 ot | oreF
3TR TrgfRal w HeA H STHUM 13 ¢ 9 M 1FY fm
TS 30 SRR A SR e # waw fomn ok
A5 IR Tefwal T e F S 6 ¢ 5 €,
@ ward fir form aige 3 o ois faan

(A) 5O (B) 40

(C) 30 (D) 60

Selukion >

Totad = €60

¢

13 jl/
3\%0 Ato
-3 +30 |
890-% 300
New c D5
5 —» 300
| — 6°

{ —> EX60 =360

SJo-1 =36°
W= 30 Bﬁs

56. In an examination, the number of those

who passed and the number of those
who failed were in the ratio 25: 4. If 5
more had appeared and the number
of failures were 2 less than earlier, the
ratio of students who passed to the
number of students who failed would
have been 22 : 3. Find the total num-
ber who appeared at the examination.
et vlten & 9@ 1 91cl @t @ w0 hd B9
A F WS Y S 25 : 4 o) AR wE iR
AR 3 wdan < B 9 TRT B AT Rl WAl 2
FH TR, AT ST 22 : 3 T qde H S
T i e i —

(A) 145 (B} 150
(C) 155 (D) 180
Stludon =
Py Farl  Teed
253 4x AIn
22 3 <5

Tl = RIXES 25

]  yx-2 3

g3t Is = fpok -5o
5% = 65
=5
Tofd = 293x5

= 45
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Mother's Arithmetic +

57. In an examination, the number of those
who passed and the number of those
who failed were in the ratio 4 : 1. If 35
less had appeared and the number of
failures were 9 more than earlier, the
ratio of students who passed to the
number of students who failed would
have been 2 : 1. Find the total number
who appeared at the examination.

forelt wftan # Siol €9 9w et = wem
ST €N o TeA ¥ 6t 4 A o 1 i et
W WA I8 | 35 FH FT IR STIAM0 T T
=i e 9 &1 Sl d) STl 817 =1et 9o sTar

Ratio and Proportion

58. In a school, the number of boys and girls
are in Ratio 5 : 3. Some new boys and girls
took admission in the school in the ratio 5 :
7. Now, the total number of students in the
school are 1200 and the ratio of total num-
ber of boys and girls become 7 : 5. Find the
number of students initially.

T Toener H dgeh] UE aisiendl it Sl 61
S99 5:3 ¥ 1 5:7 % 9@ § HER: FS U OGh
TH 7§ wefRdl 1 fomer § Amies gen o™
fereme & o1 faenfi=i =t @@ 1200 € W iR
T TSH S TSB! I S 7:5 B T A AT
forenfafeli o Tl @ vee To faenfll <1 den

BN are gt ® 2 ;1 o oW g T ot |
et wt Tem w2 (A)900 (B) 960
(A) 155 (B) 158 (C) 920 (D) 1000
{(C) 160 (D) 165 i
, Sel udten>
Solutitn >
Pads Pail Tetedl ”w )9\
yw x5 A & &
5:3 §*'F
Totad | 5%35 .3
Fal ] X+ | %y N
3 X5 x5 2
5¥x-35 =30 +2AF A %3 +_l\_\.|§_x'.{_
B
K= 62
A Lem= 8,12=4
H= 3|
5% +16Y
Teded 5> -%
5x~5X3| 3%+
= L5 Fsxt 5oy = 63X +38Y
12% =48
Y -4 — 360
S T —> yo
IR.;-)O - RL’Q
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Mother's Arithmetic + Ratio and Proportion

59. If 50 less had applied and 25 less se-
lected, the ratio of selected to
unselected would have been 9 : 4. So
how many candidates had applied if the
ratio of selected to unselected was 2 : 1.

SS8C CGL Mains 17 Feb., 2018
=g 50 FHA TN A e foFran g iR 25 FH I
TR A T TG A G T A A STIIE 9 4
T 1 afE g T e T = T SR 2 ;1

o d Tera &Rl 4 3TRe fosar 41 ?
(A} 125 (B) 250
(C) 375 (D) 500
Solution &
Tohal  selected 1 unseleded
> 2 1
\ 5o A5 %5
g ' 4
—

GTE Radio W - Same i
Erar 3% offoence

60. A sum of ¥ 15525 is divided among
Sunil, Anil and Jamil such that if ¥ 22,
¥ 35 and ¥ 48 be diminished from their
shares respectively, their remaining
sums shall be in the ratio 7:10:13.
What would have been the ratio of their
sums if ¥ 16, ¥ 77 and T 37 respectively
were added to their original shares?

T 15525 HI TR FAIw, e IR i % i
¥ WE ¥ fawifa &t wHr § o afg o= gl o
q wEW: 22, 35 3R 48 9 W f&F @ 91 ST
¥ AW 7 : 10 : 13 F U A T Q) AR ITH
e fewdi B wEw: 16, 77 iR 37 S W § @
Ieht U A1 STUT 34T T9T TP 2

SSC CGL Mains 2016

(A) 9:13:17
(B) 18:26:35
(C) 36:52:67
(D) None of these/ T @ &E &

_ oufio"ﬂfx"

I5525 3 15440

-AW

=3 jo I3
T HR S mattiply
By & 15922 - gy
30
3
(2 l) X5 )i Fx<sly  loxsly Baxsiy
(9 DXl = 9° 4 ¥ % %
3538 SIyo 6682
Totad > [ot5 = He +1+ 3 F
5252
IS X A5 =315 Bt 6+
36! B5A ¢ 6%
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Mother's Arithmetic + Ratio and Proportion

61. There are two containers of equal ca-
pacity. The ratio of milk to water in the
first container is 3 : 1 and in the second
container is 5 : 2. If they are mixed up
the ratio of milk to water the mixture
will be:

2 T YN eEal % 2| AT gy F U & ST
HR: 3 : 13RS5 : 2 § 3R TR fem W wra fasor H
39 9 Y ] ST A4 HY 7
(A) 28 : 41 (B) 41 : 28
[C}‘IS 141 (D) 41 : 15

[+]

Mk nader T jLem ™
A =3 ! 2 5|3S5|ai: 1y

a 5 : 2 7 |35]25 o

Mm: W
2 1Y
25! 10
ThHE T2\
23 12

63. Three glasses of equal volume contains
acid mixed with water. The ratio of acid
and water are 2 : 3, 3 : 4 and 4 : 5 re-
spectively. Contents of these glasses are
poured in a large vessel. The ratio of acid
and water in the large vessel is.

A G At o frare J 9 % e iy svm
F 1 e oft 9 T T UM N 2: 3, 3: 4 3R 4 -
5 ¥ 1377 T 3 eTel 61 O S o § S W g
=2 Fa9 H a1t ofR O <67 S1gue = g ?

8S8SC CGL Mains 2015

62. Two equal glasses filed with alcohol and
water in the proportion 2 : 1 and 3 : 2
are emptied into a third glass. The pro-
portion of alcohol and water in the third
glass will he :

@ E™ a3 fren ¥0e 9 O W e 2 0 9 S
3 : 2 IguE # W 8Y ¥ I i B foermen ST E @
= fhagm & g T I =1 SO I ] 7
{(A) 13 : 17 (B) 19 : 17
(€) 13 : 11 D) 19: 11

Solution >
Al Wadex |T |t A T KW

T 2 1 3| =t 5
aT 3 R SR
Al W
je ! 5
9! 6

g @ U

(A) 411 : 540 (B) 417 : 564
(C) 401 : 544 (D) 407 : 560
oludye
A W [T
I 2 B |5 |5RTI
I a 4 |F |sx339

5 > SAIXI =163
F —=-SXXI>>1->Y45
g — 5x39 > 1—+35

Noed
A K A W
I 2 3 > 126 183
r 23 Y4 > I35 tge
moy 5 s M
Yol qu{
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Mother's Arithmetic + Ratio and Proportion

64. Four vessels of equal size contain mix- | 65.
ture of spirit and water. The concentra-
tion of spirit in 4 vessels is 60%, 70% 75%
and 80% respectively if all four mixutres
are mixed, Find in the resultant mixture
the ratio of spirit to water
SR WHH AR % aei # Tl qen sie v ) el
il o feafte =Y 7en B0 60%, 70%, 75% 30K 80%

2 | T ot fager # feafie o) arh =1 ergam € 2

Six coins of equal weight made up of an
alloy of gold and silver are melted to
make another set of six coins. The ratio
of gold and silver in a coin is in ratio of 2
: 1, in two coins this ratio is 3 : 5, and
for remaining ccins this ratio is 7 : 5.
Find the ratio of gold and silver in new
coins?

T 3T =i § 59 SR IR S 98 Tl o) ee Y
IEITRY ST T ST § | U T J A ofe =t

(A) 57 : 23 (B) 56 : 27
(C) 53 : 26 (D} 53 : 27 W AN 2 : 1 37 & Faad H 3 : 5 AR At e
' H 7 . 5o ST & (Y Tasen) W @R sl Sl
Soludions Re'malrilnj s e A 2
£t : 1:1
SP"’_"‘_ Wadex Eg]) ]ig : :11; EJE:;)) 42 1 45
I Cofo oo SRolaions
/s 30‘7" .
T . Oeld  Silvese | 1ot
:DI- %?D 25/0 I 2 . 1- 3
CA T -
A85 i 3 ! 5 8
5% @ a3 1T 7 ' 5 (2
v T 5 12
¥T 1T 5 A
LeM - 2y
bt S h ! 8
o) |24i{>8] 16 1 8
3'5 241131 9 ' I§
3'5|29[1»>3| 9 @' (s
305 {24)1>2) v o
F:5 (2|12} ty ! (o
F:5 (24|24 |4 ' o

16 68
REEEE
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Mother's Arithmetic +

Ratio and Proportion

66. Two bottles contain acid and water in
the ratio 2 : 3 and 1 : 2 respectively.
These are mixed in the ratio 1 : 3. What
is the ratio of acid and water in the new
mixture ?

T el A A 2 ¢ 3 3R 1 1 2 % AU H ond R
TAEITH 1: 3% oTguR o THew fEm e ¥ | sy
= Thgor A o1vet SR et w1 1 AT § 2

SSC CGL Mains 2016

67. In two types of brass, the ratios of Cop-
per to Zinc are 8 : 3 and 15 : 7 respec-
tively. If the two types of brass be melted
and mixed in the ratio 5 : 2 a new type of
brass is obtained. The ratio of Copper to
Zingc in this new type of brass is
A W ¥ diae § e 31K o1 w1 39 wE: 9 ¢ 3
AR 15 771 3 A T Toa = e a5 2
& T o fafm S i sy @) © T gER = diad
o W1 # | 39 T wer & ded H i ot o &

(A)7:13
(B) 11 : 57 HIIG SA8Y, 7 SSC CGL Mains 2016
(C) 23 : 37 (A) 3:2 (B)2:3
(D]1:3'“ C)3:4 D) 5:2
Soludisns- Sojutions
Acid  Wadex|T e‘[l-: c z | T equal. New yackia
I a ! 3 ~ I 8 3 [l 22 5
\ |
r ;A 3 T s FI|R| R 9
Mved Rekie s 113
: 245t 1o
el Tis ’2 ";! A
<
313 | 45 = : Ao 22- Yy
e {—s llo > |—=10
>3 22— 44 3 (=R
a—>ys
A W 20 30
l
6 13 ’3:0 uj{
D .
s ¢ &0 l
21 39 52
= 13
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Mother's Arithmetic +

68. Two alloys contain Tin and Iron in the

ratio of 1 : 2 and 2 : 3. If the two alloys
are mixed in the proportion of 3 : 4 re-
spectively (by weight], the ratio of Tin and
Iron in the newly formed alloy is:
&) Ty et & fom qen oler 1 : 2 9fiX 2 : 3 % oUW
H ¢ afe fagagst =1 3 : 4 (F59) ¥ oum o
e s &, o & fagang ¥ o 9 AR T e
=41 B ?

(A) 14 : 25 (B) 10 : 21

(C} 12 : 23 (D} 13 : 22
Selufions

Tin Twon c"f}*“-l

I 2 |3 Vs |3
T 2 '3 s~ 1S |y

& X3 =45~

IS XY =60

No L)

3~>UYE == | > 15"
S =6 > | (2

Ratio and Proportion

69. Three containers have their volumes in
the ratio 3 ; 4 : 5. They are full of mixtures
of milk and water. The mixtures contain
milk and water in the ratio of (4 :1}, (3 : 1)
and (5 : 2) respectively. The contents of all
these three containers are poured into a
fourth container. The ratio of milk and wa-
ter in the fourth container is

T e o ST 1 TR 3 : 4 : 5 ¥ | IHH g
ST w1 fagror s B 1 Freon Howee (4:9), (3
1) 3fR (5 : 2) % o1 ¥ gu &R urt &1 59
TR o THH0 i O A Fe) § sed fgm e 8 1
A FR A gy ofR it 1 e sy ?

SSC CGL Mains 2016

T ¢« I
s ¢ ’xIS = 1S:3°
ax|e ¢ 3AI2 = 24136
39 .66
13 1 22

(A) 4 : 1
(B) 151 : 48
(C) 157 : 53
(D)5:2
Qo uions
Mo | ferel New Rakio
g+ 1 |5 lyel|3
o 1|y Mot
m 5 ' |+ I‘-IO\S
[YoX 3 = YR®e
Hoxy = 560
[4oX5 = Feo
5->4yqe >1—>8Y
H—>sgo>|—>I40
3 —> #eo Z|—rjoo
M W
T 33¢ ! &Y
T yro ¢ 4O
. Hoo ! 200
1256 * H?J—I%"l5:|'-'55
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Mother's Arithmetic +

70. Three vessels whose capacities are 3 : 2
: 1 are completely filled with mixed with
water. The ratio of milk and water in the
mixture of vessels are 5: 2, 4: 1 and 4 -
1 respectively. Taking 1/3 of first, 1/2 of
second and 1/7 of third mixtures, a new
mixture kept in a new vessel is prepared.
The percentage of water in the new mix-
ture is
17 I et el w1 sTgUE 3 1 2 : 1 ¥ gy iR
T & R F VT O | Y TR aE R oTaie SRR
5:2,4:134 :1811/3 9F1 95 9IH |, 1/2 97T
TE T Y qA /7 AF W 9§ Tl U =

Ty = =Tan € | 79 w9 faam 3§ gt s wfsEr

Ratio and Proportion

71. There are three bottles of mixture of
syrup and water of ratios 2 : 3, 3 : 4 and
7 1 5. 10 Litres of first and 21 Litres of
second bottles are taken. How much
quantity from third bottle is to be taken
so that final mixture from three hottles
will be of ratios 1:1.

2:3,3:48R7 ;5% smum ¥ ey ofc ort 3
Frgror =) i el § @ T ¥ ) vt |5 § 910
TR 2 gudl s § § 21 e o fom s v
7 9l siaat § | frg AEn § frsn =t farn s
forw fop i1 =aen 9 fomn e e fhgm 1 1%
u H € ? SSC CGL Mains 2016
(A) 25 Litres/¥x  (B) 20 Litres/@=I

‘(6:;'1;0% B 32% (C) 35 Litres/dlet (D) 30 Litres/dfiex
(C) 28% (D) 24% ,
f -—&,——W
Selutions . = Sysup! Wadex,
Mo oW T ol Redio |y e T Ty
I y | T A ' =
T oy |53y | ¢ AR T > "
S-lo|T->21 | 1R->12X
IDSX_—'B:»gs—‘ =2 | t-==>3 \ K> |
FoX=3% 4 1
ssrE=5 Notd  syvup waex
195 |S>3< | 5>5 | )
| >51=>F {1—1 1 1A
o ™. 5%
Mmoo W 13t = BEEX
5 '__r"_ ax. = 5
] 6
9\'1 [ ¢y ¥
5% 18 A= 2
18 m:m T
A
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Mother's Arithmetic +

72. In a mixture of three varities of tea, the
ratio of their weights is 4 : 5: 8, If 5 kg
tea of the first variety, 10 kg tea of the
seconds variety and some quantity of tea
of the third variety are added to the
mixture, the ratio of the weights of three
varieties of tea becomes as S5 : 7 : 9. In
the final mixture, the quantity (in kg) of
the third variety of tea was ?
da e wi e S g d TR aeR s a4 ¢ 5
: 8 %) 3 vEen R 6 = s e, 3ed e =it
= 10 . sin dad fvm =t = =t T W fago
H fremg g @ AT R 0 9 S SSE  SE S
7 : 9 e ¥t faw fasm H wredl) fpem <) =g =5\
(fem. #) faft 2 SSC CGL Mains 2014

(A) 48 (B) 40
(C}‘42 (D) 45
<ojution -
I X .
y 5 8
+< +o X _
S *+ 3
Yyurs _ 5
Sxto “F
A8 N +835 =354+50
=15
=5

T &

Q¥ = Yyxs =Re+5 =25

B5—> 35~
| =S

> g value = 45

Ratio and Proportion

73. An alloy contains Copper, Zinc and Nickel
in the ratio of 5 : 3 : 2. The quantity of
nickel that must be added to 100 kg of
this alloy to have the new ratio 5 : 3 : 3
is

T Tagug A &R, e sk Feawegams:3:2
¥ 1 Fd 1 foret =m0 100 Rt F 39 fagerg §
iy <A o 4T S 5 : 3 : 3 B W

(A) 8 kg, /Fem. (B) 16 kg./fFm.
(©) 12 kg./fFm. (D) 10 kg. /Fem.
ﬁblgxon%-
C = N
55 A 2-]‘(}&‘(8
04
589,/
lo —>]00

| —~1o

74. An alloy contains Zinc, Copper and Tin
in the ratic 2 : 3 : 1 and an other con-
tains Copper, Tin and Lead in the ratio 5
t 4 : 3. If equal weights of both alloys are
melted together to form a third alloy, then
the weight of lead per kg in the new al-
loy will be.

T fagug ® 5%, s g feawmegmu2:3: 1
Fomgm Ao, A am s womuma 5: 4 : 3 ],
Ity SFT wgell % A 9R i fireenss 1 R ded
oIy S W T 98 g H 3w w0 v gl fen

e @ ?
Wi ®f ©@F O3
Sy onz
Z T CT L
2\681 5':;.'3

same quantty G123 1L

_ot3 L
L=95> =%
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Mother's Arithmetic + Ratio and Proportion

75. There are two vessels of equal capacity | 76. 49 Kg of blended tea contain Assam and
one full of milk and the second one-third ﬁ-larjeelin%ttea fir}njthp lif,’-tio f 2 2. ;I‘hgn
full of water. The second vessel is then € dquantity oif Jareeung tea 1s io be
filled up by the first, the contents of the g? i]\eszaﬁ El;eDml?:;;irg tfe;n Sk_e lﬂs: ratio
second are then poured back into the first 49 FET. ¥ = a;af;:]m F g-ﬂ-q afir mf,ﬁ%,l-,-, H =5
till it is full and then again the contents FT ST S : 2 1 oI TR SR T = W™
of the first are poured in the second till ST PN 2 : 1 T i For Py T & e )
it is full. What is the proportion of milk ) fasor § AT 9mey ?
in the second vessel? SSC CGL Mains 2016
o o e uH @ o1 1 ae g T e urE w6 {C) 5 kg/fEm. (D) 6 kg/fFm
fago wa sma 7 | R TR I 8 e 9= A fasm '

olawio otal =
Thetren Stran & o) ek o weoh i U R s TR R S |ui1 Nz T +3
TS T ¥ T gat U H sRaen § qe g gua s A D
T WS | R T H G BT ST TR G ? 5 2 %49
(a) 21 : 26 (B) 25 : 27 | — 3+
(C) 20 : 27 (D) 29 : 20 _
\ .
Soludions 3s7 4
; : 51 L
2% Ll 23 Uit T
=S
J/ \L. =35
™ W M A 77. 60 Kg of an alloy A is mixed with 100 kg
of alloy B. If alloy A has lead and tin in
QAF o] O 3 the ratio 3:2 and alloy B has tin and cop-
i = per in the ratio 1:4, the amount of tin in
-8 0 +18 o the new alloy is.
18 60 foreil fagumg A =1 100 form. fyoeamg B % @iy
T 39 e 13 9 9/\'\ fufsm o ST @ ) s Taerarg A ¥ e ik f 302
‘g—...__________‘__.f l a; - : ) .
arars A g7 o fagurg B & fo o wlen 1:4 %
+H2 6 AR -6 VY| e e e 3 e i 2
SSC CGL Mains 2015
IL. A4 G A 23 {A) 44 kg/FR. (B) 80 keg/frm.
s (C) 24 kg/TFm. (D} 53 kg/ .
A So|utions>
F1R
Iy Yy RS
HY Y S
- | -
4 4 t T T :C
q_ g\ RO . :'_ 3 ! 2 l i q
BN
Qo 2t a6 a4 A
L:T:C=36:44:80
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Mother's Arithmetic +

78. In two alloys A and B, the ratio of Zinc to
Tin is 5: 2 and 3 : 4 respectively. 7 kg of
the alloy A and 21 kg of the alloy B are
mixed together to form a new alloy. What
will be the ratio of zinc and tin in the
new alloy ?

2 Trgurgsti A 3k B o S X {1 =1 o1 s
5:27M3: 4§17 fFm wt ug A 9 21 e foR
u1g B = faemee w7 fas ong o w4t & 1 fag

41g ¥ i $IR fe =1 o Em 2
A)3:1 B)3:2
€ 1:1 D)2:1
solukions
P\=‘TK3 & =2l Kj
"\
-zf\T Z T
5! 2 3 ' 4
v o ¥ Voo
5 A 3 7
R'T
Iy -1y

Ratio and Proportion

T9. Three healkers namely A, B, and C each
contain 100 ml of milk and water solu-
tion. The ratio of milk and water in the
beakers A, Band Cis 1:3,1:4and2:
3 respectively. 40 ml of solution is
transfered from beaker A to beaker B.
Find the final ratic of milk in the bea-
kers A, B and C.
97 <R A, B &R ¢ w&@=F # 100 fash. ot ofk
ZU A0 SR} 1Y SR U 1 IR SieR A, B
SRCHA®TE: 1:3,1:43R2: 37140 fas
=T i A T Sl B § 40 TR | T e A, B 3R
C T oot g9 =1 o o g 7
A)3:6:8
(B) 6: 15 : 20
(C)15:28:42
(D) None of these /378 & ®§ &i

Sb lu.f] o>

e e e —

M W
A 1 i3 >25:#5
"1y 3 20180
joo )
oco. A13 > Y60
Notd 4o M W
/\ A»25-10  FS-33°
\;"'i’ Bsaotlo 80130
lo- 3o A> |5 ys—
B> 20 Hs—
c=> Yo &o
MiIlk pt B C
(5 130! Yo
86 8
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Mother's Arithmetic +

80. A milkman mixes water and mitk in the
ratio 1 : 2 _ If the cost price of water is
one-tenth of milk and the milkman
claims to sell the milk at a profit of 20%,
then what is his actual net profit per-
centage ?

T QU TR 37K g8 @1 1 : 2 3 e faenw &
A I <1 T TS T8 1 171061 Wi & 3R guEen
20 WfTe TS T T HIET § q9 SHHT AR M4

fora wRwa ¥ 2
(A) 72% (B) 82%
(C) 79% (D) 68%
Seolutions- cpsW . I
inl M
I 2
ek Bo : oo 3150 K]
X1 Xjo
Fo % 000 ¥
Hotjveo =[oH5e P
sp= I1SO X aX 12
{oa
= |Boo &
P’B‘UF"‘" = Fso X oo
JoBo
= Soo
-
:‘:’LKO/O

Ratio and Proportion

81. There is 50 Kg. milk in a tank. 10 Kg.
milk is replaced with 10 Kg. water. This
process is repeated two times. Finally
how much milk is remaining in the
tank?
T Fehi H 50 Tortln. SU R 1 398 & 10 farm. gu farrereRt
TN & U S @ T e R | AR SR T
saA R H gy ?

(A) 31 Kg./fem. (B) 28 Kg. /fwm.
(C) 32 Kg. /fwm. (D) 29 Kg./fFm.
Soludion>-
HSo Ka
I o/ \tioWH
Mo W |
Yo lo = Jo @ﬁi@;ﬂ'&f
M\
b
¥
8
T Yo [o
-3 -2
32 8
Ho
a2y 18I

(D Mk + Weker
congstant B T &

= HoX Ll& _(_".é_-
™ &5 BN

= 32k3
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Mother's Arithmetic +

82. A vesselis full of milk, 63 liter. If 9 liter
of milk is taken out and replaced by
same amount of water and further S5
liter mixture is taken out and replaced
by same amount water then find at the
end of 2™ process the amount of water
in the mixture ?

T 9 H ST 63 el g8 9 wu §14fg 9 wiex gy
Frarret st SR 7 < @ faenfua frm s € iR
g H 5 el fagor FHeeest seR 7 H 5 A |
Fereanfia fopen wuan @, ot Tgdta whew & ag fygwr &
el &l W Ji1 By ?
(A) 31

(C) 21

Soltdclbf!l?

(B) 41
(D) 51

M+
" ™
S
M= 63X 5Y 4 Y
&3 &3
M= yaL
H: 65’1"2":2“—

Ratio and Proportion

84. A bottle is full of dettol. One third of it,
is taken out and then equal amount of
water is poured into the bottle to fill it.
This operation is done four times. Find
the final ratio of dettol and water in
the bottle.

T SaE S o T ol B 1 @ fag g9 Tremees
ST S A ® U] fAErERt Siae S QU 98 ST
21 ag ks 4 9R JEwE ww ¥ @ 3 AR

83. Therec are 81 litres pure milk in a con-
tainer. One-third of milk is replaced by
water in the container. Again one-third
of mixture is extracted and equal
amount of water is added. What is the
ratio of milk to water in the new mix-
ture ?

T O H 31 TR gS g9 B T O O fown
T FepereRt ot | wiasiiaa T e T g
us faes o P 9 9 wigedifag fean

T =R ST STU et § o9 i 2
(A) 8 : 30 (B) 36 : 44
(C) 16 : 65 (D} 32 : 33
‘Sﬁuz;m? a:’csjrapﬁna D=4
4P T AW L
nal < 2. % 2 w2 x2
Fin D= I)Q.Txaxsxs
W= 1-16 e
Y
#wm%j D
16 . 8S” ¢S
&1 Sl

formala, forthese typre

T T g A gy o a1 ST CQL{C,&’F\OT\S%‘
TR ?
: : . » ‘ i
Eé))uézl Eg)};é FITIQ.L Milk RQt\OZ/n__ __R.__)
Soj ejen> 81 Uk > M —lek 1 I‘a’n‘\'ﬂ-llj' Mk Rcﬂclo// K
| %-. i +
St CRARCEAN AN
M= IX2x% =Hs-
3 Dt W
H = ""H_ _§— M-‘ll"l . 65
- 4.5 6"

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur




Mother's Arithmetic +

85. There is pure milk in a vessel. 20% of
milk is replaced with water. If this pro-
cess is repeated 3 times, what is the
percentage of milk at the end?

T e, T 3 gy €, s9A § 209% 1 9 8 91
T o 1 =i = fopen 9 wR ! TE &, o dwd e

¥ oTd H B T S AT =4 o ?
(A) 40.0% (B) 50.0%
. (C) 51.2% (D) 58.8%
Solukions
FIm.LLJ M| K Redio Q_ R 1
‘inriall /il Ratio L
Ioo L o ’
&, 8o
= JooX |oox Mox ;oo
Y= Bl R%

Ratio and Proportion

87. A container of certain quantity is full
of milk. 8 litres of milk is drawn off and
replaced by water and this process is
repeaied three times more. Therefore
the ratio of water and milk becomes
65 : 16. Find the capacity of the con-
tainer ?
T TS g ® T WA § 1 8 T 39 Freprereht Serl
A F gt e @ ug wiee e @1 )
3R FETE TE | THH UEER U SR 59 1 1AM
65 : 16 T T4 | T 1A St &wFar farat | 2
(A) 24 litres/ €fiex (B) 16 litres/ wiX
{C) 27 litres/ &t (D) 25 litres/ =

Solutions M
6S 6
;.:l'li ) I&) ML:):(-SJI
1= 8_—=—'—
T8 3 rg-a2slih

86. A container of 64 litres capacity is filled
with pure milk. Some quantity of milk
is drawn off and replaced by water. This
process is repeated two times more.
Find the quantity draw off every time if
final ratio of water and milk becomes
37:277°
T 64 T ST SIeT 9T U5 54 W S ¥ 1 g9
! B A Freeeret 59§ UET oW T uE
iR | 9R IR GRS TR A1 WolE il 7 gH
Ft fepart T ferelt T afe urt SR gy @

88. A vessel is completely filled with milk.
15 litre of milk is replaced by water and
this process repeated one again. Find
the initial quantity of milk if ratio of
milk and water at the end become
16:97?
weh WA CH T R ¥ W ¥ 15 Tl g Feree
IHF! W g faen fear it 98 % H % AR 9 R SR
W@ enes H a1 § e A gy wi afg s
QU S YT T STIIRT 16 ¢ 9 B WA B |
(A) 60 liter (B) 40 liter

ofomt e7qw 37 1 27 ¥ 2 (C) 50 liter (D} 70 liter
(A) 18 litres/ dix  (B) 12 litres/ T ' o0
(C) 24 litres/ @eXx (D) 16 litres/ ®X \Sbltl.*l n= r: A
Soluyo FMR (u J%) I3
M-6Y4 MR
TMR. IS “M>3t2F- (I-IQ)
. 3
33'— = i"'—&—) | - IS
I8 5
% IJ ¢
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Mother's Arithmetic +

89. In a 25 litre mixture of O, and N,, O, is
36%. Some part of mixture is replaced
by N, and this process was repeated
once again. If at the end O, become
9% then find the part of mixture taken
out in one process?

25 TR O, I N, % f9a01 § O, %% 8| T8 F9
et fasor Terers sweht e N, faen 72 7 =%
9 T 9K SR SR @049 s fam F O, 9% €,
@ U WiRa § FHo i paHl wen wre e |

(A) 12.5 (B) 13.5

(C) 14.5 (b) 11.5

i‘m_mz W5 LH— 02""“-&

F—ngfu k
I ogt T‘&
. R S
36 L 7~5
- & = .
25 ?— R=12-5 Uk

Ratio and Proportion

90. Form a bottle of rum, a thief has sto-
len 10 mililiter of rum and replaced it
with same quantitiy of water. He again
repeated the same process. Thus in
three attempts the ratioc of rum and
water becomes 729 : 271. The initial
amount of rum in the bottle was —
T T Hi e H 9 T 9R 10 firediefe ™ 9l
I & 3T S AFT H THE WA Y G AT
% Wi &) R o3 Se0 ¥, W T daer § W g

oMY W SFER 729 ¢ 271 B W@ §, O ARe §
Hae § ™ T 7= (et #) farat of ?
(A) 100 (B) 125
(C) 64 (D) 72
on -
1:Soludton - R I
FRR =(-£5) 3a9: a1
TRR IS, '
F29 ,_Q-J#‘s
CES
|-1e_ =9
I8 710 T&=[comd

91. In a factory, the ratio of the number of
male workers to the number of female
workers is 3:1. The ratio of a male and
a fermale worker's daily wages is 4 : 5.
If 15 male workers are kept and daily
wages of all workers is ¥ 510 then, total
wages of all female workers is ?

U et | orgHr ofR o 3 ;1 % srum
HH TG T | SRt T S el %1 ST
HAY: 4 : 5 ¥ 14fg 15 oTEAt @ M ¥ oI gt =
F 36 3 T 510 ¥, It SRl F e wodt

T E—

(A) T 336 (B) T 140

(C) T 150 (D) T 297.50

Selukions
M M |+ —>Slo X

Noe. 3 1 | =36 I
each 4 5 5 —»150%
All. 12 B

92. When ticket prices to a water park are
increased in the ratio 11 : 12 then the
number of daily visitors to the park fall
in the ratio 8 : 7. If the daily revenues
before the increase in ticket price was
T 1,76,000 then find the daily revenues
after the increase in ticket price.

W UH Sied Uk W fewme W @iEd 11 : 12 F
a1 B ag TE @ Wk H o v S st
T HEA 8 : 7 % U A iR Rt ¥ 1 3fk fee
=t 9 H gig w0 T Tee s T T 1,76,000
o1 o fewe = = A gig 0 & 918 9E g2

Bf7ep ToTea [ L
(A) 264000 (B) 112000
(C) 192000 (D) 168000
LSoludion s
' ongiel. Prasent
Raxe 1 T2
\, 8 : —"i_n Lsﬁbﬁ LBM
T 89 8Y | 3000 i 43001
28 2
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Mother's Arithmetic +

93. A manager reduces the number of

employess in the ratio 9 : 8 and in-
creases their wages in the ratio 14:15.
Find the difference of the expenditure
in their wages, if original expenditure
on it is ¥1,890,
o TriTeR 3T SHHEIE) SRl WA 9 : 8 F ST
H T § 23X S 90 14 : 15 % oA H SgEl
¥ | T o Torer Y Ui B ot = g T 1,890
oft, I & IRFEA] & ag B -

(&) T100 (B) T110
(C) 120 (D) T90
60' ‘0
Noe G %
A L
T 126 ' 10
’ (]
Al 2R & 1 >90%
e
1830

Ratio and Proportion

94. In MEH the salary of each worker in
increase in the ratio 22 : 25 but the
number of worker is decreased by 262/
,%. The net effect on the salary is :
MEH ¥ w&i® &EIR &1 a9 22 : 25 &'
S H w1 e W faeg SRl 6t e 262/
% w1 femn =y @ a9 W frae v @ g ?

EX) 1,
(8) 162 % (B) 115%

(€) 10% (D) 20%
Seletions 8k
W 222 YRS 5a
=4
Ne 1S ! L IS
T aaxis: asXl
6 ' 5

-JG—')( joo= ‘6%-70 4’

95. T180is divided among 66 persons (men
and women) in such a way that the ra-
tio of money received by men and
money received by wornen is 5 : 4. The
ratio of money received by a man and
money received by a woman is 3 : 2.
Find the number of men?

66 =l (Y 3 Tfgemd fremet) F T 180
@ 7R faunfse won ¢ i el gm T 59
YA 6T Afgelsll g0 W Ha St § S
5 : 4 %1, ToAvg U 9EW 510 WIS B 61 U S
BRI U & & ST99R 3 : 2 B | TOui 1 §& ¥

96. 15 members of a family need equal
quantity of rice to eat. One day some
members of the family were absent and
the consumption of rice decreased in
the ratic of 5 : 3. How many members
were absent on that day?

15 WS & T IRER & TS 95 i 9@
it FHE AN W STavEEA gl ¢ el frd
&, 9fER & T 9ew=l % STqufted g & &R
ITh] A9 W @I H 5 : 3% A9 § HE g |
¥ T ofiams srqafeaa vl 1 9em di—
(A} 3 (B) 6 (C) 8 (D)9

(A) 20  (B) 24 (C)30 (D) 26
éolb.ﬁ@? M W
No  &pp: 23 MW
al 514 —» ¢
& —> 3o Mer

,59|u:k'\onz-‘
ongimal prasest
5 ' 3
¥
isp 9P
~-—T
z

Absewt = 6
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Mother's Arithmetic + Ratio and Proportion

97. The ratio of the rail fares of first class

and second class between the stations
is 3 : 1. The ratio of first class passen-
ger and second class passengers is 1 :
50. One day 7 1,325 is received as rail
fare from passengers travelling both
sides then the fare received from sec-
ond class passangers is ?

ol 9 werl % s wom o fida afee &
o-foret & 3 : 1 1 oTgUm ¥ <9 Rk ¥ A
1 H F WA e e Afer & s w6
HEa! 1 I 1 : 50 ¥ 1 9 Rl foRw e
I QA WIM P Sre 1A A I Al | F
- FRTrn T 1,325 W geT ©, i fgda goit %

98. Skillfull worker, unskilled worker and

clerk are recruited in ratio8:5: 1 in a fac-
tory. Ratio of daily income of skilled
worker, unskilled worker and clerk is 5 2
: 3. On recruited 20 unskilled worker daily
income of all member is ¥ 636. Find daily
income of worker of skillfull worker cat-
egory.

T HREM H & BIR, A R a1 fafer
8:5: 1% A7 § T 9 ¥ 24 FRIR, S|
SRR qer faften wt &f e Tl =1 3EuE S ;2
: 3 %13k 20 SIS FRTR W@ SH 9 HEE T
Tl =l w5t S Tegd T 636 A B, A 2w
HRITR Aot ¥ Heiend F1 s wergd I W

Then
" axe yeeryed from
second Chow P“%e’“je’(?

Sox 28 3 1250

i (A)10 (B) 8
il ¥ fpa Y- R U ger—
(A) 2 1,250 (B) 7 1,000 ©15 (D)12
(C) ¥ 850 (D) 750 | oledion >
Solukion > LSOO
S U C
_'_ - L NO 8 5 ]
en 1
A f 5 eath 5 2 3
No o
all Yo o 3
Tl 3 5o
B3~ £35%
53— 13258 b= 12
| —= &5
o —> Y®o

fov ﬁCLCLW

onekilled 5—20
| —4

skilled = 8xy =22

g0 _
£--s %
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Mother's Arithmetic +

99. ¥ 430 is divided among 45 persons
such that the ratio of total amount re-
ceived by all men, all women & children
are in the ratio 12 : 15 : 16. while the
ratio of amount received by each man,
each woman & each child is 6 : 5 : 4.
Calculate the number of man.

T 430 b1 45 AT O 39 Wb fauiea fopan =i
¥ for weft o, Siel = w=t @ firert aeh ufi
12115 : 16 % STUE A ¢ | TfE TAF I R
F 5= ! e el T S AR 6 5 4, W

T YO I HEAT 9 STy 2
(A) 12 (B) 15
(C) 10 (D) 20
Solu:‘:\lim?’
M W C
eh 6 5 4 | —> i
Al 120 is 16 A==

Ratio and Proportion

101. In a cricket match there are three
types of tickets say A, B and C each
costing ¥ 1,000, T 500 and ¥ 200 re-
spectively. The ratio of three ticket sold
of category A, Band Cis 3 : 2 : 5. If
the total collection from selling the
tickets is ¥ 2.5 crore. Find the total
number of tickets sold ?
frre 9 W A, B 3R C R =+ fowed =t
Ha wR: T 1000, T 500 siRT 200 %A
,BaiRC A Afap fepd i aAqum 3:2: 5
¥ 9% fowdl =) Tl @ o7 wgeh 2.5 wOg ¥

Hol 9 T fowel W e a1 w2
(A) 5000 (B) 4800
C) 50000 (D) 52000
Sajudion >
p B <
R, looo SPO Reo Bote-72-5CY
Ne & R 5 | —- &oeo
T 3608 [0t {000 | 0 —>»S50/000

100. Mitthu Bhai sells resgulla (a favorite Indian
Sweets) at T 15 per Kg. A rasgulla is made
up of flour and sugar in the ratio of 5 : 3.
The ratio of price of sugar and flouris 7 : 3
(per kg.). Thus he earns 66/, % Profit. What
is the cost price of sugar.
faeg i T 15 fell & wa | SIeT S ¥
U Ao § 312t qen == o7 21U 5: 3 & a9
= 221 F 9" 1 SF9E 7 2 3 9 Eemm R

102. A person left ¥ 8,600 for his five sons,
4 daughter and 2 nephews. If each
daughter gets 4 times the share of his
nephews and each son gets 5 times
the share of his nephew, then the
share of each daughter is
TF =% 3 ¢ 8,600 39 5 o2, 4 afedl qur 2
wdisll & fag 9121 aft g S W S =
R T a9 TERE S W ES T g A 9

TH THR TH 662/ % F1 TN Brew & 1= w1 ww T o Teies S T AT = E—
oot = ? (A) T 100 (B) 7 600
(A)12 (B) 13 ((‘3) Z 800 (D) ¥ 1000
©15 (D)14 Solut{on
ssoludions oo b2 s D N
F S €57 PF I ne. <y 2
& 5 1. 38 cp P SPleah s 4 |
Rde 3 1 F 3 2 B 25 16 2343
IS : X136
! G’I;B li‘ g —> 8600
362 =12 | —» Q00
1 —>14T 4 —»8oo%
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Mother's Arithmetic + Ratio and Proportion

103. T 5920 divided among 8 men, 10 women
and 12 children each man gets 25% more
than each woman and each women gets
25% more than each child then find the
amount received by each women ?

¥ 5920 %! 8 &, 10 Afgemd iR 12 a==ii &
g ¥ S/ ¥ 1 T ARH ) Yo A @
25% sifees e Yoo Afeen ®1 oS g §
25% i firemn 81 yow wfeen % R W
e o |

104. Ratio of First, Second and Third Class train
fares between two stations was 8 : 6 : 3.
First Class and Second Class train fares are
reduced by 1/6 and 1/12 respectively.
Ratio of no. of passengers in first, second
and third classina yearis4:9:24. Froma
station total sale of tickets of T 355600. First
the amount collected from first class.

U R WIE % W= gem, i ok g Aol
% forrd § 8: 6 : 3 UK o1 | g 9% W wUH
Foft Tt fe<ia 2ol & freds 1/6 9em 1/12 9m

Eé))ggﬂ Eg))sgg = FH B R T ad d gom, frdw
. gt Ao % wtEl S HEn w4 :9: 24 =
Solukjons> a54=4 M .S HIIE o | A TF WA R F9 T 355600 F
+ W 4 feme f B O wue ot @ Wi e T =R
25701\ =l A 5 (A) 67000 (B) 64000
t+ & ¢ (C) 60500 (D) 62000
MW C Sejutions
s H I T MW 2
i R 8 & ch.lL
25 20 16
8xs exilL 3
M W C ¢ =
each as 0 16 .%'3_ J?{- 3
Ne & o 14
Ren 18
A e o A »sqg | T w0 B
Moo 4 3 RY
592—>S920 l66 23T 43R >-863
} —> |0
20 —> R00 K 884¢—>3SS¢6e0
| —> 400
lgo —> [6o OO
= £4ooo X
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Mother's Arithmetic »
105. Ratio of the fares of First, Second and Third
class category of a train, between two sta-
tions is 10 : 7 : 2 and the ratio of passenger
travelling in these category is 4 : 9: 17 re-
spectively. If the fare is increased by 1/4
in First class, 1/8 in second class and de-
creased by 10% in Third Class and the ra-
tio of number of passenger in the category
remains same, If the new collection is re-
ceived of T 60590, then find the total
amount received from third class category.
X WA F WA= wem, g g qdE Sen %
O ® 10 : 7 : 2 %1 39w § e 39 Afai |
HHR G T4 Al 1 Wi 1 ST s
4:9:17 % 19 9w Aol % ot 6 1/ 4 st
i, i 2ol & fo@ 9 1/8 9w =61 gig a=n
A 2ft & T F 10% =t it % g S e
N =t sl o o geEa € W A v
R T | wr e 31 T 60590 ¥ 1 7@ wifag
i et S & A S d R @

Toman ==gen T ?
(A) 12210 (B) 16224
(C) 18320 (D) 12240
Soludions
- -5
I R s B F
R b F R ey
5 g
foX 2 1):.%. Rx‘?
s 2% 2
4 8 5
Ren- apo 357 F
N° y e 1+
T‘ ; ‘ Q\ooo ?\835 IQQ\LI
eogq——?rsas‘l"
| —F 10
|22y — 12240

Ratio and Proportion

106. Between two railway stations the fareof
15t 27d and 3™ class are in the ratio 8 ;
6 : 3. But later on the fare of 1% and
27 class is decreassed by 1/6 and 1/
12 respectively. In one year the no. of
passengers of 1%, 27¢ and 3" class are
in the ratio for 4 : 9 : 24. If total tick-
ets amounting ¥ 355600 are sold then
find the fare of all 3™ class.

q A =IE F A" goE, A AR g aeh %
frra H o 1 /6 wraen 1/ 12 W =t s =
el o 9§ wem, R qon g At
o B EEH 4 0 9 24 W S o1 | A T
TYH R Fa T 355600 F fewe 5% 2 o 7w
wifeg for Tt Son @ Tean fasern v foman 731 2

(A) 6400 (B) 170800
(C) 18800 (D) 172800
2sldtons

od I IL o
x5 exd
e T

33 18

3 2y
29F VY3 = 383

4o
Y
o

No
T

983 —> 355600
| —> Yoo
ysR—> l.loo)ﬁ'-l':")z‘
= |FA8e0
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Mother's Arithmetic + Ratio and Proportion

107. Between two railway stations the fare
of 13t 2nd and 34 class are in the ratio
8 : 6 : 3. But later on the fare of 1
and 2™ class is decreassed by 16%/,%
and 22.22% respectively. In one year
the no. of passengers are in the ratio
of 1/3:1/5: 1/4. If the total tickets
amounting ¥ 94905 are sold then find

the fare of 3 class.

@S WAl & o9 v, faia ok g Soft &
TR e 8 : 6 ¢ 3 ¥ 9y 9% # yym 9
Tisira 2roi 3 forer o s 167/ ,%am22.22%
I HT G ) 1A | wew, TR g e S
Fabdi sl sl s R egue 1/3:1/5:1/4
g Al tF R R T3 T 94905 H fewe #i
farrt €Y o = =i f gefa a0t 9 feam fean

arg far T ?
(A) 16875 (B) 18225
(C) 17550 (D) 17820

;golu:@loﬂ‘%?

clys = m I

‘mrhally g 6 3
Rent
d& e 8 &_g_ GX% 3

108. A factory employs skilled workers,

unskilled workers and clerks in the
porportion 8:5:1 and the wagesof a
skilledworker, an unskilled
workeranda clerk are in the ratio
5:2:3. When 20 unskilled workers are
employed, the total daily wages of all
amountto ¥ 3180. Find the daily
wagespaid to each category of employ-
ees.

T Therd! T 3T, STHIA SR 391 FTeh i densd]
FHIUE & : 5 : 1 % SN S wogd & 3Tum S
: 2 : 38199 20 3THI FEFIRT ! BT T T
T & o o ik et ¥ 3180 ¥, i weds o
¥ RHIRT st S Heigd = S ?

(A) 2100, 800, 280

(B} 2400, 480, 300

(C) 2400, 600, 180

(D) 2200, 560, 420

Y 3
2 =
20 14
a8 -L
i S =
20 1R A
Tofed. Yoo 68 135
Fod —> JHIS™
| — 135

|as —7 18225~ L

Salutions |
' SKilled wnskilied ek
3 5 !
wagel 5 2 3
umskifed 5—-20
| —=> 4
Nowd
No. &ky  SXY Y
< 2. 3
Jéo Yo 2

,Go-l-qD'HQ\"‘ 12

2A12—> A18°
| —> IS

aas  RexBo  URHS
QLIDO 600 lgﬁ

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur é:@




Mother's Arithmetic +

109. The entry ticket at a fun park was in-
creased in the ratio 7 : 9, due to which
footfalls fell in the ratio 13 : 11. What
is the new daily collection {in Rs), if
the daily collection before the price
hike was ¥ 2,27,500?

PR TS R FgEd7 . 9%
i A afig g2 ToeRy R0 Rl @t wen o
13 : 11 % U W F4) o7 | iaig g =wen
TN FHER (T H) fre g, ot S a9
% Tgw wfed T 2,27,500 %1 FRaRE o

o7
(A} 237500 (B) 247500
(C) 232500 (D) 242500
Qo uttn >
Be_-F::.Tf'. Aftert

price + ¢+ 4

No. 3 ¢
9 39

Torte X

9| —> 2200

| — 227+Lo0
31

33 —» 29:;'!500)(33

= 4Fsve X

Ratio and Proportion

110. If by increasing the price of a ticket in
the ratio 8:11 the number of tickets
sold fall in the ratio 23:21 then what
is the increase. (in Rs) in revenue if
revenue before increase in price of
ticket was Rs 36,8007
Afg 8:11 % 19W H fohe & 7 # 3fs =t
A § A T fawel i wEn H 23:21 S uE
Y firree o1t €, W Ior= H g8 gf| (3 8) =
%, oTR fowz #t T ¥ gl ¥ w"d o=

36,800 %. #1?
(A) 21250 (B) 9400
(C) 7850 (D} 12850
g ukion s
pefore after
Pb:‘cﬁ 8 A
No. R3 ¢ Al
Tl 184 1 A3

C}\cmje. ™M a\cllb collecthon =
231-184 = 4T
Now
184 — 36800

' > 36800 -

18Y

200

Chonge coll ectom >~
200X Y7 = JYeo

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur » Gopalpura « Lalkothi » Jhotwara « Mansarovar +

Ambabari + Jodhpur * Bikaner * Udagipur




Mother's Arithmetic +

111. The ratio of incomes of Jaipal and
Rampal in previous year is 5 : 4 and
ratio of their individual incorne of pre-
vious and present year are 2 : 3 and 4
: 7 respectively. If their total income
of present vear is ¥ 29000 then find
the present year income of Jaipal ?
Tasel o Saae Ud THUYS S 7™ hE STIAR 5
4 o1 I oo a9 wd aAE 96w SR
ST TR ST HETE 2 : 3 US 4 ; 7 19k At
1w oY A wftafe st T 29,000 B A
STAYIA oh A T 5 S B § 7

(A) T 13000 (B) € 15000
(C) ¥ 10000 (D} T 9000
Q‘o\wﬁm’l%
T R
st 5 ¢ 4
L: P L: P
23 @

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur

Ratio and Proportion

112. One year ago the ratio between maruti and
ambasdor price are 3 : 4 One year ago and
present price of maruti and ambasdor are
in ratio 4 : 5 and 2 : 3 respectively Total
sum of present price are Rs 3.9 lakhs. Find
the price of ambasdor one year ago.
TF oY Ugel AT SR STeESR W) WHd &
ATUE 3 : 4 9 A UF I9 g5 WG HR a9
IS Bl HIA FI I FA: 4:592:3
%1 IfE FdHE F IR e F AR 3.9 e
€. W a9 STATST H TF 99 WS H HEq

T L |
(A) 2.3 lakh (B) 1.6 lakh
(C) 2.0 lakh (D) 14 lakh
Solutions-
M . A
st 3 ! 4
L P L F
4: 5 A3
present totad = 3 9 lakh
Present Rako
Fret s
157 . 6
1,.
s 124 > 58
Noed
13 —> a9 Lakh
| —>» =3
8 —= 24 = Praet
P
2 1 3> 2
inlaqu




Mother's Arithmetic +

113. The prime cost of an article is three times

the value of the raw material used. The cost
of raw materials increase in the ratio of 5 :
12 and manufacturing expenses in the ra-
tio 4 : 5. The article, which originally cost
T 6, will now cost.
T T Fee W % qed W1 o IO ¥ (A
el Wil ST STdeH Hed A 512 3041 5
& T I | 91 6 T 6 ariad qed el 9% H
T I B 2

Ratio and Proportion

114. The ratio of personal income of A and B of
last year is 12 : 25. The ratio of last year’s
income and current year’s income of A and
Bis4:7and 5 : 2 respectively. The sum of
current income of both is ¥ 31000. Find the
present income of A & B?

A 3R B %! sifom o+ wEva o1 W iU
12 : 25 1 A 3l B ¥ vt aifim =d ok
A Y T STAE B 4 : 7 3RS 2 %19
1 AT T AGHM T F A T 31000 B, @A

(A)78 (B)6.8 3T B #t ST 31O R ST 4 | 2
(€)5.8 (D)9.8 (A)21000,10000  (B) 25000, 7000
Dl (.CE] on . ((;) 20000, 11000 (D) 19000, 12000
SO | eludions
Raw  romfa.  Prime
Madesial cost R+ 8
1 2 - T B T S S 8
Y ¥ L P L 4
ek g gos | L e
en « A5
>24 25 E R A
Tobd = 2:4+2-5=49 21+ e
Tiven Tetd = 31
3> 6 Uliven
| —> 2 :
3
49— 98F 7 Sleco
| —> (00D
Q —» 2000
% [0 —> o000
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur @




Mother's Arithmetic +

115. Between two railway station the ratio of
fare of 1t and 2™ class was 10 : 7 and later
on the fare is increased in the ratio 3 : 4
and 5 : 9 respectively. If the ratio of no. of
passengers of both tier is 3 : 5 and total
fare is ¥ 30900 then find the total fare of 2
tier.
2 e RyA F g wow o fada Sfow &
TR & &l 10 ¢ 7 o1 ST o1 99 915 § R

Hohae: 3: 4 3K 5: 9 % s & gig @ 1 9k

Ratio and Proportion

116. The ratio of last year income of A, B
and C is 3 : 4 : 5. while the ratio of
their last year income to current year
income 4 : 5, 2 : 3 and 3 : 4. If thetr
total current year income is ¥ 98,500
find the present income of B and C ?
A, B 71 C & fusa ad i o1a &1 3179W 3 -
4 : 5 % wafr 37 fred O 3 39 9@ $
SEF AIUAFAN: 4:5,2: 3703 : 4T
I 39 T 1 Al B A 3™ T 98,500 7,

T AT AR H AT 9IS A 3 2 5 AT & B a1 C # ol IGAF 1 Fd w2
HeErar et < 30900 o % T H yra g ¥ (A) 72000 (B) 74000
fedita gl 9 ot forast formd wma gu ? (C) 76000 (D) 80000
(A)T 18900 (B) T 19400
(C) T 20200 (D)% 17300 30) ulion =
(4] Oﬂ? A R C
L I L 3 $ )
Rent- o I L.p L.P L'P
> 4 59 y:5 23 84
Fﬁtsen-‘- 3 ' _li_ v B
0 SRS x3: -5X
-'g'x 4 %XS 4+ X 2 37
s 'R0
Revt 200 : 189 el &
Paden, 3 5 Yys 1 H2: 8¢
toeo ! Jy5 Total = 133
Yo ! &3 Gliven
TD"‘U-L"‘ '03 IS:I-——‘?385°°
o { — S0
e 03 —> 303068 52— T6o00
| —r o0
63 — |8900%
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur @




Mother's Arithmetic +

117. The ratio of personal income of A and B of
present year is 2 : 5, The ratio of current
year’s income and last year's income of A
and B is 4 : 7 and 5 : 2 respectively. The
sum of last income of both is ¥ 48400. Find
the last income of A ?

A 3T B w8} et od it o s S
2: 5% A SR B+t vH=d IowE 99 3T 3ifeq
oY W STURI BN 4 : 7 3R 5 : 2 R 1A T
2 W AT S F GRT 48400 ¥, @ A Wi

sifem e T R ?
(A) 30800 (B) 54000
(C) 68000 (D) 24000
Selulon>
A B
P 2 + B
P:L PiL
b F 51K
Lestyear = %xff ' Ex2
F:y > U
Gliven
W—> Y8Yoo
I —> Y4eo
F — YYoor%-
= 30800 X

Ratio and Proportion

118. A school group charters three identi-

cal buses and occupies 4/5 of the
seats. After 1/4 of the passengers
leave, the remaining passengers use
only two of the buses. The fraction of
the seats on the two buses that are
now accupied is:
TF A 0 TF S 3 7 9IS W § SR
4 /5 e =T § 1 - Wi 9 S %
R TN AT HA 2 T TR FW § | T 2
Tar RO md @EY w7 fasr Fn st
SSC CGL Mains 2014

(A = B) 5
© 3 ©) ¢
Soludion = - Iﬂl]i
IQ=y Y Y413
5 5 S
2x4=3 TT=9 -

B ? SSC CGL Mains 2016
(Aj1:1 (B) 2:1
(C)26:9 (D} 9 : 26
_go@ onz-
B:Y=4'3
4].00: Qeo
S — 350
| —» Fo

119. In a colored picture of blue and yel-
low color, blue and yellow color is used.
in the ratio of 4:3 respectively. If in
upper half, blue : yellow is 2:3, then
in the lower half blue : yellow is

Tt ot ofR W@ 1 % Fa= | ey o iy 3
T YEM 4 : 3 % U A wEe: femar swar §
afE St fesd o ey ofiv it 1w e 2
3 w1 ¥ @ e g | fren dien foFw squa o

B!y 3 2:3=40:2l0

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur
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Mother's Arithmetic +

120. On the whole of the earth, the ratio of land
and water is 1 : 2. If the ratio in the north
pole of land and water is 2 : 3, find the ra-
tio of that in the south pole.

Trvgof geaft W i = Ut § ST 1 : 2§ qer 3l
g W T% ST 2 ¢ 3 ¥ | RO T W

T | ST Erm—
(Ayll:4 (B)4:11
(€)15: 4 D)Y4:15
Sel uttons
e W
P 2
oo ! Qoo
Now
40 1o
4 1]

Ratio and Proportion

121. The ratic of the income of Rajesh and
Pawan is 3 : 2 and the ratio of their
expenditures is 5 : 3. If their savings
are ¥ 2,000 each, then the income will
be.
T SR TS i A H I 3 : 2 9 IHE
= @l Y[ 5 : 3 ¥, 9 3991 TS Hl a=
¥ 2,000 B, T 319 FNE—
(A) 4,000; 5,000 (B) 6,000; 4,000
(C} 4,500; 3,000
(D) None of these/ T8 | FE &

Soludions—

122, The ratio of the income of Neha and
Ravi is 4 : 3 and the ratio of their ex-
penditures is 3 : 2. If at the end of
the year, each saves ¢ 2,500, then the
income of each will be

&1 SR U Y 9 1 ST 4 : 3 & 90T SR
T 1 3IE 3 : 2 § 7% 7R T8 W 9w T
2,500 ¥, T 1 9 HifTg—

(A) 10,000; 7,500 (B) 12,000; 10,000
(C) 6,000; 4,500 (D) §,000; 6,000

Solt&ioﬂ Z“

NOR

I l—l-'3)i

E 3:2

5  ASpo ! &S00
|—=> ASD0

U:a = Jojon0: F30°

R P
I 3 R
Ex 5 3
5 2600 ¢ 000
Imcome- Saving = Expend.
2 ~A000 _5__
2X~2A0 06D 3

qx-gooo = (6K -{ooo
W= 4600

R= 3% =000

P= 2% = 8000

O, ‘IF&V'MJ equal +hen

R P
Tr 5:2 =6!Y
i DER
BXP &1 =519
L 2060 ! 2000
| —> A0 D

€Y =>=)2000"' Booo

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur
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Mother's Arithmetic + Ratio and Proportion

123. A and B have their monthly incomes

in the ratio 85, while their monthly
expenditures are in the ratio 5:3. If
they have saved ¥12,000 and 10,000
monthly respectively, then the differ-
ence in their monthly incomes is.

124. The ratio of income of Gyan : Amitis 3

: 2 and ratio of their expediture is 4 :
3. Ifthey save ¥ 2,000 and ¥ 900. Find
their income.

T T AP A HT e 3 ;2 q9T =N
= 3T 4 ¢ 3 ¥ ) AR F A T 2000 gAY

A 3R B ! HIfGeh o194 8:5 % UM H & weiE

900 T F94 HW T, A SAH! 3T T Fifong ?
TIHT AIE =99 5:3 % T ° € ) afg 3=

(A) 7200, 4800  (B) 4800, 7200
FE: T12,000 3R T10,000 *T Afgw T2/ (C) 3600, 2400 (D) 6600, 4400
I B, T IR wif ST W ST e & 7 .
SSC CGL Mains 2015 Selutton s
(A) ¥ 46,000 (B) ¥ 44,000
(C) T 52,000 D) T 42,000
. ) o A
SSoluhoI] > 2
= 3
A B L
T 8 : 5 exp 4t 3

EXP- &5 : 3

Gﬂl't;mj Q000! 300

sav'mj 12000 : 10,000
IT-5 =ExP

2%~ 1000 - 5
S~ lo'Ouo 3

3~ 000 M
2-doo 2

A .
B
RYW-3éo00 = ASH-Gbeoo qQ-£000 = 8 -3600

‘EL=—|H0°0 \9&- 8K=2Q°°

31-—7‘42,000% 5 = RL'OO
Gt A

I 312
VI ¢
Y&oo

00

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur




Mother's Arithmetic +

125. P and Q earn in the ratio 2 : 1. They
spend in the ratio 5 : 3 and save in
the ration 4 :1. Find the monthly in-
come of each if the total 4 : 1. Find
the monthly income of each if the to-
tal monthly saving of both P and Q
together is IZ000?

PaiRQ,2: 1 FsuAd A E145:3
Teds@eans: 1A TgaFa g 14k P

Ratio and Proportion

126. The ratio of my earning of two con-
secutive years is 2 : 3 and the ratio of
my expenditures is 5 : 9. If my income
of second years is Z 45,000 and the
expenditure of first year is ¥ 25,000
then the saving of two years is
B ShERTT =1 A S 2 ¢ 3 W o § ek
A H 5 ;9 S ¥ 1Al A s gae A |
¥ 45,000 B A TE o H B = 7 25,000 A Y

3R Q F T w=w T 5000 ¥ vAw wI i et T —
miEE mE w1 ghh ? (A) Nill/F= =i (B} ¥ 15,000
(A) 14000, 7000 (B) 1000, 5000 (Cyz 10,000 (D} 7 5,000
(C) 2000, 1000 (D) 8000, 4000 X
Solution > Soludions
P Q P ' N
T 2 41 I 2 ! 3 —>usoo0
exp 513 Exp- 5 3
savmy 41 =5 qcpoo  YSDOO
triven &o Yalye of 230000
5 —-50D00 .
| —>=|ovo Todal. eawNINg ¥ Fso00
S = 4y Tb",tl.l EXF"‘ Fo00 0
Yooo: |00 O
‘ = T —EX
oo saymg = T P
AN-Y4006 _ 5 = SO0~ F0,000
.
- oo
- = S000 “f
£X ~ [Rooo = B¥~ S0
o= ';’-00 0
P16 =2l = 4000 Fuo0
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur 6?




Mother's Arithmetic + Ratio and Proportion

127. The ratio of expenditure of A, B and C
is 16 : 12 : 9 and their total income is
¥ 1530. Find the share of B's income,
if they save 20%, 25% and 40% of their
income ?
A, BANCFEH FHeHUQ 16 : 12 : 9 Taen
S9! o 3 ¥ 1530 ¥ 1 9fE & wHen 20%,
25% T4 40% B F=a B €, W B H o

Fid i ?

(A) 490 ' (B) 475
(C) 480 (D) 520
Solubions~
EX 'F S - 5

A 16 26% = V5 ~>1
p 12 2s% =L

- =£
C. 3 Yo0/o 5
Tkl ineme =|S30

Newd

L =S  Exp=Y-rle
5 L I—~Y
I = 5—20

_L.:.-._§_ E)(P: 3=l
LS | —> ¢
T = 4716

2.8 Exp= 3—~>9
S I P {—>3
T = s-7is

Total T= 2eH&H 1S = s

B= 1530 xl6=48o X
7|

128. Total wages of A, B and C is¥333. They
spend 80 %, 85% and 75% of their
wages respectively. If their savings are
in the ratio of 7 : 6 : 9. then find the
wages of each?

A, B g1 C &) Aoghl #1 $@ AW I333 F1 A
ST HEGL W ARt 80%, 85% A 75%
T HAE I AR TR FTA I STIIN T 6 : 9
B, O ] ATHI-HIAT TSIGH T HAS: Sl 2
(A)T¥102,3118,¥ 113

(B) ¥ 105,T 120,% 108
(C)¥85,T125,7 123

(D) None of these/ T1% § &I &l

Soludion
> xS )
o + gt RITE
t—7F
I S-S
. y.=3
36
T 9\'0—5"1"0
N ; ".:-.-L-
c 8§ F57 A'TH
| —> 9
T 4 —-36

Toted Ineome = 35 H{ot36

Gaven
333
{1
So Inceme - as-—=|o5
B— Yo >R
Cc—36—> 108

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur




Mother's Arithmetic + Ratio and Proportion

129, Ratio of income of A, Band Cis 3 :7:

4 and the ratio of their expenditure is

4:3:5,If A saves 14%% of his in-

come. Find the ratio of their saving.
ABinCHa@®m AR 3 : 7 : 4 A
FHEE B OEIE 4 : 3 : 5 ¥ TA|A I

130.

The ratio of the incomes of A, B and
C is 7 : 9 : 12 and the ratio of their
expenditures is 8 : 9 : 15. If A saves
1/4 of his income, then the ratio of
the saving of A, B and C s

A, BARC I 3mE7:9:12% 310 & § a1
STHR IS8 :9: 15 F AU A ¥ afk A oY
™ 1/4 9 T4 g, WA, B #X C =i &= )

amltl%%m’rmm%,?ﬁ?ﬂ'—f‘iaﬁww 1 ST §—
2 (A) 56 : 99 : 69 (B) 69 : 56 : 99
a&;W;ETHZTQ (B) 17 :4: 9 (53)99:56:69 (D) 99 :69: 56
(C)6:71:11 (D)37:17:9 \Sﬁlu_hong,. .
Solukions ‘ = bxp | swvmg
- 1 @ EX Saym A P 8Y  [22Y-168=58
A 3x W Ya-16= ¢
2 gx 93 93
B I A 98-2% =H
o lax IsY| €38
Yy Sy | seus-l YU -
A saving £ 1
ng =14L=L =S - -~ 3
A UAE i Y %f‘ x
- £ chven exp - 8y
I T
Unven Exp _ Yy
Nowd = HB
¥ T3x X_~ 32 puk
X - 28 WM. Y 2]
J }8 N
pudc
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur » Gopalpura » Lalkothi « Jhotwara « Mansarovar « Ambabari ¢ Jodhpur « Bikaner » Udaipur @




Mother's Arithmetic
149, There are coins of denomination ¥ 1,
¥ 2 & T 5. Their total number is 300
and total amount is ¥ 960. When the
number of ¥ 1 & T 2 coins are inter
changed the total value is decreased
by ¥40. The total number of ¥ 40. The
total number of ¥ 5 coins are ?
71,¥2 3R T 5 & 3o fa §1 o9 o0
TN 300 R IRFAqE@T 960 B 1Ak T 1
et ¥ 2 o faaw! =1 9 w1 vy o w5t o

TN FATEEART 40 F FH G IR, T T

5 o Toaep! 1 W& Tasyq|
(A) 140 (B) 145
(C) 180 (D) 120
Sol udion
LS AN
No.  w-ge X z

X o +ytZ =300
214z 340 -~

x4
Total wup =360
¥X—Yo +2 X+ SZ = 960

25 5<Z

<

AXF+SE Z = |ovd ——3

from @ $@
Y HAZ. =020
_Q':Li'l"Z. -_Acmo
3z = 980

Z=1Yo

+ Ratio and Proportion

150. Vinay has some 50 paisa coins, some
T 2 coins, some ¥ 1 coins and some <5
coins. The value of all the coins is ¥
50. Number of ¥ 2 coins is 5 more than
the ¥ S5 coins. 50 paisa coins are
double in numbers than the ¥ 1 coins
and the number of T 1 coins is 13.
How many ¥ 2 coins does he have ?
fraFruage 50949, 3932, 9T 1 a@
FoIsSH o i Pag@T 50 11T
2 % fagnl F1 &I 5 & ol S 9= g 5
FgF SO M E e st v T 1 &
fomi M G F TR 19K T 1 HFE 313
¢, o 9y Sus W ¥ 2 % faem foes €

(A) 4 (B) 5
©) 6 (D) 7
SB[L&IDVIS?" F=50
I AT 5B 5oP
l Y 5 Z
BT R B2 13T
tems 13 6 (NS
Now
134 AXFBA-AS +(3 =50
T =43
X = F

Sfudy Center : Delhi (NCR) = Mukharjee Nagar »
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Alwar




Mother's Arithmetic +

131. A, B and C received an amount of ¥
8,400 and distributed among them-
selves in the ratio of 6 : 8 : 7 respec-
tively. If the save in the ratioof 3 : 2 :
4 respectively and B saves ¥ 400, then
what is the ratio of the expenditures
of A, B and C respectively ?

A, B 991 C % 8,400 W< €13 & 9t =% 38

Ratio and Proportion

132. A man spends 75% of his income. His
income increases by 20% and his ex-
penditure also increases by 10%. Find
the percentage increase in his savings.

% =fH TG ST & 75% 9 @ e g
SHH! 3T 20% &g W ¥ i swew @ o
10% 9§ I T | TR ST 99 H o wfawm

‘e = ?
399 H AT 6 : 8 ; 7 % I H e A ¥ (A)E%;of (B) 50%
ﬁmwwwm:3:2:4%ﬁm (C) 15% (D) 10%
B, T 400 F=RIE, AFH: A, B C F 3 | osludtoms
FT AT FAT R ? = 0 " P
(A)6:8:7 (B)8:6:7 I oo 24 (20
(C)9:14: 10 (D) 12:7:9 Ex 4o WA 82.5
So A0MS
S a5 35
_ 125
T ¢ ' S +
[ L] '9\'5 = OD,
Oiven Jotal income= yNCTCOAE= 25 X loo Ho'o
U—> &Yoo
> Yoo 133. A man spend 80% of his income, due
I to increase In his living expenditure,
his expenditure increase by 37!'/,%
€I Qoo 300 Ageo and his income increase by 162%/,%,
' then find his present savings ?
2 Yy F¥E Al ST S T 80% T wen €, Frate
CRENC e g O & wrorvan w371 %
. Ffg €t & qun ST o™ H 162/ ,% Wt gfs
B Sa‘umj 2—r 400 ot &, 59 SHRT I GAHM Hod ch:-ﬂ g2
| = 209 () 5°/,% (B) 55/,%
(C) 62/,% (D) 6/,%
S 600 460 8o0 2oludions [62. . 1=1F
— 3 ¢4
© e
o0 2800 2060
E)ﬂ’. ‘8 A T 600 Foo
g : ly e {80,
EXP ygo ——>-YeoxG-=&ke
= JR0 40
nat= A0 _xjoo= 52%
&wrg /. Zoo X 2
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur @ﬂ




Mother's Arithmetic +

134. The monthly salary of a man was ¥
13,500 and his expenditures were ¥
9,000. Next year his salary increased
by 14% and expenditures increased
by 7%. Find the percentage of his in-
creased saving,

Tt =i it witess @ T 13,500 of au Swe
= T 9,000 o) 7T TN SR 31T 14% =%
T q SEH = 7% 9% 4T SR gwd §
e i d-
(A) 29%
(C) 30%

Fion s
T

(B) 25%
(D) 28%

le

13S0

==

Exp = Joovo

Sa¥ng = 400

Nextyeare
T = |350ox—l%f°— = €290

EXp = goao?(% = 9630

saymy = 6o
\ ‘o caving = 1260
mevesae 1N Saving qsooﬂ""
=28 %
(h ‘
k) T = [3S00 3oow3"|9\

Exp=~ 3500.*—?200 _'-'-‘lj_$ PAL

6“""'}) ~4YSO0 — |66 — |A8
— 1

28°%, T

T 2016 H 5 : 4 § 175 2016 B A =Y 379 2015
= gEHl H 50% SR ¥ A9 B W 3™ 2015 H,
2016 Y gEAT H TR A SR T ?
(A) 45 % (B) 33
(C) 5% (D) 35
Selution
A B
20 4+ S 2
st 5 qD T,.‘g"'xm
& ' - Y4-L-9:1
2006 5 4
g - [}

Ratio and Proportion

135. The monthly salary of A, B and Cis in
the ratio of 2 : 3 : 5. If C’s salary is ¥
12000 more than that of A, find an-
nual salary of B?
A BTNCEHFATGFITT2: 3 : 5% U@ A
B4l C 1 Tifgw 3T A % wifees ST @ T
12,000 =1fems B, O B 1 a1fies o B0 -
{A) T 1,20,000 (B) ¥ 1,44,000
{C) ¥ 1,80,000 (D) ¥ 2,40,000

So]g_:_?g' (X1l-g

A 2 c.
L 3 3 S
v/
3 —|Asc0

3 —> tRo00A 1R
= ), 4y,000 L

136. If the ratio of income of A % B in 2015
is4:5and that of in 2016 is 5 : 4. If
income of A in 2016 is 50% more than
that in 2015, then find income of B in
2015 is how much % more or less than
2016.

AR 201SH AWM BRI AA B TAARA : 57
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Mother's Arithmetic +

137. A's income is ¥ 140 more than B's in-
come and C's income is ¥ 80 more than
D's. If the ratio of A's and C's income
is 2:3 and the ratio of B's and D's in-
come is 1:2, then the incomes of A, B,
C and D are respectively
AT I B FH e A T 140 fim 3R C
1 79 D * ger § T 80 v 7 1 afk A SR
C =t 19 1 9 2 ¢ 3 R U B R D =)
FMEAIIE 1 : 28 WA, B, C3RD =
ST AT BRI S8SC CGL Mains
2016
(A) ¥ 260,% 120, T 320 and T 240
(B) ¥ 300, ¥ 160, T 600 and T 520
(C) ¥ 400, T 260, T 600 and T 520
(D) T 320, T 180, T 480 and T 360

Sofukion >
A—B =140
c- = 8°

A B c I
25 Y 3 AY

2¢-y =40 -— 0O
3x-3y =8 -3
from @ p @

Uy~ Ry = 28°
_3x- 2y = 8°

';(_-:..9\_00

A B ¢ D
400 260 600 S%e

Ratio and Proportion

138. The ratio of the sum of the salaries of
A and B to the difference of their sala-
ries is 11:;1 and the ratio of the sum of
the salaries of B and C to the differ-;
ence of their salaries is also 11:1. If'
A's salary is the highest and C's is the
lowest then what is B's salary (in Rs)
given the total of all their salaries is
Rs 1,82,0007
A 3R B % 959 % 90T 3 S99k 90 % SYat @
M@ 11 : 1 § 3R B iR C % 984 & 9m ik
TR AT F I A eI ot 11 : 1 §i 9N
A T IO TIH TAGE § SR C HT AT HEH FH
g, o1 B % 907 (T ") ¥R, SHR Fet AaT

1,82,000 % ®7?
(A) 72000 (B) 60000
(C} 50000 (D) 86400
Solutions

AT I B C
A-6 | A

¢ 5 5
B ,;J‘_'_ ¢ ¢ 5
B-< 3¢ 30 25

91— 182600
| =% Aobovo

as Scxlax:j 3o —>- 60,000
lI_F %k

As Salqrﬂ = 86X 00D
= :F-R’QC)O

Cs ScuchLJ = 2EXA000
= 5o 0bo
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Mother's Arithmetic +

139. The salary of the person are in the ra-
tio of 3 : 4 : 5. In which ratio the sala-
ries of first two person must be in-
creased so that the new ratio becomes
5:4:3°7
WA A AE RIS ¢ 4 : 5 7, T A=Y
oM & =fEaal Wt o w e orwma H agrn
T o 7 STUE 5 : 4 ¢ 3 W =X

A)2:1 (B)1:3
C)3:4 (b)2:3
Solakion >
A B ¢
I 3 4 =
5 4 3
9 ) 2 | K
2s 20 &
|16 &
A}

Ratio and Proportion

141. A bag contains ¥ 1, 50 Paise & 25 Paise|
coins in equal number If the total'
amount in the bag is ¥ 35, then find'
the number of coins of each type.

T 9 £ 1, 50 ¥ e 25 R F TR dE A

frfiak A games o, M S A

T® TR o R s 9—
(A) 50 (B) 20
(C) 80 (D) 40
SBo td‘(“ z
A% soP ASP
@ns 4 @ 4 1
bo ! S0 ! RE
y : a ¢ |

1T - —%_—g—)(‘i”\" T - 2o0(oMs

140. If the ratio of income of A, B& Cis 5:
6 : 7 their saving ratiois 1 : 2 : 3 and
the ratio of A’s income to B’s saving is
15 : 4. Then find the ratio of C's in-
come to A’s saving ?

ABSRCHE A5 : 6: 7 3R
TR TTAEISTAR 1 : 2 : 38 1A T 19 X
B %) == &1 o1qu@ 15 : 4 §, ar C =t &

3 A =1 w9a o STIIR T -
(A) 21 : 2 (B)21:4
(C)23:2 (D) 23: 4
,5_o|c_;.£go*n?
A B C |
AsI _IS
I S X g.s Y
s 1y ay 3Y | 1= _x
IS
Cs ome _Fx . Al | %« -3
Assumg O voR

142. A bag contains coins of denominations
1 rupee, 2 rupee and S rupees. Their
numbers are in the ratio 4 : 3 : 2. If
bag has total of ¥ 1800 then find the

number of 2 rupee coins?

TH F1H U T, & T AR O 9 o faees
¥ e demslii wr g 4 : 3 : 2 319k 3
T @ T1800 ¥F faar T A T 2 F gl +1

e feat 272
(A) 270 (B) 230
(C) 180 (D) 210
| Soleckions-
I+ 2% 8%
No. y 3 ' 2
T Yy : 6 e
2 ¢t 3 ¢ 5
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Mother's Arithmetic +

143. A purse has ¥ 34.5 in the form of 1-
rupee, 50-paise and 10-paise coins in
the ratic of & : 9 : 10. Find the num-
ber of 10-paise coins.

(SSC Mains 2017)
T 1E, s0 R AR 10N o S wuH

6:9:10FIMIEMAT345TI10 &
Toaeni =t dEm 9| i |
A)10 (B)30 (C)20 (D} 40
\Sou;élo
I¥ Boep IO P
No. ¢ g ‘o
=4 goop: Ysop ' JooOP
It 8§ ¢ AT
23— 34S"
23 ‘
Coms =30

Ratio and Proportion

145. A box contains 280 coins of one ru-
pee, 50 paise and 25 paise. The value
of each kind of the coins are in the
ratio of 8 : 4 : 3. Then the number of
50 piase coins is :
w1 H 280 foF T o4, 50 89, 25 TR %
TUHE AR TR TS : 4 : 3F AR A B @

50 99 & To=enl = e O w7
(A) 70 (B) 60 (C) 80 (D) 90
Soludion >
I seop  2sP
I 8 'y 3
Mo.coms 8 ' 8 1R
2! 2 '3 FF
coins= A80 xp - go wms

:‘_.

144. A bag contains ¥ 1, 50 Paise and 25
Paise coins. If the total coins are 480
and the ratio of their amounts is 2 : 3
: 4, then find the number of 25 Paise
coins.
widzl, oA s WS Hr g afe
7 H gt 480 Toeh § A9 T T STHIRI 2 1 3 :
42 25 ¥ ¥F faaw) = e Tt —

(A) 320 (B) 300 (C)240 (D) 270
Soludions
| 1T Sof 2SP
L~ a3 ! %
Noe com At 6 ' |6
s '8 FIA

coms= 152 = 4oxB=320

146. A box contains ¥ 56 in the form of|

coins of one rupee, 50 paise and 25
paise. The number of SOp coins is
double the number of 25 paise coins
and four times the number of one ru-
pee coins. How many 50 paise coins
are in the box ?
T A T 56 I F FIH 1894, 50 F T2 25
9 & faer T 1 50 9 & faas! & dem, 25 99
% Taaes! St FEAT | <A € 991 1 T & Tl
B =i B A sitem § 50 99 % fopa Tap €2

(A)66 (B)64 (C)56 (D)60
Selecfton &
| & Sop as?P
Ne. 40 4 2
g loop ! Re0P I SPP
n t L| L +

sop amls > SEXU=3R%E - -€Yen
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Mother's Arithmetic + Ratio and Proportion

147. A bag contains 220 coins of T 1, 50
paise and 25 paise. If the value of coins
is T 160 and number of T 1 coins in
the bag is three times the no. of 25
paise coins then what is number of

50 paise coins in the bag ?

WM AT 1, 50 9 R 25 §q & 5o 220
faeeh € 1 afk T ol 1 5a o1 T 160 B aen
FTA T 1 F Foanl &1 9em, 25 W F fasml 9
e 1 A TR A I H 50 T % P fean
T €1 ?

(4) 60 (B) 63
(C) 65 (D) 56

Ej uhion s
Tt l oms = 220

Totald UP. = (6o

|1& SOop  ASP
No.  3x Ade- i L

8 220-4K A L0
T T T2 t 4

12 +Yyo - 8 X +X = &40
S =200
K =40
SOP oins= 220-Y X
= 220-60
= 60

148. There are 97 total coins of ¥ 1, 50 p
and 25p denominations in a bag. The
total amount in the bag is ¥ 4750,
What is the number of ¥ 1 coins if it is
known that the number of 23p coins
are 116.66% more than that of ¥ 1

coins ?
TEATHT 1, 50 49 3ik 25 §8 % 97 fa=rh
FIMAFAT47.50 %, a3 ¥ ©H T F
foer <t O wase afg 25 %9 & foanl @it
HEA T o9l & faaml o 116.66% ifirs 8
(A) 24 (B) 21
(C) 26 (D) 22

o ch‘lb‘ﬂ?‘

' - ' =
NG g =1L d=F4

2S P
13 %

IE  SoP

No . et 939K

62

I

(937190 3%
2 Y

Xt (ﬂ;?\_ql) +l§¢’<_ =4%5o

2% -HIY-381+ 18%= (30
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Mother's Arithmetic
151. A, B and C have some coins. Seven
times the coin of A is equal to 5 times
of coins of B. Where as 6 times the
coin of B is equal to 11 times the coin
of C. Then find the minimum ne, of
coins A, B and C have ?
A, B @R C % 9 53 faas T 1 A & faal =1
TR A1, B ¥ 7 et 1 5 R | wEiE B %
Taaert =1 6 A1, C < faashi %7 11 A1 & SUeR
Z1 A, B R C ¥ 19w R FH T HE

fasr €7
(A) 156 (B) 174
(C) 120 (D) 348

Shudion® —p- 58> A:B =5
B= e 3 Rie=i6

ARIC = 55:FF 42

AtB+C= Y

—

153. Total 469 coins consist of ¥ 1, 50 paise
and 25 paise coins whose total amount
is 280. Find the no. of coins of 50

paise.
T T4, 50 39 ud 25 Y ari 469 faws €,
forrent 7o9 T 280 ¥, 50 W & faaw =t dem

BRI ?

(A} 180 (B) 182
(C) 186 (D) 198
Y e

=L Y4 Z= 469 -- Y

WX +%- = 28 P YurRy+2- 10y
eq’! y ~ Q)
ax4y - 651 P 651-3x=Y
y will be infegorify =180
x=isF Z=132
yalue of %3 pr.oxe satisty theed®

Ratio and Proportion

152. Rakhi has only ¥ 16, consisting of 10
paise, 20 paise and ¥ 1 coins. The ra-
tio of no. of coins of 10 paise and 20
paise is 6 : 1. The minimum no. of T 1
coins is
e % I 10 9, 20 9 3R ™ @ ¥ 3o
fremR T 16 ¥1 10 38 aar 20 19 % fowei =
ATAE 6 : 1 ¥, @ T 1 % el = ~Fma g
HATEY )
(A) 4
(C) 12

§o|h:ﬂ-'im'-2
{0 Pdlse_ 2P
8

(B) 8
(D) S

i<
630 Y
ATSs,
G, A4+ y =16
e +5
- 8%
NEL ﬁ‘g._
we gek Minmum ilegrak
vedue ofy f x=(o

Y

50 no. of colns of <o PG‘AStf- 180
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Mother's Arithmetic +

154. Suresh Rao Sir cash of a cheque of
600 from a bank. The manager of the
bank gives him total 72 notes, con-
taining ¥ 10 note and % 5 note., Find
the ratio of the number of ¥ 10 note
and ¥ 5 note.

T U W WH T 600 1 5 YAE B | SR
IUF 1 F YA H Fae T 10 A AT S
=T e, forent o faemme e 72 &, 2w R 1 7
10 % el T TS H T 5 F AL H e o
ST E—
(A)1:2

(C}2:3

Solu-{l&n*-i—

(B)2:1
(D) 3:2

5 <
J

lo <
oL
xtYy=F2 -~ 0
Gl vex

loX+5Y = éeo°
_B%+ 5y =360

5% = 240
x=Y48

Ratio and Proportion

155. A bag contains coins of ¥ 1, 50 paise
and 25 paise in the ratio 2 : 3 : 5.If
the total value of these coins is 228
then the number of 50 paise coins in
that bag was
THEFH T1, 50T uF 25 M HFfaah 2: 3
(5% UM H ¥ AR 3 o pa eu T
228 ¥ a1 58 ¥ ¥ 50 Y9 % forae R 92

(A) 144 (B) 124 (C) 112 (D) 96
goltdions
T 1 —?':i REP.
No . 2 3 =)
)
2 5 T
8 6 5
13— 228
| —748

Sep —> Yux3= 4y

156. Three persons start walking from A to
B. The ratio of their speed is 4 : 3 : 5.
find the ratio of their time to reach at
the point B?

7 oafe T A 9 v B % fa isa v €

ST I 4 : 3 : 5% U § 1 9% g B

W YT § o 1 o/ 999 &7 ST ST

(A) 10:15:13 B)j2:3:4

(C)15:20:12 (D) 16:18:15
Selutisnz>

Y = Y

Y = b8:2y
21

-

Ir 1Ic i1

4 3 5
S Y S LeM=60
T £ 3 5
T 15 20 &
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Mother's Arithmetic +

157. The distance covered by three cars are
in the ratio of 1 : 2 : 3. and the time
taken is in the ratic of 3 : 2 : 1. Find
the ratio of their speed?

T HRIERI1 : 2 : 3 % STu ¥ g0 TTH T
AR AN F A B TR 3 : 2 : 1 |, T TR

T I AT T
(A)3:9:1 (B)1:3:9
C)1:2:4 (D)4:3:2
Soluttan >
2 ! 2 3
T 3 2 |
Distemce = speed xtime
Distence
Speed = — —
P +ime
Now
Speed L 1 3
SPe_Co\ | 3 3

Ratio and Proportion

158. Speed of a steam engine is 24 km/hr
without any wagon. The decrease in
speed of engine is directly proportional
to the square root of no. of wagons at-
tached. if 4 wagons are attached with
engine speed becomes 20 km/hr. Find
the max. no. of wagons engine can carry?
o forelt fo=at & T w9 $59 =1 =9 24 el
U ¥ ToF w1 A A w few Wt gt &

T T § oTR 4 = Wi fyu Sy @

= 20 femver ww W ¥ T w0 TF 9w

T TRl | s T foss o o0 gpar 7

(A) 144 (B) 142 (C) 143 (D) 141
Selutions

speed of engine = 24 kealhy
lek Reat d TR =N

A3 ™
AS =KW

8
K=.é§_

5 "
f we odd 4 Wage™)
speed of Hrain = 2 kenlh

y _ A4
39 ~Nn
NI PN

m = 14y

qu.wajoﬂ = [4Yy~1
= 43
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Mother's Arithmetic + Ratio and Proportion

159. An electric engine can run with speed
of 36 km. /hr. without compartment.
Decrease in speed of engine is dirctly
proportional to no. of compartments
attached. It speed become 30 km./hr.
when 9 compartments are attached.
find maximum number of compart-
ment that engine can carry?

T frgm wfe 50 @ % fa=s6l ¥ TR 36
./ 1 9 & e TR R SN W R A
HAT W H TR T TEsEl Sl "e & wigE %
HAART ¥ 19 Te=ali & e s&eht wifa 30 fHwl
HeT §1 9 ¥ 1 sl 1 Afrsham S T it
ol gor @i gerar § 2
(A) 324

- (C) 323

S0l o>
ASLn”
AS =Kkn

mn
i A8

(B) 322
(D) None of these

—

———

~m

R}
& TTfa - 3kl

™M aX wajo'n = 24|

el

= 323

160. Speed of train is inversaly proportional
to the square root of time to cover a
definite distance. If it takes 4 hrs. to
travel with speed of 40 km./hr., then
what is time takes to cover same dis-

tance at speed of 60 km. /hr.?

ferelt Ty < =1 99 A el TomEl Bt =T
WM A TG % A % SgRHART § | 9t
40 TEet. /s F =E W 9e W 4 b S 9H
TR ¥, W =T g0 A 60 el sHer wt = 9
=M R T v e ?

7
1- hour

7
o (B) 2; hour

(A)

{C) 5% hour (D) None of these

| Solution
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Mother's Arithmetic + Ratio and Proportion
161. Bus covers a certain distance at con- | 162. The height of Rahul is directly pro-

stant speed in certain time. Speed of
bus is directly propoertional to covered
distance and inversely proportional to
the square root of time taken by bus.
If bus covers 60 km. in 4 hrs. at a speed
of 40 km. /hr., then find distance trav-
elled in 9 hrs. at speed of 44 km. /hr.?
T w9 forsht ffvem gt =1 w v e © T
g g Wt §s9 #oafa 99 @ e g %

FUEEET 9T q9 g N W & e §

portional to the square root of his age
what will be the height of Rahul at 16
years, if he is 4 fit tall at the age of 9
years ?

TG 1 S SHD! 3H T FA W W AAIH
£ 16 WS 39 B g B TR T BW, IR

oE 9 Hiel i W H 4 TRz =1 §72
(A) 16/3 ft. (B) 12/3 fit.
(C) 14/4 fit. (D) 18/3 fit.

A € 19 79 60 TR wH gl 40 Rl | o6 [ dton S
W T4 R Tmed s mwae4d

el e 1 =Tt R © W2 3 Foee o T T 2
(A} 70 km. (B) 89 km.
(C) 90 km. (D) 99 km.

Solution 2>
LD

1
ST
K 2D

T
_ 8t
D

=

h
e[fﬂl O
Il

g-l-['o)(\lq' = ”_“Lﬁ_

D= Y4XJIXéo
Yoxly~

D = YY4yxaxée
Yo X R

D = 99 Km
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Mother's Arithmetic + Ratio and Proportion

163. Excise duty on the production of goods is
inversly proportional to the square to the
no. of goods producted. A company pro-
duce some goods and pay tax in the form
of excise duty. If company divide goods
in4:3:1 and pay tax individually, then
gives is 6670 more. Find the original tax
amount company pay.

FEGI & ITEA T IR Yook FEgH i Scqnad
Hem % ol ¥ SgERarIIRt S 1 HE wer
To aEgl B STET HE T AN Y TP W
ITEA Y & T H S UG § ¢ A q€ HHAT
Jcurten oegedl Y "Wem W 4 ;3 ;1 # wiew
FF ST TR Q A1 59 6670 THC HA{Heh <
= | TF HITHC T T 98 Thad TI0 F+ R

164. An eclectric train is going with the
speed 40 km/hr and its electric pwer
is thrice of friction force. When elec-
tric power is twice then due to any rea-

. ) 1 ..
son its firction force becomes 15 times.

Find its current speed.

oF fau@ &9 40 foFfiee =0 ofg | <1 @ €
I faga wis 98 59 € W9 T ¥ ) 5 SEE
faerda vt = < fpen = ® 90 7Rt wroe

TEET O4 W T § 1% T YR R | T SR

g FME?

2

(A) 525km /T (B) 50% km / hr

?j:[){;l'oﬁﬁT 3 550 ©) 53%1«11 /hr (D) 40 km,/ hr
Yo ()% Soledtons~
<plodions- Sl Gl b |
D d Y J Speenl porocit Bactien €
Excise ""*j square of g-p. 4o = |
ExXD O\fN'-E‘ J{ il-?L_
=< ? ¢ 3
TN %
4 x5
y: .\ —> 8 Gx%-_ 1
k1K s K _tl%q__ =
rACT. W pacoc 3 = speed Yo
L +_§-—+LT- ""cl% = (&Fo Phuet 4 = speed = 15
6
| = _&’_-535%!1
Aokt 64l +SHR-IK _ ol 3
XL
o= 16X 36 Xie
_lexaexie _ ap
ExD e 3 < B
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Mother's Arithmetic + Ratio and Proportion

165. A diamond broke into three part, the

ratio of weigh of three partis 2:3: 4.
The price of diamond is directly pro-
portional to its square weight. If the
loss of ¥ 52000 after breaking diamond
then what was the starting price of
diamond.
T A0 3 e F g2 ) 31 A TR R aem
TN 2 ¢ 3 1 4 T TR HIF T a9 &
=1 o STEFAIART & 1 3% 3 giu e WT 52000
o1 THEH T | E1X ST T SHIET = A ?

(A) 80000 (B) 50000
(C) 60000 (D) 81000
=§o!u:Hon§°-
=
W 2:8i4y— 9
price. 4 9 |6 8l
A9 loss= 52
S A0 O
5277523

8| —» 8looo

166. A heart is broken is number of feeling
1:2:3: 4. The cost of heart is di-
rectly proportional to the square of
number of fellings. There is loss of ¥
700 on broken heart. Find the initial
cost of the heart?

T 1 & e W STF! WETE] 1 A9 1
2 :3 ;4 2 w99 warel & 51 %

TR ® 1 f&el g7 W T 700 W IREE
T, 1 et =t o e == ot ?

(A) 10000 (B} 5000
(C) 1000 (D) 900
Soludion > cf 2

SN

1n2:r3:4 —>lo

1443+ 6
30 \’_':’_.ﬁ:aSS

“To—r"Fo0
|—>I(o
feo —7| 000

160

167. The cost of the plyboard varies directly
with square of its weight are in the
ratio 8 : 2 : 1. If plyboard had beer
broken into three part whose weighi
are in the ratio 9 : 2 : 1. If plyboarc
had been broken into three part whose
weight are in the ratio 7 : 3 : 2 ther
would have been a further loss of %
448. What is the actual cost of origi
nal plyboard?

AT RIS i BT SHE FAT o6 = o ST

T g 3wt ¥ g2 9 & 5 a5 5
FAEA Y :2: 1BIIWEEAS 7 : 3: ¢
FIIW I T H g2 B[ a1 T 448 i sifaliex
Tl 26 | e W1 ) aRateE Sia Far ot ?

(A) 896 (B) 2688
(C) 1624 (D) 928
Sol udions
o< W2
G122 — 1R
R 14+ =86 yy

F13:2— 12

Hq+qHy ¥
-2 14

losas = 86-62=2%

AYy—r W48
xe ¥
Iy — Y4y BX 6
- 2@,88
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Mother's Arithmetic +

Ratio and Proportion

168. The resistance of wire is directly | 169. Ina certaintime period rate of flow of wa-
proprtional to its length and inversely pro- ter from two pipes is directly proportional
portional to the square of its radius. Two square of its diameter ratio of volume of
wires of same material having the same re- both containers is 26 : 9. Both containers
sistance and their radii are in the ratio 9: are filled in 2 minutes and 13 minutes. Find
8. If the length of the first wiere is 162 cm the ratio of diameter of both pipes.
then, find the length of the other wire, T fifvad w7 4 31 79 § e Al ot ot
Torsit R T YRR T TS % STISRAT AT A IHH S0 % =1 % WHIEIE! § qe & Skl
¥ 7 s B & Wl w5 SR €1 ¥ T ST 26 ¢ 9 T IAIM £ A 3
awd, Sl O € e ¥ W §, @ whRy aum § T 37 wferEel gR HEe: 2 ok 13 e ¥ W
iR <! fomell & 9 1 8 1 g § 1 A 5 ¥ 1 37 el ¥ = w e
¥ IR St e 162 Fh 9, & gt 9 #® (A)13:9 (B) 11:9
AR TG FS) (C)13:3 (D) 11:7
(A)125cm (B) 128 cm oludion

- (©)138em (D)118<cm ;4 q
Sdudion > PIpe gt "
= RL ) "

Rt=rs Fo>  T* B2
R= kL Time  Aamn 13 Mm,
¥2 q
Vol wmn2 26
K":»\R: .K-Q _ . -6'-2
. - L
Noetwd
9= . 8= ”
[ L AU 2L
g ot 3
S
162 L gy - 13
n oy 3
6 AX
L= I ' | =3
81 KCL*\D D-P dlam&e)(-l?)‘?)
= |28
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Mother's Arithmetic + Ratio and Proportion
170. Speed of train is inversaly proportional | 171. If a sum of ¥ 1,170 were distributed:

to the square root of time to cover a
definite distance. If it takes 4 hrs. to
travel with speed of 40 km/hr, then
what is time takes to cover same dis-
tance at speed of 60 km/hr ?

Tereit T bt &6t 7@ B et (Tl Sl =
T ST WHA o T 9 SRR ¥ | A
40 fowHY./e1 i 9 9 IO W 4 €5 T 9
ST &, A 9gl gt &1 60 ferwl./Her @l W ®
e T R 9Hg T ?

(A) 1% hour (B) 2% hour
(03] 5% hour

) LAJED'Q?

(D) None of these

SPG"—“\ =8 Twme=T

—
T ——

2

among A, B and C in the ratw 2:3:

4, by mistake, in place of %-— , who
was benefited most and by how much?

Ffg T 1170 = Ui A, B 3R C & <= et

@i%%l%wmmz 3:4 % 9w A

faafa =t w2 o 59 waifas o fea amw
frerm ?

(A) B, T 270 (B) A, T 280

(C) B, ¥ 220 (D) C, T 250
!ﬁu—fmg?

T 7o

A B C

a2t 2:4=9--
om\gm&l?

SEy L -h Lem=12

¢!y 2 =3 “"“‘(”J

e QIS £ <9 @ X3

' N 2
26 1 39 ' 52« o
S4 8¢ R+
W3+ — Iite
| —> o
95 —> 28X[0
:2\50
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Mother's Arithmetic
172. 3 555 was to be divided among A, B,

. , 1 1 1
and C in the ratio of 25 EBut by

mistake it was divided in the ratio 4 :
5 : 6, The amount in excess received
by C was

555 W A, B, ol C 3: =i ¢ orgum #

favfSasmaTdffFT e 94 : 5 : 6. °
Taanfsm = fem v & C g foret af¥n s
YIH ht T ?

(A) 72 (B) 75
(C) 22 (D) 52
Slulons
T 555
A B C
) A —I—
L L - S

s ¢ 1A L l0=3F XIS

+ Ratio and Proportion

173. ¥1320 should be distributed into three
person A, B& Cintheratioof2:3:6
but by mistake is was distributed in
the ratio of 3 : 4 : 5. Then find the
profit & loss of each.

13202 : 3 : 6 % STUE o7 =0 A,
B ik C 9 faafta frn srn =nfew, A e
A3 :4: 5% erqun § faafia foman man &1 i
T % N SR T 1 91 &g |

(A) 90 : 80 :-170 (B)90:80:-160
(C)80:90:170 (D)90:70:-150

!salu:%'tom%-
T 1850
A B ¢

o> R ! 3 6

NIRRT

3! 4y 5%
g Now
oo gq". 361 FA 182
A B T 23 . 4455
48 ! 8S PY VA
I3A—> 1840
555 —» 555 | — 16
FA —> XL <6
cay 57D =HAT 190, +80,-17F0
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Mother's Arithmetic +

174. A boy and a girl play with pencil. Girl
break pencil into two part. Boy find
that ratio of these two part same as
ratio of length of pencil and large part.
Find out in the which ratio girl break
pencil.

TH SH a1 TH oo dfae € @or w ¥
! AT B L ZHS F 9IS I T T TSR
i & For 37 <1 2wl it s, Y oY o

Ratio and Proportion

175. A policeman starts to chase a thief.
When the thief goes 10 steps the po-
liceman moves 8 steps and 3 steps of
the policeman are equal to 7 steps of
the thief. The ratio of the speeds of
the policeman and the thief is:
TF TUTT TF =R % L 9 ¥ 1 9fE =) 10
HEH FE & T AW § THeH =er § 3T m
5 hEY TR % 7 HeH & aUET § | O Seh] del

T S gFG P S & TR § | TWEH G = SR I HL
e it Forw A & drer T (A) 25 : 28 (B) 25 : 26
(A) Y5+1:2 (B) /5:2 (C) 28 : 25 (D) 56 : 25
(©) E-1:2 (D) #¢ = kSoludions o
ol ﬁma Police. Thief K p=FT
—_— Isec D 8 o -+
M 3 T 5
B O | BSHHD =+ 5
l ] -1 lpklo st SO
8 ' A5
Ke 4 A
K. d
176. A dog starts chasing a rabbit as long
as the rabbit moves 9 steps in a time,
" 1 dog 6 steps take place in such a time.
| — ] The distance taken by the dog 5 steps
is equal to the distance covered by the
' bhitin 8 . Th tio of th d
Pok x| % . MM of dogs and rabbits is ‘;;
Paxck I *® T R TH GO FND FEAYE L
— o =g o WO 9 FeH o § I8 WO o
2 - %4\ T 6 e FoTal & | TN BRI 5 HeF T8 Gl
aS GO R 8 HEa H el 12 gl % ws ¥ 1 po
}(2 % -1=0 aﬁt@@maﬁwﬁrmw%—'
(A) 16: 15 (B) 15: 16
C) 48 : 49 (D} 56 : 25
-biﬁlt? yac coludions
Doty Rabbit
|+E .ﬁ' g 53'-“—8R
IslepHD 8 5 K 5
Notd 'E?“\" o\ Tl D UB s
. Lo
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Mother's Arithmetic + Ratio and Proportion

177. A dog takes 7 jumps for every 10 | 178. There are 3 types of expenditure in a
jumps of the lion and a fox takes 12 car. Ist raw material, IInd labour ex-
jumps for every 10 jumps of the lion penditure, IIIrd is extra expenditure.
and the distance covered by dog in 5 The ratio of these expenditure are 4 :
jumps, distance covered by lion in 15 3 : 2. If Ist expenditure is increased
jumps and the distance covered by fox by 10%, IInd is increased by 8% and
in 20 jumps is equal. Find the ratio of I1Ird is decreased by 5%. Find the per-
their speeds. . ) centage change in price of car.

T IR A T 10 A % forg 7 At o TH FR AR § 3 TFR & @3 81 2, vae e

¥ T T et IR & R 10 senn & faw 12 =4 daa wot = =
e A T e o =

W EN 15 SaAr & 7@ T g F e qo S 4 : 3 : 2 ¥ 1 e @ 10% 5

! o SR ¥ THU AR 8% 9 S © 9o S 5%
wﬁ'j:a??gﬂwmﬁggﬁfﬁ b FH T FR F A HIAG W F T G2
(A)9:21:10  (B)21:10:9 (B) 4% (B)2% (C)5% (D)6%

(C)7:13:17 (D)9 :10:21 _rbetu‘c:'

Sojudions~ SRSl
Doty Lion  Fex @ RewM.  labowt  Ext

i 3 jo 12,

VA T |
Yoo 300 60

t:iwm ‘ ‘
DL Es e  32Y 198

200 ! (b0 ! AE

A 4 :3 ?\Eﬁi: = 9oo

Nowd Q:ﬁi:\?ﬂ_ﬂ‘ = 9854

2 L F

T lo 12 J\Q{I‘ =T - 5

A % 3 o= 59y oo
2l ¢ o !9 Jee

= Gufoﬁ\
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Mother's Arithmetic + Ratio and Proportion

179. In Maa Yatri Temple very dovotee of-

fers fruits to the orphans. Thus every
orphan seceives bananas oranges and
grapes in the ratioof 3: 2 : 7 in terms
of dozen. But the weight of a grape is
24 gm and weight of a banana and an
orange are in the rati of 4 : 5, while al
weight of an orange is 150 gm. Find
the ratio of all the three fruits in terms
of weight, that an orphan gets.

T T | A6 ARE § S I 6 Sl
T 39 YHR ITFNG F W N AR Al s,
F0 3R ST T ST A 3 2 1 7 (WA
o H), WY T SR 1 A 24 T IR TH
F AR T ¥ a7 B UM 4 : 5 ¥, TEE
TF =K 1 G 150 T § | T 1 i Faer

I} el < e T ST T B |
{A)92:75:43 (B) 82 :65: 53
(D) 90 : 75 : 35

(C) 90 : 75 : 42

Solukion >

g o0 O
5 A F
each x'f“ X2y
y: s
V
X|%0®
260 ! 3a0 ! |68
go t TS 142

180. Two candles of the same height are

lighted at the same time the first is
consumed in 8 hours and the second
in 6 hours. Assuming that each
candles burn at constant rate in how
many time after being lighted the ra-
fio of length 5 : 4.

< Bivafoal e T swat 3 1 Eel Jidert
8 " § it T T ST ® Safh TERT RS 6
e H gt Te v W ¥ | St R wwa g
ST TR Tl STIUN 5 : 4 TRN

(A) 2H 24M (B) 3H

(C) 4H 48M (D) 1H 12M

Seludion>

——

I I :

gH= 6H = Commen Mutkiple
Ad-M

+ + Oy aedt &

gt Ut

Nowd
AYy-at _ S_
Y-yt
qe-12k = |Ro- 2ot
gt= 2%
4=~ 3H
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Mother's Arithmetic + Ratio and Proportion

181. There are officer and Assistant in an
office. If 15 Assistant went on leave
then every Assistant has two officers,
after that 45 officers went on leave now
every officer has 5 Assistants. Then
find out how many Assistant were
there initially.

o Afew § sifemde iR Afee § 1 15 afemde
=R W &, 9 el sk o ford) 2 offieeR
T T 1 3 % 45 ofE e 9K ¥ iR o
ToF AP & o 5 e €, ot yeoma o
TR sifeade 972
(A) 30

(C) 25

(B) 40

(D} 35
Spluton >

aPHCOT HSS'LS"'CLTI'F
A B

p4s) B
ap-30=8 ~—

™ case
A-ls = 5(8-45)
A-lSs = SB-2A5
5B = AHAL - @

fiom g XS
loA- IS0 = 8D
_AtAle =5

39A = 360
A= 40

182. In an examination, the number of

those who passed and the number of
those who failed were in the ratio 25
4, If 5 more had appeared and the
number of failures were 2 less than
earlier, the ratio of students who
passed to the number of students who
failed would have been 22 : 3. Find
the total number who appeared at the
examination.

Tereit whian & o 29 9TE Bt W& B I
il B "EAl A seae 25 ;4 o) 1fg 9 iR
sifep = waT < St A e B T 51 He
2 w7 T, T 9% AW 22 : 3 Tar | vdan |
27 S B G T—

(A) 145 (B) 150
(C) 155 (D) 180
Soledion =
Pt foll  Tofed
5% Yt SNES
y-2  AJK+5
22 3 25
N 2 g
29%+5 A5
ooy —5e = 8HK HS
13w =65
= 5
80

Tokad N mbe who appeaxed
7 A8XS
> U5
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Mother's Arithmetic + Ratio and Proportion

183, in an examination, the number of

those who passed and the number of
those who failed were in the ratio 4 :
1. If 35 less had appeared and the
number of failures were 9 more than
earlier, the ratio of students who
passed to the number of students who
failed would have been 2 : 1. Find the
total number who appeared at the ex-
amination.

fereht odtant F Sl g9 @ wheatEl W "en
gl ¥ A witantidal =t 4 T o9t AR
et it Hem TEa @ 35 HH ERT IR S
T T 1 Hem 9 ifes gt | Skl T |
T STT0 S Ay wenffE o 2 ¢ 1 T e
T | ot Tefef wl wen g 2

(A) 155 (B) 158
(C} 160 (D) 165
saluﬁon%-
Sl o7
p £ T

l-l?( »® 51

2 | 3
Nowd
x4 - L
5%X-35 3
3xt AF =5X33
?\x_: 62
¥ = 31

Who appeared n Exammadion

= 5x=5X3|
- |SS

184. The total number of students in a

school was 660. The ratio of mamber
of boys and girls was 13 : 9. After some
days, 30 girls joined the school and
some boys left. The new ratio of num-
ber of boys and girls became 6 : 5.
Find the number of boys wheo left the
school.

faenea o g faentéal =1 9@ 660 @t | T1g%
R TrfRdl =) e & S EE 13 1 Q A1 T
& =i 30 wigfhal 3 iR faenea 9 vaw o
R reF &R wfREl T dEn w6 : 5
= T, & e 5% fea ok A oo v
feam

(A) 50 (B) 40

{C) 30 (D) 60

| solukion >

Tb-}q_Ls—‘rqu"r = (40

c6e 22—>66°

| —> 30
13 3

330 Qo
+3po
36
&
. oo
¥
360
scheol = 390 -360
= 30
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Mother's Arithmetic +

185. In a school there were 1554 students
and the ratio of the number of the boys
and girls was 4 : 3. After few days, 30
girls joined the school but few boys
left; as a result the ratio of the boys
and girls became 7 : 6. The number of
boys who left the school is
wF fammerm § 1554 faenefl & oft wesl @i
wShFal F TS 9N 4 : 3 a1l T2 A
=% 30 Trsfwal & =% oo ¥ waw o fom,
TS ASH 1 TaeE B =K, 1Ry aswl
iR wrsfeEl o T 7 ¢ 6 g1 e o

(A) 76 (B) 84
(C) 86 (D) 74
Ssalu:ktioﬂ%-

Jotald stadent =S5y

==Y
F->I1654

| =222

a8 €66
130
635 —> 16
Now ¢ G
e
Y
812
who left school 3
888~ 812 =%

Ratio and Proportion

186. In a school, the number of boys and
girls are in Ratio 5 : 3. Some new boys
and girls took admission in the school
in the ratio 5 : 7. Now, the total num-
ber of students in the school are 1200
and the ratio of total number of boys
and giris become 7 : 5. Find the num-
ber of students initially.

T Toener # wigwl ud isiwdl wi S @l
ST S : 3 %15 7 F oA H HAY: FO AY
wsF @ W€ wefRd i faaea ¥ A gen
ot fomme | ot faenfidi w 9= 1200 A
T 3R F5 @S IR wefrdl F1 Sgaa@ 7 ;5
B T @ A faenfE F amiET @ Ted oa

Terenfeat =nt SEa ot
(A) 900 (B) 960
(C) 920 (D) 1000
Solutions~
R G
5 3N
Sy G~

Tohad Bxtsy SIY

No

1200

A\
4 5
¥
Foo KEao

Nowd Bx45Y = oo —--0
At FY~ soo---®
fom /' 0 $O

=120
o oted no- of studeds >
5X190+ 3X120

= Yo
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Mother's Arithmetic + Ratio and Proportion

187. If there are two sections of class SSC

in Mother’s Coaching, section A says if
some of students of section B will join
us then ratio of students of class A to
that of class B becomes 4 : 9, but if
some of our classmates goes to section
B then this ratio becomes 3 : 7 if it is
known that according to govt. rule one
school can take max 200 students in
one class ({including all sections) then
total number of students in class SSC.
TF Ted Hira o waees! & 2 favm 81 faam
A Feal € T T3 B % 38 3 37 A H 31
S A1 A SR B @ 3ru 4 : 9 Erm) SifEA
R FS BF B H =9 W8 @ arqur 3 ; 7 T
i THR % T SR UF e § iy
200 B (WR faur faame) § @ tHeas |§

e BE w5t W R 8-

(A} 130 (B) 125

(C) 128 (D} 140

Stludion >
At _ 8
B-x I
R—B = .i.. -
= @

Bty
e OH A+B =13
q" @ A+B =10
Tolalstadent N sechon
GEYE
30

188. If there are two section of class SSC

in Mother’s Coaching, section A says
if some of students of section B will
take transfer and join us then ratio of
students of class A to that of class B
becomes 7 : 5, but if same number of
our classmates take transfer of section
B then this ratio becomes 4 : 7, then
among option which can be a value of
number of transfers.

TS G HIte & e waaad J 9 fFam §)
SR fasm A H fa9m B § $8 915 ST T A &
B & $TUR 7 : 5 g ¥ 3 7R A ¥ wEH
TEn H B F{aW B ¥ o™ A1 A iR B W
SR 4 ;7 @ o g, fre A @ e den

g+ 7+

ZI T HF 8 Wbl B-
(A) 97 (B) 47
) 87 (D) Not possible
Su’hfc‘lf’ N
T section I sechon
A+ -:.i _———-ﬂ—x‘ - i
- 5 8+
Y
AR 12 A+l = U
AN L |
B - 51 55
ﬁ"’\ - Y % 12 = qg

I gy

NoD ppx~
_ﬂ__‘;%'-‘-_l-lg
2% = 23
o = ?\3/9\
so muihiple of 29 > 8%
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Mother's Arithmetic +

189, The respective ratio between total
number of students studying in Col-
lege A and College B is 5 : 8. In Col-
lege B, out of the total number of stu-
dents, 5/8th are boys, out of which
60% study Commerce and the remain-
ing 800 boys study in other streams.
What is the total number of students
in College A ?

i A R B 9§ wg W forentdal %1 s/qaw 5
8 ¥ #iew B ¥, Tg4 A% O &I W& Fd

Ratio and Proportion

190. There is increase of 20% in no of stu-
dents in college. According to the new
law of country, girls are exempted from
educational fee. There is 25% increase:
in the fees collected from boys from
last year, then what is the ratio of girls
to boys.
e eS| ferenfdet @ de@n = 20% St S
Rt & 1 390 % 7Y By iR st & fag
foen fr:ye X < St 3 ) e o= sHes
¢ WIgH| % HE H 25% I TG BT €, W

Tt it wen @1 5/8 71 o W 60% R F qoT # T R o E 2
¥ I sie A % o faenfidel #) g e wife) C)4:3 D) 3:4
(A) 1500 (B) 2500
(C) 1200 (D) 2000 M
B
No. 010 st. B 2. 3y 25'1.1:" ao'dl 95'%
5% 8% = 6y X8
x
& 5 “”"5 T
8RXE x YO _ gao i
8 loo TDMM RO
w= 0o = .5_ _5.
4 (YR = KxE XXX
Now
ot stedents N 2,42y = 3X
scheol A= 5X =2

= l‘lboox 5 N\ - —I?T

_ K

= 20600

v Yy =2
f:?pir -C gg{!ilrp:u?oe[hl.ia(ltlo?hlzi)- .Jh’\:)‘ﬁ:rgri'el\ioﬂsaa?c?vro: OA;!\v:’l?)robori + Jodhpur * Bikaner * Udaipur




Mother's Arithmetic +

191. Divide 27 into two parts so that 5 times
the first and 11 times the second to-
gether equal to 195. Then ratio of the
first and second parts is:

27 €Y R A 59 W Renfaa = B awd wm
P15 I SR G RIS 11 T S e 195

& TR B, A1 IEH TR IR MR 1 ST79W &
(A)3:2 (B) 17 : 10
€ 2:7 (D)5:4
Solukisns
a+b = AF
Sa+ilb=1945"
Eat+Sb =
b =50
b=1lo
a =17
a:b= %10

Ratio and Proportion

192 If¥20is added in share of A and T 25 is
reduced from share of B then ratio of
their shares become 4 : 5, If total
amount is ¥ 2165 then find share of B?

A % T § % 20 firen faw s wen B % foedl 3
¥ 25 T o o @t s+on feesl &1 a4
:SE MR AR S T 2165 3, @ B =

T’ g ?
(A) ¥1000 (B) T1500
(C) T1150 (D) T1225
ludions & g0
A B
+R6 -AS > -5
< 2l6o
A B
y: 5
6o 1400
\.99\0 +2S
3Y0 ARS™

193. The sum of T 2495 is diveded among A,
B and C such that if we dicrease ¥ 15
of share A, ¥ 30 of share B and ¥ 50 of
share C. Then the ratio become 3 : 2 :
7. What are the share of A, B and C.

T 2495 ¥ A, B, C ¥ ¥ ¥R JleI = &
e AF AT 15T B ¥ 9T T 30 T
CHF AT S0 T/ AW E, & 59
FUR 3 : 2 : 7 WSATRIA, B, C %I 31—

194, T 2186 is divided into such that if T
26, ¥ 28 and ¥ 32 are subracted from
the share of M, N and P then ratio of
their share becomes 9 ; 13 : 8. Find
the share of M.
¥ 2186 ®t M, N e P % il ¥ Wl i
srard fr afgsTr e H AT 26, T 28 7w
2 wHF e I a9 : 13:8%
AR B ST S S SN ¥ Mﬁ‘rﬁwﬁgé

FA AT FNR?
s feem 1 2 ? (A) % 575 (B) ¥ 640
{(A) 615, 430, 1450 (B) 620, 435, 1425 (C) T 656 (D) T 672
(C) 600, 400, 140 (D) 620, 420, 1400 [} = f 2\8Q
A B < a2 =>-88
- = -85 -6 ~286 5
= 20 ~&0 Z 206
< Ayee 9 ! 13 : 8
3:4A:%F c30
Goo Y00 rto0 3
+1s +ae 1S° :525
Ais— Y30 Yyso
Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar

Jaipur » Gopalpura « Lalkothi » Jhotwara « Monsarovar

+ Ambabari + Jodhpur * Bikaner * Udagipur




Mother's Arithmetic +

195. A sum of ¥ 15525 is divided among
Sunil, Anil and Jamil such that if ¥
22, ¥ 35 and T 48 be diminished from
their shares respectively, their remain-
ing sums shall be in the ratio 7:10:13.
What would have been the ratio of
their sums if ¥ 16, ¥ 77 and ¥ 37 re-
spectively were added to their origi-
nal shares?

T 15525 =1 i gHilw, sia IR s &
= T e § T =1 - ® fr 9l s
i H Ao T 22, T 35 AR T 48 FH *X
fRSuH T T 7 : 10 : 13 F sgua
T % e | =i 3% g et a e T 16, %
77 &t T 37 Sie 9N € o w1 afE =

HUAF@EM? SSC CGL Mains
2016

(A) 9:13:17

(C) 36:52:67
H Qg

soukions- T 1SS 25

A J
235 -L|8 > _,05

(B) 18:26:35
(D) None of these/

S
-22

T 1S Yo
F : jo: 13 =
Sy \Lxsﬂl;\!’ "5””{

23598 SHMo 6B
taa  +as 48
He A T3

3086 5252 6167
3¢ ! 52 6%+

30

Ratio and Proportion
196. T 500 divide among A, B and C m such

a way that 16 more of % part of A, 70
less than of % of B and 4 less than

%ofc are equal. Find part of B ?
Z500 A, BaaiC s TR siei T R A &
e & % AT 16 AfuF B & e & % 97,
70%A AW C & T & %ﬁ'ﬁ. 4 F¥ IM9E H
=R ¥ | B i feem a3 2

(A) % 300 (B) T 400
(C) T 100 (D) 200
Sofutions> <5
A B h'ih
s%%ﬁﬁuhéqg%: X2 -4

No Lek QZ;S,B ?G)

A=B=C=6K
Hx.?—g it =6K
A= (Er-W)S
BX3 FAe=6K
Cxg-i=ei (k) Fg

Notd At B¢ =500

|sk-y © +8K+2—%‘_’. +|0l<+?=3"_=_sno
k=H4og

B= @K+=(n)‘|@=(6x% +=fn)% = 260
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Mother's Arithmetic
197. The sum of ¥ 1500 are divided in A, B

. and C such that ¥ 40 is more than 2/
5 of A's, T 50 is more than 3/10 of B's
and ¥ 75 is more than 5/24 of C's
share, they are equal. Then what are
the share of A, B, C.

TIS500 WA, B, CASCNZIAF2/59F
40 AfaF &, B$ 3/10 9 T 50 Afgm q=n C
% 5/24 W 75 s ¥ aur 3 W@ o SRER
TAA, B, C o0 3TEN-Te fred =21 80n 2
(A) 600, 800, 100 (B) 500, 600, 400
(C) 400, 500, 600 (D) 450, 550, 500

solulions 2z |=00

—

A =AxZ 4o  =3ek
A = (3ok-49)X-3-

8= Bx%+5o = BolK
B= @ol( -50) 10/
c= Cx5 445 = 30K
24 C.=@ok-—ﬁ£)%ll_
. E. 2’3;5 =3bk‘J
A+3+¢ = |SPC

IISK—IMHOOK-,S%? +Y4yk -3¢0
.—-_n.lSOO

= GO'f‘Sc’o
31aK=19 ==

K= 28[5
A =Q30x2013_qt9—si_: '—‘OD

<milaxly 8-C

A=400 B=5t0 (=400

+ Ratio and Proportion

198, If 5 added in first no. and 15 is added
in second no., then the ratio becomes
5:4.If 20 and 15 is substracted from
first and second respectively then ra-
tio becomes 5: 2 .

T HERl W 9 TS W AT 5 e 1S Sig e
WIGH 5 : 4 % UM T AW F ) A’ T
wAM: 20 SR IS Aisss 5 2 &
ST Y S ¥ | QA e Fn g ?

(A) 12, 33 (B) 13, 33

(C) 25, 45 (D) 15, 40

Soladions

R—Q\O = 5

A4S =
BHs

BHS

==
4

YA +20= 5B 2A-UD= B8-F
yp-sB=55 |2A-SB= 35

L|H-SB=|'-$_
-QJ'-\ ;‘SB=';3§

2R = 90
A=Y5
B= A5

QME)) =Q5l 25)
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Mother's Arithmetic +

199, The total number of trees in forest P

and Q is 560. After %Of the trees in

forest P and 100 trees in forest Q are
cut, the ratio of the number of trees
in Pto Q becomes 1 : 4. Find the num-
ber of trees in forest Q before the cut-
ting of threes.

q we P @R Q e Ui Wt wem 560 ¥
2 g oimer P 3 3i 100 35 sier Q & e 3
T, STE P & Q # 921 %) Wemsi <1 S1ua
1: 4 B SR E IS Fed A ved s Q H e
Y W 4 ot ?
(A) 420 '
(C) 418

Solukions~
W P

mrﬁ[,%.—
PXY.

(B) 416
(D) 120

G
‘L(uofﬁlaa_
Iy

—

& -100

L

P4y . 5

Haes)
6P = Qoo
6P -F] = ~Fod = =~{V

awen P+ = 560 ~—(3

[6P-1Q] = ~foo
6P 16 = 8960
-23Q =-9660

& = Y420

Ratio and Proportion

200. An amount of money is to be distrib-
uted among P, Q and R in the ratio of
6 : 19 : 7 respectively. If R gives T 200
of his share to Q, the ratio among P,
Q and R becomes 3 : 10 : 3 respec-
tively. What was the total amount ?
T ffyea w i P, Q #iR R & #t< %AW 6
19 : 7 ¥ faafm F1 s 1 3fg R, Q = o
TR ®1T 200 ], W P, Q iR R & =9 &

STUM A 3 2 10 : 3 € 5 §, 9 || ufd

T off ?
{A) ¥ 6,400 (B) ¥ 12,800
(C) ¥ 3,200 (D) None of these
Sal eckon >~
P& K

Refe &' 19 F
N

Aflot 3 110 3
Howe P “3 No er\a:ﬂje S0

6 13 '+
Z-l-—a’?\oo
§& ' 20 -

Now
¢+3++= 32

| —> Aoco
2,2 —> A00X32

= Yoo L
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Mother's Arithmetic +

201. The ratio of the number of boys are
girls in a school is 3 : 2. If 20% of boys
and 30% of the girls are scholarship
holders, what percentage of the stu-
dents does not get the scholarship?
o oo™ 7 e qon TSiRdl &1 oUW 3 : 2
& U B T ) IE 20% TF qA 30% TSRl
1 S fHe 8, o St 9 9= A e
yfasr fmmedf §—

(A) 78% (B) 76%
(C) 75% (D) 72%
Solufions |
Bays (.m'rls
No- R A
Nhu"ﬂﬂ"_ 80
e\-sdwolq l°° leo
" 2x X ¥ )
o, = @ ",f,,;* s 0o
BY
- ':’.6",9

Ratio and Proportion

203. In Mother's Education hub, 1/5 of the
number of boys and 1/8 times of the
number of girls toock part in a camp. If
total student in MEH are 420 and the
ratio of the number of boys to the girls
is 5:2, then how many studerts did
take part in the camp?

TR UIGERN o T TSRl ol 1/5 WP e e
1/8 9T X foreit Sheg o o 1 Al MEH S5
ToremeRt 420 1, Areres S TSRS : 2 HIFIR T

o spet Torc Tarenfeleh = 3 o frem foren—
{A)90  (B)75 (C)120 (D) 96
Soltuio qu
B 01
5 2
¥

5»00 {Re

W E

6o S
Tu-}a.ls’rqden“' take povck-

N camp =45

202. The ratio of the salaries of A, B and C
is 1: 3 : 4. If the increments of 5%,
10% and 15% are allowed respectively
in their salaries, then the new ratio of
their salaries is
A,BanCHAq11:3: 4% TR H § | 9%
95 399§ wOW: 5 Wiaew, 10 i@ aer 15
Hfirer 1 gie it T, A Sk g g4 da7 fq
e 32—

{A) 20 : 66 : 95
({C)21:66:92

(B} 21 : 66 : 95
(D) 99 : 66 : 92

Seludiony
wmhal, finak
A X (o0 Ixte5
3  axie axie
C yx 106 yxis”
"e‘l»"‘“t"‘ wakio =(05 ! 332:460
= Q166" 98

204. In a school, 10% of the boys are same
in number as 1/4thof the girls and
10% of the girls are same in number
as 1/25th of the boys. The ratio of boys
to girls in that school is
T Toumeta W dSSl B Tem F 10% sisfhal
I S T 1/4 W § qdT AefRal @ HE w0
10% oSH =1 HWEAT 1/25 9N T| TSH O

il ot HEmsil & ST F491 §—
(A) 3 : z (B)5:2
©2: (D}4:3
so]udcwn-; ‘
Boy  Curls
®. Y
Now
- L
wt.%%a = 9% T
. =do = 2
g Y A
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Mother's Arithmetic +

205. Two basketsmtogether have 640 or-

anges, If é of the oranges in the
first basket be taken to the second
basket. Then number of orange be-
come equal. The number of oranges
in the first basket is :

é‘r%ﬁﬁﬁﬁsmuﬁ%mﬁﬂaﬁﬁﬂﬁ
wﬁw[é T T St T fem s

IR [N WaRI ) HEa SIET 81 St )
e S H dadl i "em et § 2

(A) 800 (B) 600

C) 400 (D) 300

50! 6N 3>

AT& o 4 ~{eus-%) +XX &
BX = 6""0")(
A= 400

206. If base and height of a cone, a semi-
sphere and a cylinder are same, then
find the ratio of their volumes?

TF Ui, T Tieng, 4R TF o0 THaaH ER
Tt ¥ iR SAH1 IR ol U WA € ) WegER

I A W ST T ST 3 B ?
A)2:3:1 B)3:2:1
€C)1:2:3

(D) None of these/ T4 & % &l
Soludions

volume of cone V= £ TT¥2h

vel . of hemisphexelys) = % N

vol. of ¢ylindex (va) =Trs*h
amnce T =h (given)

2 |

ViiVaiNa= § 14

Ratio and Proportion

207. Aaryan and Neeru have 5 chocolates and
3 chocolates with them respectively.
Meawhile Gulia joined them and all 8
chocolates were distributed equally
among all these three people. In turn
Gulia gaves ¥ 16 to Aryan and Neeru.
Since Gulia did not has any chocolate.
What is the difference of amount re-
ceived by Aryan and Neeru ? Given that
the amount was shared in proportion
of chocolates received by Gulia ?

st ol e 3 e wEe: s e |l 3 wiEee
¥ T S vfer ¥ S A T % a” dE
TER-T=R R H 8 Siwmeiel ® 92 7 ¥ 36
T A T 16 ¥ T R o e | e
T[T % T T i =iehcie T8 o | AR i e
71 T o0 TUE T ST T o, 3R SR B9Q

o1 Towm fern =1 <t T kel % IR W B
(A) 12 (B) 13
© 15 (D) 14
_So|(.d;ibﬂ':?’
Asyan Neexw (ki
8
5 3 =

Rakio of ameuwt be
dishibuded = @-%) :(3-.65)

A
19 8 —> [6

6 —> 6X2A
= |2
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Mother's Arithmetic +

208. In an election a voter can vote for 2
candidates at a time. Half of the vot-
ers give their 1% vote to candidate A
and the 2nd vote to candidate B, C
and D in ratio 3 : 2 : 1. Half of the rest
voters give their 1%t vote to B and their
2 yote to C and D in ratio 2 : 1. Half
of the rest of the voters give their 1%
vote to C and D in ratio 1 : 1. 840 vot-
ers do not cast their vote. Find the
number of votes each candidate got.
T T W TGTF AAR I & SFEER S Aq
AT ¥ 1 S Haal A T TG X T T©q TE Tq A
B,CamD= 3:2: 1% I d 7T

- et HaSIEedt W o oY B W Oe 39 § o1 oo
THAR 2 : 1 H ST d C 3R D #:33 T
Fet == Haaed # & ond C &R D w W H
w9 W T 2§ 9w Fern 840 TSI ST T
& 2 ¥ | 3w it R yoep seRar R fima-
fepat W9 W@ g ?

(A) 3360, 3360, 3089 1960

(B) 3000, 3100, 3080, 1960
(C) 3360, 3200, 1100, 1800
(D) 3160, 3000, 1000, 1100

§_L_°“2 Pesple. be =48

Ratio and Proportion
209. If 64 is divided into the ratio of 2,4, x

. 2 .
and smallest part is 105. Find x.

[E 64 H 2, 4, X % o™ R faenfeaa foem
WY, 3R wEd B fewm 10% B, ar x A B

(8) 53 (B) 6
(C) 103 (D) 20
Solukion>  smallest pack = 32

HTG\) 2
Y +Q3+_32'§; &Y
= 8o
V=15
Now these Hhree pads axe.

&xﬁsz 5 uxﬁ_g— am%ﬁ_

<p,value of smallaf paxdt = 32

210. A auto driver takes 3 passenger and

A 3 C D make a profit of 20% price of petrol is
30 Rs./litre. If price of petrol increase
24 |2 8 Yy by 40% and rent increased by 167/,%
4 and now he takes 5 passenger insted
|2 3 Yy of 3. Then find his profit % percent.
e SRR T ST T 3 TR SRR SR € 3R
6 6 I 20% T T ¥ 1@ H i T 30 Ff
FR T TR YN T T 40% e I A &F R
24 24 22 Iy 162/ Yo <1 A1 & TN 9T °F 3 T FH W WS
G Sy ST i e T SR 9
(A) 47% (B) 56%
gHEN ¢ —>- 840 (C) 662/ ,% (D) 40%
| —= [Ye Soudion> -
intial et Finad
A B c D 20 36
2306 3360 308 1960 Pot Pt‘:%t_nje:(=%t¢,,z
T T afbes mevement = 12%E =14
°ts profit= —gz—X T M1y ewAivyg =(UxS=Fo
= 66 %% "mvest ment-= 14X3=42

Sfudy Center : Delhi (NCR) = Mukharjee Nagar »
Jaipur » Gopalpura « Lalkothi » Jhotwara « Monsarovar

Alwar
+ Ambabari + Jodhpur * Bikaner * Udagipur




Mother's Arithmetic +

211. The sum of three numbers is 252. If
the first number is thrice the second
and third number is twothird of the
first, then the second number is

= et w9 252 ¥ 1 afg T g,
T HEm © Tt ¥ ofR il S, geel s

=+t - T o g dem I S ?
SSC CGL Mains 2016
(A) 41 (B) 21
(C) 42 (D) 84
Sehblon> -
3 | '.3)(23-
3 I 2 6
¢—> A5 Z
| — ASZ )
74
= Y42

Ratio and Proportion

212. If the three numbers in the ratio 3 : 2
: 5 be such that the suin of the squares
is equal to 1862 then which number
is the middle one.

g 3:2: 5 % UM Y oW w5 ¥
S T AN 1862 B, W €Y 9 S

FqqiEy SSC CGL Mains 2016

(A) 16 (B) 14

(C) 13 (D) 15
Sldionz oy, 2x £ Ex

ATY

@9%+ R0 ™ (5= 1862

ax2+4 qudt a5x=1862
="

Av =Y

213, ¥ 2420 were divided among A, B, C so
that A:B=5:4and B: C=9:10
then C gets SSC CGL Mains 2016
T 2420 fr afi A, B, C ¥ 3@ oK faafa =1
TEfHFA:B=5:43RB:C=9:10,%

" wAEE C < & T ?
(A) 680 (B) 800
(C) 900 (D) 950
Seludtens
A B:C
5:'Y4
9:]Jo
ys:86:' 4o

ATE (2} —> 240

Yo —3 AoXYo
= oo

214. A person distributed his capital among
his two sons, wife and brother. He give
half of his capital to his sons and the
sons distribute it in 4:3 as per their
age. His wife get capital twice of his
younger son. If his brother gets X
18000 then find its total capital?

TH A A @ ® S a g, T U
o A T 1 ond Wt 9E A R X AR
9 3 39 ¥ ogER 4 : 3 W Al A § 198 9
TSI T BTG U S ¥ 1 9fE SE 9 R R

18,000 fu 31, &1 sam $or Tt feat & 2

(A) T 2,00,000 (B} T 2,30,000

() T 2,52,000 (D) T 2,80,000

Sofeckions>
S 1 o
gy, 3N 3AXZ

ATS ll-' o — C.-'X_i_ GK) = lS!GDO
Y =181000

Tofel_captad= {4 |8,000 = 2 S200
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Mother's Arithmetic +

215. ¥53 is divided among A, B and C in
such a way that if A gets ¥ 7 more than
that of B and B gets ¥ 8 more than

“that of C. Find the ratio of their re-
spective shares?
I53A, BaiRCAmam e o & fFAH
B¥I7sur e s s BwIC 4T 8
arferer e € 1 =T fewdll o1 S1quW §-

(A)16:9: 18 (B)25:18:10
(9]18:25:10 (b) 15:8:30
6§fuilbn§>- A 2 c.
D % Q(—-S)
ATR bt + ®Hx-8) =53
' =18
Regurved wakio =
18+ : 18:(18-8)
25 . 1810

Ratio and Proportion

216. T 86700 is divided among A, B and C
in such a way that If A gets 1 rupee. B
get 90 paise and if B gets 1 rupee, C
gets 110 paise. Find B’s share?
T 86700 HT TR I A, B 991 C o 58 4R
Tavem foram = &, iR A i faer o e
TIT ¥ w5 B F 90 9 wrw 51 qen B = faer
ART Tk TUC & el C &1 110 37 3 2

39 a9 ® B T 9T 8170 -
(4) T 26010 (B) T 27000
(C) T 28000 (D) T 28090
lca Qo
joo o
[oood Jooo 9800
joo ¢ 9o ' 33

Qoo-[—ﬂo—!—ﬂﬂ) —> 6 Ho0
Yo ——?'_e_s_,gﬁm X390

= 29000

217.32010 s divided in A, B and C in such
a way that If A gets ¥ 5, B gets ¥ 12
and if B gets T 4, C gets T 5.50 . How
much is C’s part more than that of B?
T 2010 ¥ A, B 91 C ¥ 59 v favem T
SEfEaR A®T5 T @ B WY 12 faet
T A B H ¥ 4 fiet @ C = T 5.50 i)

_Towem & C =1 9FT B 3 W § fohaar s g

(A) T 620 (B) ¥ 430
(C) T 360 (D) T 270
Solutions
A B C
5 12
4y &5
20 ' Y8 ! 66
o + 24133

6F —> Qolo
—_ %lo = '-'[-é)
9 _G?_xQ 2

218. A man divides his property so that his
son's share to his wife's and wife's
share to his daughter's are both as in
the ratio 3 : 1. If the daughter gets ¥
10,000 less than son, the value (in ru-

pees) of the whole property is:

U sAfE ST WERTRT W TN WK fanfya
T4 7o 99F 9 9 ITh! I 3R S9! 9o &
ST A ® T TEEET ST 3 1 ¥
ofg saFt T H 39F 79 9 T 10,000 FA
Toer 9, < o waeE el o 7

(A) T 16,250 (B) 2 16,000
! (C) % 18,250 (D) T 17,000
§0u_i]°ﬂ?’ .
son ! wife ! daughtet
|
3 3 l
9 ' 3 1

AT §—> |o000

14 ——?ﬁgl_"io_xlfi

= {61Q5H0
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Mother's Arithmetic + Ratio and Proportion
219. T 34800 is distributed among A, B, C | 220. Three persons Amar, Akbar and An-

and D in such a way thatif A gets T 1
then B gets 80 paise, if B gets T 1,
then C gets ¥ 1.20 and if C gets ¥ 1

. then D gets 75 paise. Find the among
received by B.

T 34800 wmiafor = A, B, C 3R D & == d
IYYFR AR T e m s A = T | faea & o9
B® 8 M faemm &, e s@ B A1 T 1
e & @91 € 1 T 1.20 fierar & wifsed sis C
H T ] faorr € 79 D = 75 T foemw ¥ 9@
wifene o ufer uidr W B =1 fewan foramn € ?

(A) 8200 (B} 10000
(C) 8000 (D) 12000
Sodutions
A:BR:C!D
[po ' &0
oo ¢ [R0
0o 'S

2B5!'o 29118

thony agree to pay their hotel hills in
the ratio of 3 : 4 : 5. Amar Pays the
first day's bill which amounts to ¥
26.65, Akbar pays the second day's
bill which amounts to ¥ 42.75 and An-
thony pays the third day's bill which
amounts to ¥ 53.00, when they settle
their accounts which of the following
happens ?

T oEst 3T, 3TEheR & Gl 396! Tl &l
T 3:4 : 5% su # 31 W HeuT ¥ 1 37
qgy fem wr forer T 26.65 <@ ¥ ) oER g
o =t fare1 T 42,75 en Terft iR femrem o
¥ 53.00 31 %1 5= 9 A9 TR foe & o
T | B ?

(A) Amar gives ¥ 3 to C.

(B) Akbar gives ¥ 2 to Amar

(C) Amar gives Akbar¥ 1.95 and ¥2.00
to Anthony

(D) None of the above

Soledton s
sum of Palel amo'-ﬂﬂ'|' >

(2¢: 65+ 42 Fs+ 53)

ATS, = |22y
g+ —7 348oo ATE
8:}— 3 1 Y L5
2o —> 34800 x 24 |2 — (224
8% { — lo-2
- 8‘000

Amar = [0:2X 3 =304
Akbars lo-2XYy = Yo 8
axtheny =10-2x5 = Sl
50 Ama give Akbat T 113S

£ @ 200 fo Qﬂ’*hﬂw .
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Mother's Arithmetic +

221. %1655 and 90 paise are divided among
Amit, Bipin and Chandra in such a way.
If Amit receives T2, then Bipin receives
T3 and if Bipin receives T4, then
Chandra recieves T3. Find Amit’s share?

.T1655 AR 90 o6 T g, ftm sk ==r %
i 5 eRR e A i eifa 1 e Ty Wi 32
w® faft 1 T3 &R faftm =1 fiew s w74 =
ol o 23 Ty o, sfhe =0 e b e T 7
(A) T456.80 (B) ¥472.70
(C) T486.90

!D] None of these/ 398 @ #1E 72
(2]

7 amit Bipn  chandm

2. 3
Y 3
& + 12t 9

AT8, 29— 1t55 9
8 — 16559

—55 X8

= Y&£u- 80

Ratio and Proportion

222. An alloy of 17 Kg. 500 gm contains cop-
per and zinc in the ratioof 5 : 2. If 1.250
Kg. zinc be mixed with it, then the ratio
of copper and zinc is
fort Tafia =g 3 o9 oI 9% &1 S99E 5 : 2
? 1 9fg 39 Tafya vg % 17 fHm. soo wm H 1.250
femu. wien Toen fear s @ O o W=

eﬁws‘m—
(A) 2 : (B)2:3
(©)3: 2 D) 1:2
Su! bn? '
Coppext. . EINC
s 5 . 1HE % 2
e _—‘— B L
iRs ! D
+1-25
|28 ! £25
S §

223. An alloy of 200 gm is to contain zinc
and copper in the ratio of 5 : 3. what
quantity of copper to be further added
in so as to make the ratio 3 : 57
200 . Y Te THSIY A Tem AR A 5 1 3 FH
s # ¥ 1 39 fFa T dlen faemn s aifE
F I 3 : 5 T ME—

(A) 1233 gm (B) o5 gm
EC) 72 gm (D) 66 gm
Lons
Saludtons o ceppec
Roo)(% xaox-g-
(A5 +=
+2L
125 FS+%
RS . - 3
TSt 5
_ 400 =13359M.
w= 3

224. An alloy of 200 gm is to contain cop-
per and zinc in the ratio 2 : 3. If this
ratio is to be 3 : 2, then the quamtity
of copper (in gm) to be further added

15
e fas urg % 200 TR H R SR RAw 2 : 3 F
TG AR I SHUA R 3 : 2 HA F AL IFT

Taed S AT S ) wEn (I ) -
(A) 100 (B) 120
(©) 125 (D) 150

Sojudions-

coppert ‘K;TIC-

30 |&°
+3
o+ lae
got _ 3
FO 2
‘}(_r— |003m:
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Mother's Arithmetic +

225. Ram and Shyam each has 1 candle of
the same length but of different thick-
ness. Ram’s candle take 3 hour to
burn completely and that time of
Shayam’s candle is 4 hours. They both
light their candle at 11pm then at what
time length of Ram’s candle would be

Ratio and Proportion

22%7. If the three numbers in the rativ 3 : 2
: 5 be such that the sum of the squares
is equal to 1862 then which number
is the middle one.
afE 3 : 2 : 5 % UG 9 9 gend o= €
THE WA T A 1862 T, O = AT GE&An

AR 7
half of that of Shaym’s candle.
T T M T IR 9 R 9 R ARl ) A)yle (B) 14 )13 (D) 15
T HETEE § | A AAE g3 S | 3 wve (S0 ukion =
T T G T H A 4 WO R W o I I L
g1 o S0 dide 11 9 STeng e @ e
T O H D S erEs YA & HEe] 3 2 5
H S T ST B | ax ax 5X.
(A) 12 : 00 PM (B) 1 : 24 PM S o
luﬁ«‘)zzoopm (D) 2 : 30 PM Suae qy? gx*  ASX
Seluxens R 8
Time 3 U sum =238 x>=1862
speel y 39- »= T
ok ¢ e dre hows vt | o oy oy
q(lz-q%g_-— 109-3:5 3x
W= 12 he .
2 N+12-=1 25m

226. A sum of Rs. 2400 is divided into A, B,
C & D such that A got 1/3" of what
rest got, B got 1/4% of what rest got, C
got 1/5% of what rest got then find how
“much D get ? )
T 2400 Fwa wt A, B, C 9 D H 59 7R <0
st & Fs A w1 9 TR Heenl i s 1/3
RIS, G B 1 °H 96T Heleh! e YT 1/ 4
HET & e C w7 97 amsl e & 1/5 VI,

W D =i g o= e ?

(A) 600 (B) 920
(C) 800 (D) 1000

50_'@"_0“5"‘ A+B+(4+ D =&

A - L > A=IS
B4c+D 3

53 =1 = B=1A
A+D

c -1 = C=lb
A+BR+D

se = ?\3

D geds = Fo X 2eo = IR

228. For positive integers a, b & c, if (a +

2b):{c—a)=16:7and (a+4b): (b+
¢) = 15 : 8 then find the number of
different positive value of a + b + ¢ less
than 100.
a, b iR ¢ g goies ¥ 1A% (a + 2b) : (¢
—a)=16:7 % (a+4b):(b+¢c)=15:
8 T a, b 3R ¢ F fEho~ wAHe YUl WM H9e
TSRigla+ b+c< 100

(A) S B) 4
SC) 6 (D) 8
Spludons
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Mother's Arithmetic +

229. A boy appears for 5 papers, each of
" the same number of maximum marks.
He scores in each of the papers in the
ratioof 6 : 7 : 8 : 9 : 10. If his average
score in all the five papers together
was 60%, then in how many papers
did he get more than 50% marks ?
TF ASH 5 qhemell H S8 T TS & qUie
TOF ¥ | 9fE SUF Tk U & UTiE i STuR
6:7:8:9: 10 ¥ quafk wyit TR % yrain]
w1 fiTa 60% 3, @ 3 fFer I H 50%
iRl ¥ afes e fawd |
(A) 2 (B) 3

(C) 4 D) S

Ratio and Proportion

230. From ach of the two given numbers,
half the smaller number is subtracted.
Of the resulting mumbers the larger one
is three times as large as the smaller.
What is the ratio of the two numbers ?
8 G den ¥ 9w 4 € e 9=
STV ST el €, < et afters o § s e
BIE WEA 1A TR, TS SR S ST
W |
A)2:1
(C)3:2

Soll.dllb'n'%

B}y3:1
(D) None

uuﬁbﬂ?’

SeCove = 63 ,FX, 82,34, 10M

g+ F e+ 8X+INHO
G; I

Max.mfmks=ﬁ;_x

© x May Marnks
[s] s}

5o of Max Marks = %%-seﬂ_

4 papoc ANBWOL.

0
Me % H
e « H

= 33
2.

A=RY

X -2
=

231. The number of employees in Obelix
Menhir Co. is a prime number and is
less than 300. The ratio of the num-
ber of employees who are gradnates
and above to that of employees who

_are not, can possibly be :
i AER HEET § FHENE @ 9o U6
SR WEAT & T 300 § W9 &, O HEOE @t
A 1 AT S A S T T8

Y
232. From a circular sheet of paper with
their radius 20cm, four circles of ra-
dius 5 cm each is cutout. What is the
ratio of uncut to the cut portion?

T gueR e faedt B 20 |49 ® w58 s
QY. T et 4 g w1 S E, e am o A=

T T SA9RI T B |
(A)1:3 B)4:1
(C)3:1 (D)4 :3

maﬂ%l (B} 87 : 100 ._gbuil__l_&j
(C)110: 111 (D) 85 : 98
ﬁsuﬁ'”’“ unced= ¢ ced
S any |
Giraduate  Nan @, YosT- um(ze) : uT(23)
ol 88 > 183 R = 11
8+ oo 3 18X
o 1 3 221 X
S 98 3183 X
NEy 84 = lgl g
(Prime)
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Mother's Arithmetic + Ratio and Proportion

233. If for positive real numbers a & b (a >

b); = =4, then find (a + b) : (@ b)

a 3R b ¥ TRafa® WS ' 1 (& > b);

234. If for positive real numbers a & b (a > b);

a+b 16
Jarb , then find (a + 2b) : 3a + 2b

a @b Wwﬁ%m%:ﬁﬁa>b

j:Tb 4,7 (a + b) : (&~ b) F1HE I F: jﬁ=% A (a + 2b) : 32+ 2b WHAA FIHT |
(A) 1:2 (B) 2:43 A)12+ 3:4- /3
C)1:43 (D) 1:2 (B)24 - 55 : 40 + 55
. (C) 12 + /33 : 20 - /33
Solukions- (D)8 + V55 : 8- /58
- Sojution==
Ny atb  _ 16
ab
. Ja+ds)” 2 ate _ g
@—EL "4-5)2 /p\r"ab G)
SRk E GEHE)"
?\‘_, &r& _‘IB) pA 5
a _ 4t
b W43 Nat+b NI
=
Ja -db
Ho Jq - NS
atbh ¢ a-b J6 N7 -&
g+ W3 L
BT Sy
9 '3 b |
atab = 3a+2ab
yg- AsS = 8ot ss
f:?pir -C gg{!ilrp:u?oe[hl.ia(ltlo?hlzi)- .Jh’\:)‘ﬁ:rgri'el\ioﬂsaa?c?vro: OA;!\v:’l?)robori + lodhpur * Bikaner * Udaipur




Mother's Arithmetic
235. Brother C and D had some saving in
the ratio 5 : 6. They decided to buy a
gift for their sister, sharing the cost in
the ratio 4 : 5. After they bought, C is
left with three-fourth of his amount,
-while D is left with T 497, Then, the
value of the gift is :
T 98 C3R D &l oo o SUE 5 : 6 ¥ |
U wE o T Ueh SUSR o § 0 SHeh! HiAa
H 45 F e ¥ ISR F IR AR C F A9
ST FE I R 3/ 4 W = § T D H 0 I
497 T3 ¥, T SRR A F9q 30 HU
(A)215 (B) 115 (C) 315 (D) 415
(E) None of these

!e NS

2

C D
At 5a 6%
@f+ gy 5Y

5x-Uy =3 vx
wy +x

Ratio and Proportion

236. Find the fourth proportional between

6, 8 and 15
6, 8 7T 15 = =IgaiTur 7 Ffa—
(A) 20 (B) 25
©) 15 (D) 10
Salution >~
G'8: s ¢
| BX8 = (XA
ISX8 _y
—
7 =20

5‘(—. SY =~_L|H 237. What is the fourth proportional of 18,
Bl 24, 30.
5x=16Y 18, 24, 30 T SRt T FHifm—
4 (A} 60 (B) 89
an -5y =49%+ (C) 54 (D) 40
Ex-2y =4 s
EX16Y -5y=49%F
5 J 1824 1" 30! K
- A8y = YIFX5
ey - A5y =4 = 2AXBO
y=3s 18
gy = 3ls n= 4o

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar

Jaipur » Gopalpura « Lalkothi » Jhotwara « Mansarovar +

Ambabari + Jodhpur * Bikaner * Udagipur




Mother's Arithmetic

238. What is the fourth proportional of x2 —

yQ’ X+y,X—¥.
X2 -y, X +y, X —y. Sl AgLigIR 9 Hifn—

(A) © B) 2
(€)1 (D} 4
soludion =

xZ-y% x4y w=y '
Gety) (Y)
.3(_2_32

A= 1

- A

+ Ratio and Proportion

239. The mean proportion between 6 and

24 is
6, 24 ] AEATTIRT T4 HifTT—
(A) 15 (B) 8
(©) 12 (D) 13
|Selution s
AR D @S 8
¥ & = 2uxg
®K=IR

240. What is the mean proportional of

3+42,12-32
3443,12 - /32 HT AT =41 T 2
(A) 4-22 B) 247
Q) 245 (D) 6
Spjudion >
3471w 1 w2-Ja32

72 = (a+7) 12-732)
&=
= (348) Y(3+2)
o= 4(a+m)(e-5)
x> = 4(3-9
wr= 20

= As

547 (3-417)

241. T 7500 is divided among A, B and C
such that share of A is 3/7 part of B
and C together and share of B is 2/3
part of A and C together. Then find
the share of each? .

T 7500 #T A, B o1 C H 39 YR Siel T ©
frAm R BaRCHF s 3/7 wm #
IMBEIF=NA IR C F TR F2/3 9E,
W THT A fewm g Hg )

(A) ¥ 2000, T 3000, ¥ 2500

(B) T 3000, T 2500, T 2250

(C) T 2250, T 3000, T 2250

(D) ¥ 2250, ¥ 3500, X 1750

'SOIU:{‘-IOTI*?
A =5 = H3=lo
g+ T
B _ 2XZ =y BHX2A
pte 3X2 & >

ArBle =343
C.A = BxFsee =AR5 0
B = L X¥Po = 3ovo

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar

Jaipur » Gopalpura « Lalkothi » Jhotwara « Mansarovar +

109

Ambabari + Jodhpur * Bikaner * Udagipur




Mother's Arithmetic + Ratio and Proportion
242, The third proportion to 18 and 24 are

243. Find the third proportional of A2 — B?
18, 24 T AT T —

{A) 30 (B) 31
(C) 32 (D) 33
Solukpnz>
1& A4 L 24
*= AUXY
18
W= 32

and A — B.

AZ — B2 QU1 A — B 1 JovTuR 0 BT 2
A+B A-B

Aaya+B - (B) ¢ € 5

(D) None of these/ FH | =I5 &1
udion >

(R2-8%) -8 h-B) %

(A2 (A-B)
&5

@-® @6
Fe o)

A-B
AtB

1

= X

——
——

&

244, What is the third proportional of

E-l-%,q}x? +y2

¥

§+%,ng +y* o qETATIR € 2
(A) xy B) 1
- (©) =%y (D) %% + y*
Seluions

24y [T o PO A
Y H

;3(?-4.92: EEI_}&'?- o RQ"I'HZ‘ ‘A
Y

_ T Xy

A
wZty?
xY
A= 2

245. The mean proportional between 45
and a certain number is three tmes
the mean proportional between 5 and
22. The number is

45 iR uws Frfiera dem =1 Jeagand), 2 TEas
5 3% 22 % HEARA! 6 3 T § T T eed
TN T ?
(A} 24

C) 22

0

(B) 49
(D) @

ys:x:: ®:A

_——— -
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Mother's Arithmetic
246, Find the third proportional to 10 and

25.
10 ¥R 25 1 AU SUTIE TG B
(4) 2.5 (B) 62.5
(C) 40 (D) 100
Selutions-
16:25:: 25! %
W= ASXLAS
jo
A=6205

+ Ratio and Proportion

247. What number should be added to-each
of the number 103, 135, 110 and 144
so that the resulting numbers are in
proportion ?

103, 135, 110 3R 144 # yd% F&m 4
T HEA S S 91fed foh foeen afRumTeae

I HEAd, ST H g 2
(A) 12 (B) 15
(C) 9 (D) 6
Sol ution >
?

103,135, llo, 1UY

034X _ Hotx
135 +X R 8

optien &~

*=9

248. What number should be added to each
of the number 6, 7, 15, 17 so that the
resulting numbers are in proportion ?
6,7, 15, 17 U Teis & | Hiel Hen el
st =nfen foF foeer aRumesT W 5eg

ST B € ?
(A) 6 (B} 5
(©) 4 (D) 3
Soludins-
e+ _ ISTX
F+9 [F+X%
option
¥=3

249, What number should be added to each
of the number 6, 14, 18, 38 so that the
resulting numbers are in propertion ?
6, 14, 18, 38 ¥ ydie GE&AT H WHie e
et AT wifey 6 foes TRemmeaeT Jrd S

AT | & ?
(8) 1 (B) 2
((;",) 3 (D) 4
3 o!'.d'lﬂg“_?
g+ - 18X
Y+ 384X
OP%OTI %-
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Mother's Arithmetic + Ratio and Proportion

250. Find the least no. subtracted from 62,
32, 22, 12 so that they are in

porportion.
62, 32, 22, 12 ¥ & gad fha i =l ge2@
STE & S THIARY B ?
(A) 2 (B) 7
(C) 4 (D) 5
Soluﬁm?
62-1 _ 227
32K J 2 =X
option &~
H=2

All the questions in
Ratio and Proportion
have been
Fully Solved and Explained
oh our

Easy Maths with NEHRA Sir

http:/ /bit.ly/31bkhaZ2

difea a@= & fore QR BT W B W
fo? T URL Link T 20 TR FF T3 OET

Important Books for

SSC Combined Graduate Level
Tier-Il (Mains Exam)

Secan QR code for

MATHS

Practice Set

: ENGLISH

= n L1 0
Scan QR code for - :.W'L « Scan QR code for

GEOMETRY

o
Practice Set ""-3.1.7 Advanced Maths
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Mother's Arithmetic » Parinership

(Partnership |

251. A started a business and invested ¥ 2,000, Af-
ter 3 months, B invested ¥ 4,000 in that busi-
ness and C invested 10, 000 only for 2 months.
If the profit after 1 year is ¥ 5,600 then find out
their individual profits?

A 7 T TR 2000 TR T S Toar | iH w@R wg
B % 9 39 =R H 4000 ¥ @d | C ¥ 10000 w93
I 2 FEA ¥ forw oo afg o o 37§ @ 5600 T
B 11 9t T TSI TIH T BT 2

{A) A-1680, B-2520, C-1400

(B} A-1400, B-2520, C-1680

(C) A-1680, B-1400, C-2520

(D) None of these/ §9H I T T&1

Soludions
A 2 C ”
A000 Yoo0 101000
2 3 8 T
24ooo :  B6oo° 20,000 P
s 9 5
;. pwofit= Moneyx Time
AT,
(49+5 — S6eo
| —> 280
& 9 5
XA8o KRkt XA8o
,j’m 2B 2T 400X

252, Three friends A, B and C invested money in a
business in the ratio 5: 7 : 6. After six months
C withdraw half of his money. If A invested ¥
40,000 in the business and total profit is ¥
33,000 at the end of the year then whatis the
share of C in the business?
TICA, BACAEAIRAES : 7 : 6 F SUm A
TR | 6 e 918 C 7 379 3T 6= Frehres foran afe A
SR T 40000 T TR 9 aw Ty & o F Her an

33000 92 T 67 C = 9P T o 7
(4) 10,000 (B) 9,000
(C) 12,000 (D} 18,000
Solukion >
A 3 C
M 5 @ F 6
T xia xi2 X 6,6
3X6
€o * 84 ' 5Y »33
e @ 1Y N, |
AT&
33 — Q36060
| —> |oo0
Noud

¢ shate 18 > 9xlo00
= j OOO{
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Mother's Arithmetic » Parinership

253. A and B start a partnership with ¥1,500 and ¥
2,000. After 4 month C also jeins the business
with ¥ 2,250, If B withdraw his capital after 9
months then find the share of profit of B in a
total profit of T 900.

A TN B IT1,500 71T 2,000 it Y SRR o WIRERt
F 1 9R T T¥EE C 3 T 2,250 Tt Tf 7Rt =or o
I BT T R ) SR B A i 9 T W fehe v e,
T 900 F Fw Ty ¥ 4 B 7 e T i ?

(A) 150 (B) 300
(C) 200 (D} 250
Solutions
A B C
M jsbo  Ao00 225 o
T xa W XY
P |8teo 8000 8000
I A
ATY
3 — Jeoo
! —_— 800

254, A and B started a business by investing money
in ratio of 4 : 5. After 3 months A withdraw 1/4
of his money and B withdrew 1/5 of his money.
Find out the share of A in profit, if the tota
profitis T 15,200 after 10 months from the start-
ing of business?

A 9 B 7 oo SR TR fFgr g 4 2 5 % U T
U TN | 3 AT SIS A X SO S T 1/4 SR A B ¢
T GSh BT 1/5 TR e & e | SR S e ¥
10 MESE 15200 T F AW H A A T A 10 HHC |

(A) 7200 (B) 6600
(C) 6800 (D) 7700
| Soludion 3
A B
vk Yx3 5x3 sxd
=1 3x3 yx+ =4
P 33 ¢ 4S

Totol = 33443 = ¢

ATEq
o —> 159\0‘0
| —> Qo0
Nawd
A shate 18 >

33X o0
= 6600
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Mother's Arithmetic » Parinership

255, In a partnership business, B's capital was half
of A's. If after 8 months, B withdrew half of his
capital and after 2 months more A withdrew
1/4th of his capital, then the profit ratio of A
and B will be :

T i SRR F B Y 4o A & el ot 19fs 8 A A B
J R ot T5f Free it B iR IR 2 TR AR A A

Tt 1/4sn Frear il 7Y, W A @ik B W1 ey 7w

T grm 2 $SC CGL Mains 2014
(A} 10: 23 (B)23: 10
{C5:2 m2:5
Lefutkion >
A B
Lek 8xlo  4Xx8
ex2 ALY
P T 9R @ o

A3

256. Ram singh and Pratibha singh start husiness
with ¥ 700 and ¥ 600. After 3 months Ram singh
withdraw 2/7 part of initial investment and
after 3 months. A invest 3/5 part of withdraw
amount. At the end of year total profit is Rs.
726. Find the share of Ram singh,

700 39X 600 T 7 g it wftrn e smen: T apr=aaam
TR TR 3 TR R T AT S ufE W 2/7 A
freperr & 1 Bif= 3 78R & w12 Famelt 7 afyr =t ass vm
T eI g el Faa i a4 726 €, T T
Tepud w8 vod & firern =few ?

(A) 336 (B) 366

(C) 633 (D) 663

§ml&;|§ onN =

Pradi bha singh
€00 X{2

Ramain 9

Foo X3

2
X ee
~ Q00

ReaX3
5
Ao

SooXx 3

& AOXE

Rloo
&0

3730
3320

2366
Totak = 7394

ATS,
IAL —> FRE

| —— |

share oft Ramsingh =~ 366 T

FReo0
3¢
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Mother's Arithmetic » Parinership

257. Mr. Ramesh opened a workshop investing ¥

40,000. He invested additional amount of ¥
10,000 every year. After two years his brother
Suresh Joined him with an amount of ¥
85,000, There after Suresh did not invest any
additional amount. One completion of four
years from the opening of workshop they
earned an amount of T 1,95,000. What will be
Ramesh’s share in the earning ?
Z 40,000 W U5 TR Y A @F saE Y e
I T 4 T 10,000 sfaftem T 2 99 & 95 SHE
o1 AW T 85,000 F Ty A W T T TGH A5
T Al o T o | e I S 6 YRy
T FA T 1,95,000 AT W g FA ™ H F WY
=1 fewm Im =L

(A) 85,000 (B) 1,10,000
(©) 1,35,000 (D) 95,000
seludion s
Jr o
Yo 000 X| 850602
56,000 X |
goroooX|
Fo,000X|
Q0000 1 [Foooo
22 A e
Tetald — 89
AT®

39 —r l|qsoe
| —>> &00606

Rq%h s,hcutf_r- S006X 2 2
= HOOOO?

258. A, B and C started a business. A invested 1/3
of the total investment, B invested as much as
A and C together., If the total profit after 1 year
is ¥ 600, then find out share of A in the total
profit?
A, BT C 7 TR T s8R o1 o 1A I8 & 1/
3 T A 3 T T B 7 T Gl @ o A 9 C
I T & | Y 3% ST H 600 TR H AN H H A

ST R T 2
(a) 100 {B) 300
(C) 400 (D} 200
Sojution =
A B C
-~
5 % E
L -1
% ) C
2+ 3 |

ATQ
6 —> 600
| —— 60
A share W = AX oo
- 206 T
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Mother's Arithmetic » Parinership
260, A and B enter into partnership and invest in

259. A, B and C entered into a business and their

investments ratio was 5 : 4 : 3, After 4 months
B invested T 1,000 more and after 8 months C
invested ¥ 2,000 more. At the end of one year
the profit ratio was 15 : 14 : 11, then the in-
vestment of C at the beginning was

ABTNCAG AN EHAM: 5 : 4 3 % o §
fraufram 4 R SR B A1 ¥ 1000 iR FRw frgam 8
T =R C % T 2000 i 3w feg 1o & ofw A o

M WA E: I5: 14 1l A TR C A

e H Tee Fob foran a2
{A} T 3000 (B) ¥ 6000
(C) T 4500 (D) T 7500

Sel ukl‘_fg;"] >

Poofit-

A SHXIL s
B Yexig+loeox8 | I
C  3XXIA+ Revoxd|
Nota

§ox _ s
Yg X+ goeo Y

BuoX = Fo X+ 120000
|20 = (20,000
X = lo00
¢ ‘'mvestment >
SHKIA+ AvvexY
SXJ&;‘?OXI At Rooox Y

3K = @%[o6D = BFoeo &

stock market trading. Their investrnents ini-
tially were ¥ 50000 and T 45000. After 4 months
A withdraws half his capital. At the end of 8
months B withdraws half his capital and C joins
them with a capital of ¥ 70000. What should be
the ratio in which the profit will be divided at
the year-end ?

A e B et IR R ¥ a5 § | s uifhw
T s € 50,000 791 € 45000 ¥4 wE 91, A
STt et it TemTer < § 1 8 T I8 B 1o IS o
ST T 1Tt 11 e C S§ =ER™ A € 70000 e
AT | 99 % 37 H ST o ] SR T w0
(A)40:35:21 (B)40:45:28
(C)40:28: 21 (D} None of these

Solukion

A B
Bopooxl  US 026x8
25,000%5 A’:s00X Y
R00000 FLo000
+QReeb o0 g¢,000
Yooooo L 50,000
A 3 C
Yobetd YSoooo 840,000
Yo s 8y

paofit azdio = Hoiyg 6y
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Mother's Arithmetic » Parinership

261. A, B and C together start a business. Three
times the investment of A equals four times
the Investment of B and the Capital of B is twice
that of C. The ratio of share of each in the
profit.

A, B R CTH o o S SRR ge *W E 1A F
WiFammfEaR R B S e F R ¥

TUeR ¥ 2R B 1 =it C =t 95 = It ¢ 1 e H v

F e T UM sAEL? SSC CGL Mains 2016
(A)8:3:6 (B)3:8:6
C]3:6:8 {(D)8:6:3

Soluion =

8H"‘ L‘BJ B“CXQ-

A & C
Y 3
2 .
8 @ 6 @ 3
T 3A=4B
A =8
B c)
# B=2Ac
b _ 2
< i

262. A and B start an enterprise together, with A as
active partner. A invests Rs 4000 and ¥ 2000
more after 8 months. B invests ¥ 5000 and
withdraws ¥ 2000 after 9 months. Being the
active partner, A takes ¥ 100 per month as al-
lowance, from the profit. What is the share of
B if the profit for the year is ¥ 67007

A 3R B 3F1 foes U vam gE S § | 9y A wfma
TR & ¥9 o & 5 &1 A 395 T 4000 =1 9.
e § SR 8 W e T T 2000 Fam wan 1 B s
¥ 5000 Frw = & afaT 9 wEh = g@d T 2000
e ) T iR T F TR AT R S F
AufmR T 100 ST 19 T H T 6700 M EMEA

B =1 SR T Erm ? SSC CGL Mains 2016
(A) T 3350 (B) T 3,250
{C) T 2,700 (D) T 2,800
SeleHions-
A B
qbﬂﬁ?(g Sonb X ]
£oooX Y HQooe X3
5{oeo0 SYooo
28 AT
Ttal= S5
AT Qg

To"ltl-k PD'D'F'H'_ = G.:l"oo
A looT Perenth = [Aeo

. 5500

S5 —> SSeo
| —> |o®

B shate = a3 xloo
- Q00T
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263. A and B jointly made a profit of T 1650 and they
decided to share it such that 1/3 of A's profit is
equal to 2/5 of B as profit. Then profit of B is

A 3R B ¥ §q% T A T 1650 FT A g7 IR TR
fafron fFn fr @ sem s TR TR wO fr A o s
1/3 S B & WM % 2/5 ¥ % SR 8 B &1 &AM

ORI
(A} 870 (B} 750
(C) 790 (D) 850

ggohxﬁhn§>
Totd profif = [tso &

264. Four milkmen rented a pasture. M put to graze
16 cows for 3 months and N 20 cows for 4
months. O 18 cows for 6 months and P 42 cows
for 2 months. If M’s share of rent be Rs. 24000,
the rent paid by O is

IR GHATH 7 T 9IS (o 9L o | M A 16 T s 3
TIE Tk, N A 20 T =i 4 918 @, O 7 18 Tl FI 6 AR
TR T P 42 TR BT 2 WG O WO (Afg TR W ary
# M =1 f5=m T 2400 ¥, 9 T FX O =1 feww w0 & :

(A} T 3200 B} 24200
(C) Z 4000 (D) T 5400
Sojudians>

M N © v

NQQ | G ?\D 18 L' 2- Nﬂ
HXfB = 3 Y
us g0 |8  8Y
A - &
& 5
ATS,
Toted = i Y8 —> Yoo
AT® | — 50
H—> eSO
e o B BT >
XS0
B P'E‘U’F:l“-: 5 XIsv o
= S Yoo
= Fs2
lel.lpf.i\: .C gg;iﬁu?gel.hfé?o?hﬁ). .Jh’\gﬁgrgrioejoﬂsc‘a?c?vro: oA;!\v:ﬁ?)robori + Jodhpur * Bikaner * Udaipur ﬂ ‘[l@




Mother's Arithmetic » Parinership

265, A, B and Crent a pasture. Aputsin 10 oxen for
7 months, B 12 oxen for 5 months and C 15
oxen for 3 months for grazing. If the rent of the
pasture is ¥ 175/- how much must C pay as
his share of rent ?

A BINC A TE TR R AI 109w 7
WL BInSas R s faean CR 15 S s
T % fo = = & foag @) afk e w1 e T

175 &t FaEg C it e & a2
(A) T 45 (B) Z 50
(C) ¥ 55 (D) Z 60

§olu:]c'|0'ﬂ >

A ° ¢ No.
16 12 I

+ 5 3 Menth
Jo 60 Y5O

Iy » 12 ' 9
Tb"'ﬂk‘alq HA+S =35
AT6

35 — 15

| — S~

S

cpoy oy hi shate ofvent

7 9AD
-4sT

266. A, B and C invested money in a business in
the ratio 1 : 2 : 3. The ratio of the times given
by them in the businessis 1 : 2 : 3. Find out
the ratio of their profits?

A BTN CATHESNRH 1: 2 : 3% UM H ¥ T
Y1 37 5 8 TR TR R 19 1 ¢ 2 2 3 T SR el

IR T HIS?
(A)1:2:3 B)1:2:9
{C)1:4:3 D)1:4:9
s |Lhion-
paofit = Moey xHime.
ey = psof it
TIme
Time ~ m-f-r{-
Mbneg
A B ! C
My o Q!
Tme | ' A 13

Paofit = Memey x-Hme
(+4y !9
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267. A, B and C invested money in the ratio 6 : 9 :
10 for different times. If the ratio of their prof-
its in the business is 2 : 3 : 5 then what is the
ratio of their times given to the business?
ABTCATHEEUR T 6 : 9 : 10 % I ® &
STTRT-3TET WHE o 70 ST =% <o @1 o1 3199 2
3 : 5 G ITh T T STTUIG TG BTG 2

A)2:1:3 B 2:2:3
[C)1:2:3 (D)3:2:1
Seludion s~
A ' B !¢
Mng ¢ ¢+ g o
pofit 2 © 3 5
Tme 2 , 3 , B
G 3 lo
S M NI I
3 3 2

LCM Q'F = 3(3}
(2

SO
Time = &x¢ 15Xt 5x6

S Q -' R : 5

268. A, B and C started a business. The ratio of their
time given to the businessis 1:2: 3 and the
ratio of their profits is 2 : 3 ; 1. Find out the
ratio of their money invested in the business?
A, B C 1 TF =R R foran | saor F s g fed
T T I L 2 2 ¢ 3 R S T A 2
3 1 8ol % g TR TR 99 % S99 it 7

(A)12:9:2 (B)2:9:12
(C)9:2:12 D)12:9:2
glwﬁm?
A B !¢ ‘
TT™mE
lt A '3
2t 8 | profi-t-
Meney =
2,3 . '
"~z 3 profit
TIME
Leof = 12,3
- &
Ko munej =
A B 'C
2ye 8y kX6
X6 12X 3 X
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Mother's Arithmetic » Parinership

269, A and B start a business, A invest 1/4 capital
for 1/4time and B invest 1/5capital for 1/2 time
and C invest the remaining capital for full time.
How should they divide a profitof ¥ 1140 ?
AYRBTETAIETEE, AT H1 1/4 WM, 1/4 A7
F Forg oeTen 2 iR B s 175 W, 172 w94 & fag
AMC I FA WA F AU T E 17w T 1,140 T

Fol T Fope wE | ?

(A)9:4:7 (B) 11: 14 :37

(C)7:11:44 (D)5:8: 44
Solukion s

f 8 c
Money -'-ll_ —E_l.).—- : Rc‘ma.mma
Time. -f,— —fl,: i
Y

.y s BT COMMON malkiple= 2o
2o 18 torted @P."l'ﬂ-k

A & © Meone
aott; aovk R J
= Y I ‘

1 2 L‘i TIME
5 : 8 'Yy pwfrt

270. A, B, C start business, A invest money for 4
months & claim 1/8 of the total profit & B in-
vest money for 6 months and claim 1/3 of the
profit while ¢ invest ¥ 1,560 for 8 months. How
much money A and B invest ?

A, B, CRERUIE®WE, A, 4 AR % fog faws &
A9 H T B 1/8 T HIH ¢ AR B, 6 AW Tag
o e € A @ T 1 /3 Wi S € w=in C, 8
e ¥F fae ¥ 1,560 wTFRu e 1A &R B =1 § o

i 2
{A) ¥ 1,500 (B)<¥ 2,000
(C) ¥ 2,500 Dy 1,700
goluckions~
A 8 <
Time 4 é 8
' _L v
poftt 4 7 FRemniy
" |
Y
3 3 13
Now? A B C
A 3 Y
3 3 5
3 13
vy 8. £ 5
@r 3 IL') LC.m = IQ\
3 . .13
Sx12 —g—xlf’_ J,H_xm.
1 8 a2 + 33
e
ISGo

AtB= soxyp = 2000 T
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Mother's Arithmetic » Parinership
271. A started a business by investing ¥ 450. After | 272. In a business A invested ¥ 600 more than B,

some months B also come in the business by
investing ¥ 300. After 1 year if the ratio of their
profits is 2 : 1 then find out the time after
which B joined the business?

AT 450 FI4 TR 15 AR TR 56 9 7dh IR B
W 300 T TMHTATIRH 7 770 A =76 3 270 | A o6
T o 9T 2 ¢ 1 9 B 0 i wr o d aEER

o 7

Monej yso 3600

(A9 B)6
(€} 3 (D} &
¢
solukien =
A B

2 ' 2.
profit

A

2 , L
L

4 )
ATS

Y4 —i12
—> 3

3 —> 9 Month

Bﬁﬂ%'ﬁ’aﬁ_ww
I GERER FA = 14-9
= 3 Month
%

but B invested eonly for 5 months and A invested
only for 4 months. If total profit is T 528 and A
gets T 48 more than B. Find out the amount
invested by A and B individually?

T SN A S B W 600 799 it 7, Tife B A vR
5 A % fora e et A % 4 79 % e o Al Fa
WA S528 TRV IMATB 43 TR afim s TR ar <
A AT B gR T01—1 7] 849 d hifed ?

(A) 1500 (B) 1600
(C) 1800 (D} None / 1§ =1gf
Soluhions-
A B
Time Y 5
528
-43
48e
AYe 240
)
288  AYo
pofit € - 5
A &)
Y S
C 5
3 ' |
>

) 92 JI'F‘F@"Q\)
\l( \1( |—rgoo

1800 [Aoo
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273. A puts ¥ 375 more in a business than B. A in-
vest for 8 months while B for 4 months. If the
share of A is ¥ 75 more than that of B out of
total profit of ¥ 125. find the capital invest by
A?

A, BET 375 At FEmwwm & 1A, 8 7% % fag s@fe
B, 4 e H feufRusm gk 125 S Fa e A,
B A T 75 aifers wra =t dr A =t it 5 #ifeg 2

(A)X 600 B) T 750
{C) T 800 (D) ¥ 900
Selukion =
A B
T 8 Y
A !

Tolad profit = 125-F5=50

a5 A5
F+5
Joo 1 AS

A B
T 20 |
P b -
Moo A
— 335 T

A Moy = S X 2
= Tso%

274. Two partners started a business by investing
T 24,750 and ¥ 16,500 respectively. They de-
cided that 20% of the profit would be divided
equally and rest of the profit in the ratio of their
investment. If one partner gets ¥ 400 more
than the other one then find out the total profit?
Y TREN 7 24750 TIF 941 16500 TIY TNFL IR
s e S8 T o T e =1 20% W7 Sroer-
AR File AR T A A B A T 9 % ST 3
wler ST | AfE T WEER 1 S 400 T ST W

T W T N T HHIY 2

(A) T 2,500 (B) ¥ 3,000
(C) T 2,000 (D} T 4,000
solakions
A B
ayFse  [6S00
ponfrh (8 ! R)4 > BXY=20

Todal_paofit B 209, qual
Ro =k

Totakp.  €qual  Remain

(5 1 y DXE
23 5 R®
New q B
2 @+ &
28 57
LER I By [0S
q— Yoo
| —>» loo

Teldprfit 28 —> 2500 T
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275. A and B start 2 business with ¥ 50,000 and T

20,000. If A is working partner and takes 20%
of the total profit as his salary and remaining
profit is divided acc. to their capital. If in this
process A received ¥ 38,000 more than B. Find
the amount of total profit.
A 3R B YE: T 50,000 iR T 20,000 w0 faeiva
TEFE ¥ 19 A FHEH SRS € & R T e
20% T 3 SR W e ¥ T 9 IS 3 o9 ® sten
W ¥ | A A, B ¥ T 38,000 TIGE WA ¢ A FeT eyt
914 Sy ?

(A) % 30,000 (B) T 35,000
(€) T 70,000 (D)< 48,000
so|udions
A B
5D 000 R0,000
off &5 ¢ 2 =%

£ A —>R0Y-

TP A Rext
s 1 %

eq_ltal pre 1

-
ST

276. A, B and C are three partners with a capital I

8,00,000, ¥ 12,000,000 and ¥15,00,000 and they
dicided to share their profit according to the
ratio of their capital but A is working partner
and takes 12.5% of total profit as salary. If A
receives ¥ 5,200 from the business. Find the
amount of total profit.
A, B T C ¥ wgart ®, s wwsn € 8,00,000, ¥
12,00,000 T2 T 15,00,000 Fem s & 741 58 oy
=1 g5lt F o7 A S | 9 BQ T A A SEER
EAH B & DR $E @ W 12.5% S 1aE A, T
5,200 =T Ll &, 9 HEl T W Hite ?

(A) T 15,000 (B) T 16,000
(C) Z 18,000 (D) % 12,000
Solectipn S
A B ¢
800,000 |R,60,000 588000
] A s
& 4251 A > L
Teldpww. A Remainiry

2 l +-
New g0 equall tetal proftt-

(5:2)x4= Re:d |
+12+I15 = 35
S 1:WYx3 =35:7+.28 ®
TP A Reat-
Now gxs IXS XSS
A @ B 4o 1 3S
26 8
+ A r B 1 C
;—!_— 8 8 1=
15 —> 38o0c =
l —_ ?\DOD lf '%3%30
Totad Pr0.3-3S —> o 000 P Yo —{Lood
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277. A and B invest their capital in the ratio 3 : 2. If
5% of the total profit is donated and the rest
profit is divided in the ratio of capital. A gets T
8,550 as his share of profit then what is the
amount of total profit.

ATA B, 3 : 2 % orpaa A Ooi FRm s v 1 e oo
BT 5% T % figan e SR 9 A O s H e ¥
AT Z 8,550 o @y W fFan @ ge1 < i S ?

{A) T 15,000 (B) ¥ 12,000
{C) ¥ 10,000 (D)T 18,000
Solukion >
A: B
3 2‘ New
3+A=D 5Y, = ?{'_
(8 3 Tedad T Rest
| 5@Re 1 19)
oo s 95

A
SH:38

ATY
5% —> 8550

[oo —> [SDO0

278. Two partners started business by investing ¥
1,25,000 and ¥ 85,000 respectively. They de-
cided that 60% of profit would be divided exually
between them and the remaining profit would
be divided according ta the ratio of their money
invested. If first partner gets ¥ 300 more than
the second, then find out the total profit?

A EER A 125000 T a9 85000 TIA TSR S4TIR
oy T SR v fipa =6 w1 9 60% WM AR
T ST T == g T ) o T ¥ ¥ T A |
SR A TF URRR S §ECY 300 T wfvs W gu

TS T T FH ?
(A) 1800 (B) 2000
(C) 1500 (D) None / &1§ 75T
50‘03('10’1’?'
A B
jas000  8Spoc
25 t3 = YR
66 = 6o ‘-‘-é—-_
CI-NEESY
TP AL Ret
w(s 3 %)
Ao A6 &Y
N\
63 63
(2s: 13)2
so 3Y
&3 £3
ng 391
-
(6 —>8ee
| —> 184K

Rle —> 249315
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279. A, B and C enter into a partnership, Their con-

tributions are ¥30 lakhs, ¥ 20 lakhs and T10
lakhs respectively. An and B are working part-
ner while C is a sleeping partner. A and B get

10% and 15% of gross profit respectively as sal-
ary fore managing the business. If at the year
end C receives ¥3.75 lakhs, as profit, find the
share of A.

A, B9 C s =R § fE8w 5@ ¥ | 55 few wem
30 7@, 20 TF, 10 T ¥ | A 91 B FRIW WHER T2
C Ya 9RIAE | A T4 B Tl S 0 HA: 10% 991 15%
Ty Eufremt i ae S A CWMTI.75 @

7t ot wagT A =7 Teean fagem 2
(4} 16lakhs (B) 12lakhs
(C) 18 1akhs (D) 20 lakhs
. €) -5
_Solutions
A &

[ k}{o &$3 I~ )
Nowl A 8 c

s(s ¢ 2 Y
ys : 3o ! IS —.?\-‘31_:0
+12. Hd
5+ 48 ST

15 —> 315
| ——> A5

280. A, B and C share profit in the ratioof 1/4: 1/6

: 7/12. If C retires, the share the profit f C in
the ratio of 4 : & respectively. The new profit
sharing ratio of A and B will be :

A, BAA CHAHMHI G 1/4:1/6:7/12% 19
C Jufga €1 s, W A C % el & w I e |
SHIE: 4 : 5 % 1M H Sied §, T A 99 B @i ST
ST A EN ?

{A) 55: 53 (B).53:55
{€)5:3 D)j3:5
spludion >
A' B ' ¢C
L S S _:_f—-_
Y ¢ {2
(4 erta)Lem=12
(8¢ 2 F)X3
AF: 18 63
Profif of-c = ¢3 un 4
divided in A’ B
Yy:5

A= 2%+ _633’.’“! = S5

B~ 18+ %ﬁ_.xs = 53

= A B

55 553

Apw. sF+——> lY-25 Lakh
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281. A and B started a business with a capital of ¥

32,000 and T 56,000 and decided to share their
profit according to their capital. But C join the
business on a condition that they will share
the profit equally & for that C give ¥2,20,000 to
A & B. Then find in what ratio A & B will dis-
tribute that amount.
A w1 B, ¥ 32,000 3R T 56,000 S Fe9 &
FAF A A W F I A G A wA Y
wfea alt C T v # fosma A wiva S ¥ T =
wUeR H siel =g 3K 39% fag ¢, A9 B $1¥ 2,20,000
T ¥, WA T B Sie v il 1 SR T e ?

(A) 10: 1 (B)1:10
(C)3:7 D4a:7
Seoludions>
A B =
32'0150 SQ,OOQ
P y +
L 5
3 3

bere A8 BT okl profit
n &S 1w 3pot
- Jdivide AT

Now

a 8

Y L
-3 F-3
A e
3 >
o

282. A and B are two partners start a business by
investing a capital ¥ 25,000 and 335,000 and
decided to share their profit according to their
capital but C joins the business on a condition
that they will distribute the profit quality (1: 1
: 1) and for that C gives ¥ 2,20,000 to A and B.
Find in which ratio A & B will distribute that
amount.

3 WEER A 9 B %A T 25,000 941 ¥ 35,000
it Trmet T e 3 A § R HAR 1 SeaT sl
¥ e ¥ 7 B ¥ Afe it ¢ vl ) e |
R emE R @ 1 1 1% s § s g &R
TR C, AT B ®T2,20,000 WM, AATB AwE

T TR <1 AT T BT ?
A)y1:3 B)92:5
C4:5 {$)6:5
Selutyons>
A B
Q5,000 85,000
P 5 +
Teted, Pa'b%’rt_igu_:q
A B ¢
p ou 4

cHI A, B FRY g I
¥ aa R e T
T ¢ gRT & AT
oy R A B
- o

A B <
s-4y F-4 T
4. 3
o Rakio =13
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Mother's Arithmetic » Parinership
283. A, B and C started a business by investing to- | 284. Bhim Singh, Narendra Singh and Monika start

tal capital ¥ 1, 14, 000. If their profit shares
after I year are ¥ 337.5, 7 1,125 and T 675 re-
spectively. Find out their shares in the invest-
ment?

T FRER A, B T4 C 7 7@ AR H 9 114000 T3
TR AR T & T ST o WA 337.50 ¥, 1125
TR T 675 TI2 B G T G0 T T ¢ S

(A) A: T 18,000; B : ¥ 36,000; C: T 60,000
(B)A:T60,000; B: ¥ 18,000; C: ¥ 356,000

business in capital ratio 3 : 5 : 7. After one
year, Monika invested ¥ 337600 more while
Bhim singh withdraws ¥ 45600 and investment
converted into 24 : 59 : 167, How many Rs.
Bhim singh invest in starting.

¥ g = Tiig s e 3 1 5 1 7 % oo o faw &
T SJaEE § TEATHa T € | T a9 & 915 I A T
337600 fam =t % | s=f i fig T 45600 faa
Jan g, i il 1 oFum 24 : 59 ; 167 HSA AWM |

(C) A : % 18,000; B : ¥ 60,000; C : T 36,000 i ey § e 793 e fiva w2
(D) None of these/ 375 & I =&l (A) 141600 {B) 135000
ﬁ’l uﬂc'ltb'ﬂ?’ (C) 96000 (D) 45600
SN 7~ Solukions~
C
A B B N ™
Poftt 3335 1125 615 s 5 T
IRS®  6FED
asts 11 - Yegoo 13X Il e

p 2 [o G

Becorhe T= CDTIS‘,'QH""

Now
Pl M
BX-YSsooo N ay
ATs, Sr £9
19 ——> ,14,029 R0 = [FF3 - 2696400
' coes SFH = Qe300
= Y
A —> 6o00X3 = 18,000 w.= H9200
8-> cooexlo = &oj00X ghtm singh mvest >
¢ —> Loso X6 = 36000 T - 3%
= 3XYFaeo0

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar

Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur ﬂ




Mother's Arithmetic » Parinership

285, A, B and C are partners A receives 2/7 of the
profit and B and C share the remaining profit
equally. A’s income is increases by ¥ 240 when
the profit rises from 10% to 15% find the capi-
tals invested by B and C each.

TFENMR T A, BAT C TR @ER T iFaamm w2/ 79
AT A I W11 921 B ST C 319 <0037 ) & T 0T 4 W0
R E IS a™ H 10% | 15% i gfa € = & Y A F
FM A T 240 i Iig SRl T 1 SEm-orEm B o C 3R

286. A started a business by investing some money
and B invested ¥ 5000 more than that of A. A
remained is business for 5 months and B re-
mained is business | month more than A. Out
of the total profit of ¥ 26000. B got T 6000 more
than A. Find the capitals invested by B.
AT TG AR IEFIT M BIA R
T 5000 fyes Fam fRT (A, 5 TEF T =R S eT

B 3Hd 1 eI s =R § @11 e e ¥ 26000

T frdw ofn I | o7 forad 9 B %7 A 9% 6000 31U o< gU | T ity
(A) 4800 (B) 6000 % B 3 faa It F@m =1 ?
(C) 5400 (D) 6400 {A} 20000 {B) 10000
1 (C) 15000 (D) No Determined
Soludins  [ed 4o P = Y wkions
A B < A 2
2 B = C Time s 6
':f_.
2 Now Tete=l P?S'D‘FH' = Qéovd
' -_:'_—X 9 - Looo
PHD'FI"- = 4— 5 D Apond
A 2
51’61\—?‘ 2”0 '0’000 '0'000
1. —> Y8 ¢o0o
joa%e—> YB8oO 16,000 }6,000
Yy —s\Y8eo poovfit 5 ¢ 8
Q 1
} —+ [?\O T Q_b Mnn?}} "B-c_\_*\ﬁ - —_%‘
Nouwd M 5= 8 .4
= é 3
o gaT ¢ FRT R Cor 4
- S a0 |
Go pinyested Cop el =
yxsooo
= RorpooXk
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287. A parinership is of T 40,000 half amount is in-
vested by A & rest of money is invesied by B &
C equally. They made D' manager and it was
agreed that he will be given 10% of profit and
before the distribution of profit, B & C will be

given 5% of profit seperately. Find part of D in
total profit of 12600.

T AR 3 IR # Fa Ysi T 40,000 ¥ Foad @ smht
A 7 TOTER 997 39 2Nt B 9 C 3 faaet S-SR
TR 137917 D Y SR 1 weue S AR wenfa gd e
& D Y el o il L0% FEar e aen @y =) =i &%
ST H \ie ¥ 95 B S C &Y SenT-3TenT e @ &
5% fear smen 1 F 12600 F F& a9 o D 1 Wi I@

288. A & B started business in partnership. A in-
vested total amount of 45000 on ¢condition that
profit will be divided equally and B will give 10%
annual interest to A on half amount but B will
get T 120 permonth from annual profit for work-
ing in business. If annual profit of B is Imlf the
profit of A then what is total profit ?

A S B 3 1@ ¥ 559R %5 T hen A 3 e deh
T 45000 T I T =R H Fdt T 1 s s
TR FE] T a1 B, A Y st it T 10% =t wififen
W =AM Afe B wi aiiia e H 4 T 120 i W
39 =R wheE H s By e afly s wma §
B F YPT A % 9 W ST 9, W o At oy 9

Eaibed =HifsT|
(A) T 3150 {B) T 5040 (A) T 9080 B)T 9180
(C)% 1260 (D) ¥ & = 7= (C) T 9280 (D) T 9380
Solutens- solukion=>
Total Cn[ﬁ;ﬁﬂl‘; 40,000 5
A
c NEj
A B Ysjeeo  Ysvee . o
Qo©o0 lose  [8000 2 les
: 2250 SITAD]
Notd  Tedad P'zro-ﬁ"‘ DT eao] 5
o # o o> profif 14 =gl
&, c %I 5%
Rove = = WS K ARSe
L Rest- Tetal profit = 1Q0XIA=1440
s i 4 AX
lYuo AN
B c D
A <o
+ _}F +-Jl—_ +—7la-\ ATARE® 2
x_- 8l6
= 5. .
= 3870
Mot artk= 12600 s L S
op < 'z Totalprofih = 1UUo + 2X3BFo
= 260 = gl8o%
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289. A and B started business with ¥ 10,000 and T
4000 respectively. It is conditioned that B will
get ¥ 100 per month for taking care of busi-
ness. Annual profit will be divided in the ratio
of investment after paying 5% annual interest
on the amount. What is the part of B in the
total profit of ¥ 4000 ?

A 3T B us =R ¥ %he: T 10,000 3K T 4000 F
YT TR AEERT S € | e 1 96 § R B #1 =R
Ft 3@ % faE 100 wfaaw e | it ar, it w
5% T o T Y IS F PIAHE FW F 96 I9F 5/
I T SN 3 sTae i stz fmrmem 1T 4000 FadE

w9 B = fEem @m i)
(A) ¥ 1500 (B) ¥ 1800
() T 1600 {D) T 2000
§o|u:hlm'}"
A B3
Jo 000 4,800
P 5 2 =7
N

o E,a?r-_>.|uox|2=(ﬂoo
I —> l'*-IMO?(_I\_E‘;.; Jod

Ktmc{prfmj profit >
= Yaoo~ (lgm:-l-%@

= 200 T
3T —> 2§00
, _% 3&0

A W [EFTT = 1570
G B (a;{ﬂ- = 300X+ |A00
= 800

290. A and B started business with different amount.
They decided that they will get 6% each year of
their respective amount and after that, T there
is any profit they would get equal share. At the
end of year A get T4630 & B get T 3730 and it
was found that A gets 650 more and B gets 650
less when profit is distributed in the ratio of
their amount what is the amount of each per-
son ?

A 3 B r@qM Uiy ¥ T | SR S § 1§ it
T & T et st IRt i T 6 Wil wiverd T ik
THF 9K 9% FIE 0 T & T TR S ¥ SR Wi
fermn s 1= =t wfE W A, T 4630 $1R B, T 3730
<1l € S 9g I T i A | ¥ 650 sttt €
T B &I T 650 9 et <™ @4 S T 51 0% 1
T & 31 A wer S | T oA w6t e w7
(A) ¥ 36,000,T21000 (B)T 38,000,% 19,000
(C)T42,000,T 21000 (D) T 40,000, T 18,000

o]utio
A B
Hé3o 2430
'l.F ‘In Tﬂflo Q‘P
their investment
A B
4630 3336
+4<0 — 680
S280 3§80

(A +

. Rake they Amoomt-
=120+
opfen (A) satisfied.
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SSC CGL MAINS 2017

291. A and B start a business by investing equal

amounts. Four months later, C joins them by
investing ¥ 3.5 lakhs. By withdrawing his in-
vestment in the business B leaves the busi-
ness 4 months afer C joined. At the end of the
year the business makes ¥ 62,400 profit out of
which A cotlects ¥ 24,000 as his share of profit.
How much should be paid to C (in Rs) as his
share of profit ?

A 3R B T AR H 40T FAY 0 TF 9 IE
F § IR HEH =] C T 3.5 v e 3% 35 i
TR ¥ | C BRI WA B ¥ 4 TR 9 e o 1§ st
T3 B I o B 39 Ao ) 9IS 861 € 1 9 ¥ i
H T 62,400 FIAM A Fa g, A RART
24,000 AN M 1T F TR TRFFHC (=

H) =1 fapa e R s =fee ?
(A) 16000 (B) 32000
2 (C) 22400 {D) 27800

& o Iui‘i‘m >

A 8 c

(lakhs) 2% 8L  8X3'5

onven As shaxe

[R%
RoA 98

X 6A4YdD = QYoop

=25
C. s ghare

- é 'llDO
= "——'_"E X 9\

= 23400

292, A and B invest in abusiness in the ratio 3 : 7.

The business makes a profit of T 60,000 in 1
year. They decide to distribuie the profit re-
maining after reinvesting 40% of the profit.
How much will A get {in Rs.)

AIB3: 7 F s & TaEE § v s ¥ 198
ST 1 e H T 60,000 T FHRE | IR0 1T
40% T fo | a9 1 & 9 o = faafie s =
Tof fam €1 A =1 fean wra € (& #/) 2

(A) 25200 (B) 15600

(C) 10800 (D} 20400

Soleckion >

Profit = o000
fo%e= 2 e mvestment
of profit-
p\ma.ln'm(j PTO’F‘—}_
- 6::,000)(% = 340008
profi of Az
36000X 3 _

lo

= IO,SOD T
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293. A and B started a partnership business invest-

ing in the ratio of 3 : 8. C joined them after 4

3
months with an amount equal to Zth of B.
What was their profit (in Rs) at the end of the
year if C got ¥ 24,000 as his share? )
ATNB A3 : 8 % oYW # TETUgRl S AR gy
. 3
o 14 wERI 1R C 3 B & g Few 1 i i i Rl

w1 F1E9 e IR © wFier Wiy i e o ofg o e

294. A and B invest in a business in the ratio 4 : 3.

After 10 months B leaves the business after
withdrawing his investment. In the first year
the business made a profit of ¥ 49,000. What is
B's share (in Rs) of this profit?

Aqe B A sl =mar € 4« 5 % 1w | e 10
TETR A1G B A 71 et o S SR | wriisrd s
Ao 1 vE 94 H S H T 49,000 1T E I TH @
H B o e (3 H) fRamoan ?

prof1C of C= AYe0o

Ly RYoo o
| —— gooo

IS —> 90,000 T

All the questions in Parinership
have been Fully
Solved and Explained on our

Partmership

You Tube | | Easy Maths with NEHRA Sir

w1y faremn (7. 5) amafs C = ¥ 24,000 e §2 {A) 25000 (B) 20000
{A) 120000 (B) 150000 (C) 18000 (D) 22000
(C) 90000 {D) 180000 .
ofudion 2 slukion
(ROIUAOF) >~
A 1B ¢ A B
&x3.
Mo 3 4 >
1o
T A 12 8 2
Ys So

ay : A8

profit of B = Y3oveX A5
Y3

http:/ fbit.ly/2yvaD5SM

ditzat s ® tam ar Wi wE o T
&8 T URL UInk 37 159 Fee A 5 e B |
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295. A starts a taxiservice by investing Rs 25 lakhs. After
3 months, B joins the business by investing Rs 40
lakhs then 4 months after B joined, C too joins them
by investing Rs 50 lakhs, One year after A started the
business they make Rs 2,73,000 in profit. Whatis C's
share of the profit (in Rs)?

A, 25 v Tl i e dondt wite Ty S R 13
TEH AT, B 40 WG T4 1 T e fasma | e S
% ot B & foerra A S8 % 4 FEH 1% 50 A $YEI 6
TR T C i S8 IS TR § 1 A & R iR 0 %

296, A, Band Cinvestin abusiness in theratio4:5:7.C
is a sleeping partner, so his share of profits will be
half of what it would have been if he were a working
partner. If they make Rs 36,000 profit of which 25% is
reinvested in the business, how much does B get (in
Rs)?
ABIRCATFH g d 4:5:7 F s § Fraw
oo | C Wit TR ¥ o suen Towr su fedram oen
B0 STTR T kT TR B 1 Ak S 36,000 ¥ A
Bm e frad 498 25% Fre A g fim [ EN BH

1 o =g 3= 2,73,000 T TN e & (A H C & Torrerm e 2 (T )
(vt §) feem g ? {(A) 7560 {B) 10800
(A) 100000 (B) 1,25,000 (C) 8640 (D) 9200
(C) 75000 (D) 1,50,000 l L.:h e
goludon = |
A 1 8 ¢ Clokeping
A 8 ¢ " Partner)
a5 Yo 5o | y 5 ! *
' y: 5 3.8
300 360 A50  Pwfit
Q6 86! A5 Total_profit = 36,000

Toted = 9
Tofedk Pwfit= 273,000

profit of ¢- A73000X35
gl

= Fgo0o X

Poofi b o be divided
= B4oo0 - Jooo

AFooe T

-
—

Bgeks- 5

———

I2:5
= ,C’r goo ?

¥

X A%000
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297. A and B started a partnership business invest-
ing some amount in the ratio of 3 : 6. C joined
then after 6 months with an amount equal to

2
§rd of B, What was their profit (in Rs) at the

end of the year if C got Rs 21,600 as his share?
AFMBH5: 6 % FIUC § 5 WA F A7 HC
HRGRT 1 fosrg 9 e | 6w o ¢, B g faw

R W%%%wrﬁrﬁﬁmmﬁaﬁvﬁsﬁ_WI

A CHITH TRFTIA21,600T. e M &
A9 H s o (% 8) fEam

(A) 46800 (B) 56160
(C) 70200 (D} 1,40,400
So| ukions
A 3
2 M
g 5. 6x§ |
12 1l X nme
co a2y Pofit
5: 6 2

poofit of €= 2l¢oo
TDMPTD'F'H‘ >

_ Rl&so
=—*3

= lL[ol{oo f

298, A and B invest in a business in the ratio 2 : 5.
If 50% of the total profit goes to charity and A's
share is Rs 3.6 lakhs, the total profit is Rs

lakhs.
ATAIB2 : 5% s & e foera § Frew fsan 1 1%
B A T 50% SRE W1 ST & SR A I 3.6 @@

% & drpa @ TR T

(A) 12.6 (B) 25.2

(C) 37.8 (D) 16.8
Soledion s

A 8
X b
Tetal profit = &
50"{,, 30&"'0 th-b
! "+ = X
nmmmn'r\]) PWP'\' -

profit of A = 3.¢ Lakh

R

—

X - oa.¢ Lakl
2% =3 ekl

X~ 45-2 Lakh
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299, A, B and C invest to start a restaurant. The
total investment was Rs 3 lakhs. B invested
Rs 50,000 more than A and C invested Rs

25,000 less than B. If the profit at the end of

the year was Rs 14,400 then what is C's share
of the profit (in Rg)?

A, B 3R C s {&RE g = ¥ o fw w@ € 1 oo
frasw I Fafam 3 a@s MBI A & g i
50,000 %. T it fram fran s C A B 925,000 %
1 1 T e | af e % ofa H eifda e 14,400 %
g, AsuaE C wiEmm s d (o d) ?

(A) 3600 (B) 4800
(C} 6000 (D) 7200
oludion >
Total inva ment = 3001000
A ! . C
Y Agpooo  UAASTO

S +7FE000 = 8,600,000

W = F5000
A ¢« B ! C
—;,_5005'_ [ASPAD !/ |80000
3 ! 5 4

Ttk profit = [4e0
Paofit of ¢ Lty e
- Y80 T

300. Two businessmen A and B invest in a busi-
ness in the ratio 5 : 3. They decided to rein-
vest 30% of the profit they earned back into
the business. The remaining profit they dis-
tributed amongst themselves, If A's share of
the profit was Rs 87,500 then how much profit
(in Rs) did the business make?

[ RE A IR B 35 : 8 F Far ¥ uE wrER
e ot | 36 waaraT T G 1 1Y S 30% SRR
1 AT A 1 e T | 9 o 6 It e 6
=T femim & fordn | 3R o o A 1 99 87,500 €T
ofT, A 39 HRER | T o (o #) gan?

{a) 227000 (B) 250000

{C) 375000 (D} 325000

Solukion >

AL B

58
profit-of A = &S00
Torked proftt = X

2 6% fmkm vqﬂ-men-‘-

wcmaln'mj profit = KX%

ﬂ'S PB’D‘F%% = KX:['_E_ X—S-:'
oo 13

8700 = XXFo yS5-
joo |93

Total profit =

W = BR:S000
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301. A starts a cement trading business by invest-
ing Rs 5 lakhs. After 2 months, B joins the busi-
ness by investing Rs 10 lakhs and then 4
months after B joined C too joins them by in-
vesting Rs 20 lakhs. 1 year after A started the
business they make Rs 3,50,000 in profit. What
is B's share of the profit (in Rs)?

A 5 TFE T &1 e I WINE SHR 1 SHaer WY
HT ¥ 1 2 TEH 98 10 TRE T % FEw W B o
Y IS T E TN B F IR T F 4 W AR C
+f 20 o T4 P POV TR AR A IS IW A
R WS FH F 1 Y 9Em 5 = ¥ 3,50,000
Tl e B ¥ 1AW B i feem fee (v A) £ 7

{A} 75000 (B) 1,25,000
(C) 1,50,000 {D) 1,00,000
golwhoﬂ >
A B c
5xi2 loxio 20%6
3 ' 5 €

Totad profit = 3:50,000T
-1y umd

F'D‘D«F‘['}' o-F B= Suh‘ﬂ—

= -§-—- X?.)fSOIDDb
by
= ;A5 ,000 T

302. A, B and C invest in a business in the ratio 3 :
6 : 5. Aand C are working partners. Only Bisa
sleeping partner hence his share will be 3/
4th of what it would have been if he were a
working partner. If they make T 50,000 profit,
half of which is reinvested in the business and
the other half is distributed between the part-
ners, then how much does C get (in Rs)?

A, BuaCfrdt omarR = 3 : 6 : 5 % /W § e
1 AT C S TR (IR 9rieR) § | e B Wi
TR § e Sue frwm 9w R W 3/4 W S IEE
I TR B T g L AfE 3% T 50,000 F A T E
et @ e el 1 I =R Frdw o fyar sien € &fR
W] F Y EE B R g Wi fAam S @ C W

fmm (ot ) form?
(&) 20000 (B) 6000
(C) 10000 (D) 9000

Solikton >

A B C
3 ¢4x3 5

F
¢ : 9 e

Totald. P'(m-fil'\‘ = S0,000
50% RC:IYW%'P'&J
&6 Pu‘o’ﬁ‘\‘ of ¢

. 1o _x k5000
T

= Jo000 T

Sfudy Center : Delhi (NCR) = Mukharjee Nagar = Alwar
Jaipur « Gopalpura « Lalkethi » Jhotwara ¢ Mansarovar « Ambabari « Jodhpur « Bikaner « Udaipur

129




Mother's Arithmetic « Age

[

Age |

303. The ratio between the present ages of P and Q
is 3 : 4 respectively. Four years hence Q will be
five years older than P. What is P's present age?
P SR Q =T =AM g W Wi WO AI9E 3 4 %)
TRIAGAR Q, P & ui= o =g S | P =l kA g FRerit & 2

{A)} 15 years (B) 20 years (C) 25 years
(D) Can’t be determined ’
Solukion >
P &

_cr&l'l?l— 3 : Y
~—

APt 4 Yeart Lakert =

=

a-F = 5 Yeas
& diff- il be wemenn

same in thewr age

4 —> 5 Jeat

R p present age - IS yeu
@

Yx+y —-@xw) =5
W= S

304. The age ratio of laxmi and her motheris 3 : 11
and the age difference is 24 year. The age ra-
tio of both after 3 year.

e T g SIRITTH A R NG ATIT3 : 11 T
STRT ST R TR 24 ¥ | 3 o IZU Seh! 3T 1 ST

AR R
So fuktons
Laxm1 : Mothet
T
Nom_ off = Y
% —> X4
| — 3
Lax Mt M ath &x
3xas X3
Proet 9 33
Ayesth 343 3343
| @ 36
| LB

IR —> & Yyel
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305. The sum of ages of father and son is 60 years,
If & years ago father’s age was 5 times of his
sont's age. The age of son after 6 yvears is?

fre iR @ =t s T AT 60 T ¥ 19K 6 9u 7@
T =61 T [ HT 21 i O T e, 6 7 9 @@t

3T =1 Bt ?

(A) 20 yr/ = (B) 14 yr/ a4

(C} 12 yr/ ¢ (D) 18 yr/ ¢
Soludion =

Fadher +semn = o yearc

= ¢ year before

E 5
5 1.

1
[}
¥

ayvy

= § Yeast before

Pakher+zen = 60— 6-6
= U8

F': &
5 1
¢ —>-U8
| —8
F~ 3
SXB X8
o 8 Gves
+¢ +4
qo W et
+& +6&

TSayewr A0 Yewdt 6 Yewth

306. Five years ago, the total of the ages of father
and son was 60 years. Age of son is 25% age of
his father. Then the present age of the father
is .

e =9 g T iR T ST w1 M 60 95 ¥ 1 o
T s1g 1 25% vfaea ¥ ((Toar 1 adum sng e ¥ ?

(A) 48 yr/ EL] (B} 51 yr;"?ﬂf
(C) 56 yr/ ad (D) 61 yr/ ad
Qo'u:ﬁﬁn'?"
S _ agey, = -
S - a5%= g
F 5
i =5

4
Pmew\“ age = 6ot St
= Fo Year

B —o
(| —= Y

S
Ixty

4

F‘
pres. 4-XI4

56
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307. The sum of ages of father and son is 56 years.
After 4 years father’s age will become thrice of
his son’s age. Their ages are?

i Toet WH S9H IR H1 A G 56 94 ¥ 1 4 96 95,
o 1 31 T6E I3 i ARG HT 3 THE S A | STh] A
FH: §-

(A) 44 yr/=€ qen 12 yr/ a6

(B) 16 yr/adam 44 yr/ 59

(C) 16 yr/ a8 oem 42 yr/ a9

(D) 18 yr/ a5 a4 36 yr/ 99

plukions

U pathert.gen
4 Year L
No w

Fathert

ST
4 e

&

p—

| —> 16

Fakher

3X16
ys
18-y
4y Year

W ophion A
56— U4+ 1R

Sen
116

e
16-Y

| A Yeat

Yyrsp

present-

308. The age ratio of Vicky and Sumi is 2 :3. After
12 years, this ratio become 11:15. The present
age of sumi is?

forembT Ten Wt T ST H1 3UE 2 1 3 %) 12 99 =g gl
T AR T ATAE 11 : 15 TR T | g Saqe A w7
{A) 56 yr/ =4 (B) 32 yr/ =&
(C) 42 yr/ a4 (D) 48 yr/ =

Solutions>

A%

e ———

a X

-

\
=

AT T

Ax+14

N ALTIA
33X+ 12

= =

ATR

AMHIA 1t
St =3

30% 4180 = 33X+ 132

3 = U8
»x = 16
Vv AX _ AXI6 32
5 3K 3¢ 48
i v 3
P A 3 =8 1=
: o)
ryrt s = 1t 15
4
3—»12
| —>4

A —> 12XY =46 JeaxX
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309, 10 years ago, the age ratio of A and B was 3: 5.
The present age ratio is 2 : 3. The present age
of A and B is.

10 78 F A 7o B 3 3% 7 19K 3 ; 5 ¥ 1 SR waEe
S T STUK 2 - 3 ¥ 1 AT B %l adar 3y ¥-

(A) 30, 50 (B} 20, 30
(C) 40, 60 (D) 16, 24
Ss|ukions-
A @ B
|o yeast ¥, 3 ?_' 5
present A + 3
1
Now A ! B
-
oy eamy % . J/ Ny
praet 4 ¢
14 —= O

so present age of
A —= Ux{o=4o Yyt

p —> éxie = o Yearc

) 3xtlo | 2
sx+10 =

Int+30 10K +20

x= 1
axtio _ 3Xlotle | Yo
=xtlo  skletio  €°

310. My age is thrice of my son’s age. After 5 years

my age will become 2% times of my son’s age.
My age is?

B o1 T T oy B T & 1w o o B e WY
T Tt A A B T S S, Ry g ?

(A) 36 yr/ a% (B) 39 yr/ =¥
(C) 42 yr/ o (D) 45 yr/ ad
So|ukions
Fadhex Son
3 1
2 .
syearcf™ § 2
]

So Make differcce same

fakhe Son

3
J 15
lo Y

o Pw%‘ih“‘ O-ﬁe— 0‘p
Father =

—

9x 5
Ys Jeak.
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311. 10 years ago Mahesh’s mother’s age was 4
times of Mahesh's age. After 10 years mother's
age will be twice of mahesh’s age. The present
age of Mahesh is?

10 =1 & FR2 Rl A H S ST oG | <R o110
T 7S HIAT T 3 A T 3G QT B | AR A

T ?
{A) 25 yr/ a4 (B) 15 yr/ od
(C) 20 yr/ ad {D) 30 yr/ =&
Solutions-
M Maheth
loyextago 4 1
3
o Yeart Mtoe R R
i

Make diff . same
M mahesh

312. 10 years ago, father’s age was thrice of his
son’s age. After 10 years father’s age will be-
come twice of his son’s age. The present age
ratio of both are,

Tom =t oy 10 =9 9 79 R i ang w1 R off 199
10 o8 9% o = 8Tg A9 H F g H I o0 |

ST SAA S T ST § -

(A)8:5 B)7:3

(C)5:2 D)9:5
Seutton >

Pathex. SN

9 |

2 ) A05eu
|

difp
loyear N A .

o yeart;

Make d1f4 same

Fadhext  gon
|
oy Y 1
v 2, 2> Y 3 )1_-»—;{0
6 3
oy Y X
oy ™
R—> Ro ¥ ‘L
| —> [0 '
oy eartAftot Bo Yo
S° mahesh oge = 30 I ~lo
present-
present oge = 3o - |6 Fo 3o
= 20 jeooT + 03
f:?pir -C gg{!ilrp:u?oe[hl.ia(ltlo?hlzi)- .Jh’\:)‘ﬁ:rgri'el\ioﬂsaa?c?vro: OA;!\v:’l?)robori + Jodhpur * Bikaner * Udaipur ﬂ@@l




Mother's Arithmetic « Age

313. Present ages of Rama is 80% Aryan Present
age Five years hence Aryan ages become 120%
of Rama. What is Rama’s present age ?

TH] i FAM 311 ST it 311 1 80 Wawm # 1 5 99 a)
AT H A TN F A/ 120 WawR & SR T W R
A 3G TR ?

(A) 25 years / =
{C} 20 years / =d

(B) 22 years / 94
(D) 30 years / =

§a|bi3°ﬂ:-> PB’%CVH_ CB{’_.
o, = M
gogne

5 yewt H1&

¢
A__ - 1a0%h =

et

Roma R¥yan
Prserrt Y

5

Sl)i—a-'s

PRI 4

Rama, prajev ag e
Ux 5

-

Ao Year

All the questions in Partnership
have been Fully

Solved and Explained on our P ©:| [r’ﬁl

You Tube | | Easy Maths wit

314. The ages of Aryan is 75% of ages of Neeru. Four
years earlier the age of Aryan was 713/.5% age
of Neeru. Find the present ages of Aryan and
Neeru.

AR =t SR O RS T 317 1 75 VR § 19 o g
A T 3G e R A H 7 1%/ ,% ot | SR T s
T ST 8 2

(A} 24 yvears, 32 years (B) 26 years, 34 years
(C) 22 years, 30 years (D) 27 years, 38 years

I§alu-{"|°n‘>‘

nership

h NEHRA Sir

http:/ [bit.ly/2yvaD5SM

i S & R aR FE W R
) TH uRL Link F1 TTET wE A d@ T

Sfudy Center : Delhi (NCR) = Mukharjee Nagar »
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Mother's Arithmetic « Age

315. A father’'s age is 4 times of his son’s age. 5
years ago, father’s age is 7 times that of son’s
age. Now the present age of father is?

T T =1 2, T TG B4 Y 5 o vew R
M G i g R 7 T o | T 6 ocdanT o R €2
(A) 40 yr/ ad {B) 30 yr/ ad
(C) 45 yr/ = (D) 35 yr/ a8

soludion >

Fadhest  SoY)

et 4 1
3

3~ I
—
Meude diff. Same

Pakhet SeN

5y oJ°

P Y 6
)3—?5
Sjeqe ) 3 l-—a-g

praent age of fether >

s AHX 5
%

= Yo Yeart

316. Mohan's age is half of his father's age. 15 years
ago Mohan's age was 1/3 of his father’s age.
The age of mohan after 5 years will be?
HigT 37 fir oAt ameft g 1 E | O o v Aign A1q

T =} oy =t O e ang @ 1 uiE 9 W diew

fea s w g ?
(A} 45 yr/ o8 (B)40 yr/ =
(C) 35 yr/ o (D) 30 yr/ o

Soludions~

Fedhet  Mohay

Pragent- A 1
i

Isyemtage 3 1
2

MakKe diIf£. Same.

Fedher.  Mohan
Pyes. Y a
Qi— 1S
2 [

SSOR)

FT%CVTI' agc O’F Mbl’nan =
ISX2= 30 T

5 Year HIG = 2ot s
= 35 Jt
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Mother's Arithmetic « Age

317. Ritu's present age is 4 times of his brother Raj's
age. After 4 years, her age will become twice of
Raj’s age. The present age of both are?
g 1 21 30 WY 394 W T A A W IR AR 1 4
T F IGeR! 91T T Y 3G T QT & S | ST THA

I FNE ?
(&) 4, 2 yr/ = (B) 8,2 yr/ =
(C) 2, 6 yr/ Td (D) 4, 12 yr/ a8

S olgﬂ N >
Rria  bwothex
resemt 1
P 4\3_,

fyeant ™ 2 1

1
Make diff. same
Ribw. baother
Prsenrt 4|
) A

) 3y
Lye4s &

so Radro of prasant oge
IX2.

A

XA
8 !

318. 6 years ago, mother’s age was 18 years more
than the son’s age then, If the sum of their
present ages is 30, what was the age of the
mother 6 years back?

6 Y 95 T Y ST S6h T Tt T St 311 | 18 A HiEew
oft | 3T AT 1 S ST AR 30 T &t ¢ ol i

Y a0 fopertt off 2
{A) 32 years (B} 36 years
(C) 30 years (D) 18 years
Solukion s
syeost ago diff.
M-5 = |8 i U
Pmm‘" 03&5‘{"1 =

M+S = 36 -3

e O ¢ ©

M+s = 3o
M-s = &
aM = 48

M= 2y

6yeatt. 096 ~ AY-¢

= |&Yewt
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Mother's Arithmetic « Age

319. Two years ago, A was four times as old as B. 8
years hence, A’s age will exceed B’s age by 12
years. The ratio of the present ages of A and B
is
z‘rmgﬁaﬁmmﬁmmaﬁw T | 1S €I 405
A% 50 B %1 30 ¥ 12 Wi fien g1 st A iR B ¥
A S T ST T E ?
(A)1:3 B)3:1

Seludions

(C)3:5 (D)2:3

A B
1
L'\..._./

diff -3

Ayeaxogo

ATt §Yeol
A-B = 1R
8 same TFI g
present 3 o

SO g 519,

| —> Y

A B

o 16 Y
AT +2. +2,
pryent 16 6
Rakio = 3 1

320. The sum of the ages of two children, is 33'/,%
age of his father age. But 20 years hemnre his
age will be equal to the sum of their ages. Then
the father’s age is

Eﬁraﬁrﬁmmwﬁmaﬁaﬁnﬁmﬁma@/ %
wﬁm%momaﬁmsﬁr%ﬁﬂ%miﬁm?ﬁ

R SR ?

(A) 30 years (B} 40 years

(C) 35 vears (D) 45 years

ol whio o =
Solutiony %
Twe Sang  fadher
3
Ty lﬂa , 120

Y

Yo ~ 3%+a0

AR = A0

A= |0
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Mother's Arithmetic « Age

321. The sum of ages of 4 brothers is 56 years. If
successive difference of their ages is 4 year
respectively, The age of elder one is?

R R B g H g 56 9 ¥ ) IR A T HAR
FHT: TR B 4 78 T 1 o0 IR R g e ¥ 7
(8) 16 yr/ =d (B} 32 yr/ 7

(C) 24 yr/ o (D) 20 yr/ o

g'oluflbﬂ?)'

T L Y Y =
37 No El%‘aje-—-a-l-l
R‘ﬂd No ‘a%- age=Q-§
Gaa 8 B age =a- 12

N ATq

ata-4+0a-8 +ta-% = 5%

Ha -QA4= S5
qq-; 8o
Q.= o

322. The age of Ram’s son is 1/3 of his wife. The
age of Ram’s wife is 4/5 of Ram’s age and Ram’s
age is 3/5 of his father’s age, find the age of
Ram’s son if Ram’s father is 50 year old.

TF TR TR TR SgH 1/3 81 Fred =
FAYTH TYH 4/5 T 3T = o o Fom it srg
3/5%, WA FH W o1 TR HAAG, 2% 7 3 e ) 2y

50 T &-
(A) 8 yr/ = (B) 10 yr/ =d
(C) 12 yr/ = (D)6 yr/ =d
Soukions
Ram's son 7 8
: - Y

Ram's wife 3 —>2*
Ram's wife _y—>

Ram S —>30

Ram 9 —3°

Rﬂﬂ's Fqkho( N —go

Ram = 3 —> 30

Rams Son 0ge >

8 yeast.
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Mother's Arithmetic « Age

323. A father’s age is twice of his elder son’s age.
After 10 year father’s age will become thrice of
his younger’s age. If age difference of both sons
is 15 year. The age of father is?

T T 1 o7 w2 93 | S ¥ 1< o = fua w6 ey
Bl g B TopA € s g SR T H 15 76 36 SRR,

0 fam =1 ang TRy
(A) 30 yr/ = (B) 60 yr/ a4
() 50 yr/ =6 (D) 55 yr/ a5d
Solukion >
Fadhert  Bigsen
2L x
lo Y7 8T L—Ho \L‘HQ
AxHo  wHle
Fakheot —Smallsen
2% +0
At o =
Notd
ATS
O - 9-&’1"0 - | &~
Y = l
3xtlo- 2x-lo = HS
.= AD

father. o€ = AN

- QX5
= €O Yeart

324. The average age of 8 children of a family is 12
year. If age of 7 children are 12, 8, 14, 11, 9, 13
and 15 years respeatively. The age of 8" child is?
THIERF g T=  simamg 12 2 1afg oA | 7
ool Y HA: 12, 8, 14, 11,9, 139w 15a8E A

TS o= Tt ST TR 2

(A) 12 yr/ =8 {B) 14 yr; 98

(C) 13 yr/ o (D) 15 yr/ a%
Soludton >

8 BT avexage -IRUgl
then Jatald = 8X12 =96

No
, 12

Fson's oge = g
4
I
3
13
s
B2

So

age of 8™ chid= I¢

-89

1Y Yearx.
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Mother's Arithmetic « Age

325. Mother's age is thrice of his son’s age. 5 years
ago son was 1/6 of his father’s age. If his fa-
ther is 5 years order than his mother. The age
of son is?

ST T PR S I 5 o el g o
o =hi 5 %1 1/ 63t o | af <o frn, W o s A 5 o w

326. A father said to his son, at the time af your
birth, my age was 5 years more than your
present age. If now father’s age is 39 years,
then the age of son 5 year ago was?

T o ¥ A T ¥, g o ¥ eea, 3 o g
FAHM 39 & v o S off 1af o F w 3o @)
A ! 90 TS o e e ot ?

{A) 17 yr/ od (B) 12 yr/ 98

(C) 15yr/ =8 (D) None of these

Soludion =

B REE R b
(A) 15 yr/ @ (B) 12 yr/ =d
(C) 10 yr/ =d (D) 18 yr/ =¥
Seludions>
Mothet  seny  Fadh.
ax x
3 Yr age J( \L
sx-5 %5 &g
Now

6x - 3o - @x-s) =5
EX-30-3%4+5 = S
X =30

M= 't)

Qonls 0ge = |o Year

All the questions in Age
have been Fully
Solved and Explained on our

AGIE
@D@B Easy Maths with NEHRA Sir

Fadhese
x5

a4\

er

Se
.0

X

pregent

g

GRS W5 0
qag-
Netd 2xt+5= 39
= 13-

snnﬁs age = [F -5 = |AYearn

AHB2T derd d [3y OR s i el ul
&l T WAL Link W ZTE0 wR W 3 T U
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Mother's Arithmetic « Age

327. A say to B, I am twice as old as you when I was
as old as you were. The sum of their ages is 63
year 3 find the difference of their ages.

A B ¥ Fe 8 7R 99 g ¥ A ESIE, 56 51 oy
TR 3 e ot | afk ST 3] =1 4 63 o §, A

T g B ofR W HK
(A} 27 yr (B)25yr (C)9yr (D)6yr
| §a|ui']tm‘?"
A 8
I /XY
SN X
H RY
R!L__H - \9—%
2% = ?\j
A =2
g 3
| A &
P Y 3
~—
F—>63
| —= 3 Yeat

328, Aryan got married 27 years ago. Today her age
is 2!/, times her age at the time of marriage.
At present her daughter’s age is 33!/,% of her
age. What was her daughter’s age two years ago?

AR 7 27 76 T WA L off | B % W S SwRT Y
oft 71 3T SHAH MG 21/ TN & 1 T 9HT TR P A
HY ST ST 61 33"/ ,% =Y To I AT SR )

ot ?
(A) 16 yr (B) 17 yr (C) 1S yr
(D) Can'’t be determined
Selukion =
k= LD 92t
I —3
I+ —S |
Nowd
¥ P ang - sixl
= 1%
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Mother's Arithmetic « Age

329. If C’s age is twice the average age of A, B and
C. A's age is one half the average of A, B and C.
If Bis 5 years old, the average age of A, Band C
is .
FRCHI[A, BARCF g Mg HR AT IA S
319, A, B 3 C ¥ sl ST &1 37l ¥ | 30 B 1 awide
A5, WA, BaiRC s fmaagang?

(A) 10yr (B) 15 yr
(©) 12yr (D} 9 yr
Soludivn >
c A A+BIC
P K AAXS
ye X ex

fom hete
pb—> X —5

Now

A48t B ST

A1 X
= XD
= IO \\Jf_cu'(-

]

330. A mother said to her son, “15 years irou: now,
you will be as old as I was when you were 5
years old”. Which one of the following can be
the age of the son and mother respectively ?
T AT T o2 R T, oM A 15 WE §R, 7 S o 98
2 e e gw A g s v & &) Frefafea |
§ B Hrn: I ST T T o7 o waedl & 2

(A) 12yr, 30 yr (B} 8 yr, 25 yr
(C) 10 yr, 30 ¥r (D) 10 yr, 32 yr
[ ]
Qc, u&lbﬂ:}-

Age of Mothex =2

pge of son = Y

Nowd
AT

(x~845) =Y+ 1S)
r= 2y +lo
accovdin 9 to spfrom ¢

Y = |0 yewt
'}(LBOJQ‘U(
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Mother's Arithmetic « Age

331. Ratio in ages of three friends Veer, Sandeep

and Satish is 1/3 : 1/2 : 1/4. Average age of
Veer and his wife is 33 years and average age
of Sandeep & his wife is 39 years. Age of
Batish's wife is 3/8 of sum of Veer’s wife and
Sandeep’s wife. Ratio of Veer’s age and age of
Satish’s wife is 4 : 3 then find out the age of
three friends.

A i =i, dy iR wm S T S s 1/3 1 172
: 174 %190 3R STl ool @t sitaa oy 33 99 § wets
T i 3T e = sitwa og 30 99 § 1w 6wt
= 317, o T T SR T I I I3/
8 ¥ R =R =1 g 1 weltwn <t 9 T A | I 4
3%, 9 A1 vt =t ang w1 4 3| S

(A) 104 years (B) 112 years
(C) 117 years (D) 91 years
b1 ]
solution=-

Veey ! sandeep ! sotish
.
- S -
=4y : 6 93
lek
Hhely wifey are ane
> € INg 'a-&sped-‘l\ldj

ATA
yxtd | = B3XRL =66

Gx+ 2 = 39X =38
W3 = Qawu:m)x%-

yr M =X =L

selving we gek
L’“)E'):‘ Q4, W =34, Wa=3°
and %x=28
sum of agel = 8X13 = oY

332. Amar was as old as Anthony is now, when Akbar

was as old as Anthony was 3 years ago. If the
sum of their present ages is 37 years and the
ratic of present ages if Akbar and Anthony is 6
: 5, How much percent more is the sum of ages
of Amar and Akbar more than the sum of
present ages of Amar and Anthony?

IR T 7 Wit i g ¥ waeR (e o g SR
Y Uit i oY o aU= oY | Faae a1t gl =
20T 37 7Y & ST SR ST Ui Y STy T TR 6 : 5
¥ 1 wine 7 SR oI steR = smgett @ A e ofit
T = ATt ¥ v @ e wiavm i &2

(A) 84 {B) 10

{C) 12% D) 147

| Solutionz

—————

A- Age
Armart Ankba)‘(. ﬂ AT\'HQE
s ¢ S

Rpmar T Apkbar = I

Apmar + Aamts, = 10

0/, Mo¥C = ,[o Xloo

- '00/°
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